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LINE/MOBILE PHONE/ELECTRIC FIELD 

 

The thesis proposes the mathematical modeling and simulation of electric 

field resulting from operation of single-phase, balanced and unbalanced three-phase 

overhead power transmission lines. The main objective is to study effect of electric 

field distribution on human located nearby the power transmission line, especially 

while using a communication device. It also includes recommendation to prevent 

people from harm that may happen due to excessive electric field strength acting 

across human body. This work is based on two widely-used numerical methods of 

solving partial differential equations, namely, finite different method (FDM) and finite 

element method (FEM). The study can be divided into two main categories according 

to its domain dimension. The first category is the two dimensional (2D) problem in 

which satisfactory results obtained by using the FDM and the FEM can be compared 

with those obtained by the PDETOOL, a partial differential equation TOOLBOX of 

MATLABTM. The simulation results show that the most harmful cases are the 

balanced and unbalanced three-phase power systems due to their electric field strength 

over 5 kV/m, according to the IRPA standard. It strongly recommends that use of any 

communication device underneath an overhead high-voltage power transmission line 



 

� 

should be avoidable. The second category involves the three-dimensional (3D) 

problem. Commercial finite element software, COMSOLTM Multiphysics Version 3.4, 

is employed to perform 3D electric field simulation. With its approximate solution and 

graphical presentation features, simulation and analysis of 3D electric field 

distribution are simplified and user-friendly. 
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y
v          =   "��$��%&	

����������� y 
W           =   
8#�&@���F������  
x           =   "������	

��� !%�#	������"�� � �������#)�+���# < 

x∆          =   ��%����#������#)�+��������� x 
y∆          =   ��%����#������#)�+��������� y 
ρ           =   "����������6��:4�@�#6������������:�%���6��:4	

�� 
σ           =   �>�;�����#	

��  

2∇         =   
�6
��E %� 
ϕ          =   "��$��%&	

�� � �������#?+ < 
φ           =   
8#�&@��?+ < � !���#�������"�� 

e
∆           =   ;CF�� !*�#���
���
�����& 

0ε           =   �>�;%��*�#����$���#  

1ε          =   �>�;%��*�#������� ! 1 

2ε          =   �>�;%��*�#������� ! 2 
 
 



 n 

�������������������� ������ (���) 

 
rε           =   �>�;%����#	

�����;��7& 
µ          =   �>�;E��Eo�	+���#�����
�� 

rµ           =   �>�;E��Eo�	+���#�����
�����;��7&   
ω          =   ����������@�#�4� 
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1.1  ��	
����
	�����	
��	����������	    

�������	�
��

�������
���
����	�
��

�������
 2 ��� ��� �
����	�
��

�������
������ 
������������
����	�
��

�������
��������������� �
����	�
��

�������
��������������
����

�
�� ����!�"�#�
����������"
�����
� $ %�������� &'(��
����&��#��)��&��#�����"�*������
�+
���#"�#�����
���� ��+��
����	�
��

�������
���������������	�,�
�%� ��'��&-�#��."��
��.�����.����
�&'(�����
�������������#

 &-�#��

�'�� ).�"�#+�'�
�� 
�&���� ���&��#��	
�
�
����	�
��

�������
�����������+��%/����	����
��0.��*��
��������
��������� ��0&+!�%���
�1��� .����*��0#�"�#� ���

�2��2� ��� ,����"�"�#&�0.32*�	
��
�&%��#�+�

3����
�����
 42#��
	
����% &�0.�����
����'���
��"�#�
5�����%����1�����*� $ �.  

�

%��������
��������
���������������  ��
�����
&�0.32*�	
����.������
�� 
��+�

�
����"

�% &�0.'��	1����
�+����'��	1����
�� ���	
�����"�#+��0&+!�
��������
������
�
����6!��
�&'��#���'��3�����.������
��������� 50 Hz �
�"�#��16�;���%����1���"�#��
�
��������
������-
.,�
��. ��������
�	
��
�������� �
�����������
�
�������. &'(� 3 ��!� 
��� ��!���
�����
	
���������
 1 &�� ��!���
�����
 3 &�������.1� �����!���
�����
 
3 &����.1� 42#���
��
�����
"�#��,����"������16�;�
�
��&�0.32*��. 	
���
��
�����
"�#����

���32*�&��#��	
��+
���
�5���;����
"�#&�0.32*���%+�
�-�*�.0�����
���� �

�%���3����16�;"�#������� 
�
���� &��#�&"������-�*�.0�42#��
�
��"

�% &�0.�+
������.1�3���
�����.  ����+
������.1�
3�����.��=
����
���������&� � ����% &�0.�����
�	
��
����������"�#��,������16�;�. ��"�#�1.  
���	
���*�
��� �1'��!;��#��
� &��� )"�5�-";��������� ��0&+!�
�����������
	"

�% ,� �� 
)"�5�-";�������. ��������
�&������  &��#��	
�%����
�"

�
�3��)"�5�-";������ ��� �
�     
&'��#���'���
�
5��0&+!��� $ )"�5�-";������	
�"�#���=
-&'(�>�+� (dielectric)  �% ���=
-
��
�&'(���+�

  &-�#��% �
�
�����3 �����
��0.�����#��
�	
�.
+&"���%�����
�������//
!�.   
).��
5��%����
��
�&%��#�+�

��
�����
  � 
�
�&%��#�+�

3����
�����
&�0.32*���0&+!���  $ 
�
��������
�������
	"

�% &�0.�
�&%��#�+�

3����
�����
���&�� ��%+�
�)"�5�-";��������� 
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�
��������
������ &-�
�'��0�� +�
!
��0&+!��� $ &�
����
���������
������+3����
�����

"�#&�0.	
��+
�&����.��
�����
 (electric field stress) %����
	&����+�
�+
���"�3��>�+����
���.������
 (dielectric strength) ���,��% '��	1����
���	
���+����"�#+��0&+!�
��������
������ 
� 
�
�&%��#�+�

3����
�����
��%+�
�)"�5�-";����������
�����
����������
���&�0��+�
��

�+
�&����.��
�����
+0�M�3���
�
5).���� ����% &�0.���������
&%��#�+�

"�#�
�
���%�
,�
��
�
5"

�% �
�
5&'��#����
��	
��
�&'(�>�+�����
�
&'(���+�

�. ����+�&+�
��*� $ "


�����
����)"�5�-";������������,��% &�0.�����
��2���+0����,� �� �
��. ��"�#�1. ���
����N�
� ! 
'O		1����

%���'��&"5�"� 'O/%
&��#�������
�	
��
����������"�#��,������16�; ���&��#���
	
�
�
����	
���+3����
�����
��� $ �
���� 3
.�
���&��&��#��	
�&%�1�
�!;��*����. &�0.32*�����
��� ���"1����*�"�#&�0.	��

�
42#��
���/&����2������+0�3��,� '�����1���0&%�1 

'O/%
��
�����
��"
�+05+���� ).�'��0�
�
���P0�
��. ����'3�����
���1-��P;  
(differential equation) %������
�'�0-��P; (integral equation) �
		������6!��+
����&'(�&�0�&� � 
(non-linear) '�
�V���� 	2�&'(��'�. �
�"�#	�%
,�&>��������� (exact solution) �.  .����*� 	

&'(� 
� ���� +0P��
�%
,�&>��).�'���
! (approximate solution) ���"�*��������3�����-0+&���;"�#
���32*�"

�% �
��

�+!&�0���+&�3�
�
��"

�. ���
��+.&�N+ �

%���+0P��
�%
,�&>��).�'���
! 
�. ��� ��&����+0P�����";.0�&���;&��"; (finite difference method : FDM) �����&����+0P�����";   
�0�0&��"; (finite element method : FEM) �
�%
,�&>��.�����
+�. ����+
��0�����
��-��%�
���
'O		1��� ��&����+0P�����";.0�&���;&��"; &'(���&����+0P�&�0���+&�3"�#����

�
�� ���
��� 'O/%

���
�&�0���1-��P;���� &��#��	
���
�����
�"

�+
�&3 
�	 42#����-�_�
32*� (Thoun, 1920) ).��� ��#� 
��&����+0P���#&%��#�� (method of squares) 	����-�_�
���
����&��#��	����"�#��2�'O		1��� &��#��	
�
��&����+0P���*	�	�.����-�*�"�#3��'O/%
&'(�)�. (vertices) ������
� $ �
���'��#&%��#�� ���&��#��)��
)�.. +�&� �������. +���0. (grid) &'(��0*���+����� (element) "

�% �
����*������.+����
���   
,�&>��3������"�#����'��
�4��4 �� ����

%����
�52�6
��
�����
��� $ �
��������
������	�
&'(�����"�#����'��
����4��4 �� &��#��	
�&'(��
�52�6
��-�*�"�#)���	2��
�
���

%�.3��&3�-�*�"�#
���
�-0	
�!
�. ���
��0��������.�� ���
��
���*� $  .����*� �
��

�+!%
��
��
�����
	2�
�
�
���

�+!�. ��
� ��+���&����+0P�����";�0�0&��";�. ���-�_�
 (Courant, 1943) ���&�0#��

�
     
'���1��;���'O/%
��
�����
��'f 1968 42#���&����+0P���*	�	�.����-�*�"�#3��'O/%
&'(��0*���+�����
"�#'�����32*�	
�)�. ).�&��#��������. +���0. 42#�	����	

��.������&>-
���'��
�3���0*���+�����"�#
&'(���#&%��#���

%���'O/%
 2 �0�0�0���� �0*���+�����"�#&'(���'�
�&%��#�� ���
�'���
!).&��
3��'O/%
�.  42#�3 �.�3����&����+0P���* ��� �
�
��%
,�&>��3������"�#����'��
�4��4 �� "�*����
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&%�
����'O/%
"�#���
��'�&'��#���
�&+�
 (time-varying) 'O/%
"�#���&'(�&�0�&� � 42#�'O/%
"
�
��
�����
���	���,�&>��"�#���&'(�&�0�&� �	2�&%�
�������
��� ��&����+0P�.�����
+���
�%
��

,�&>��  ���	
���*�����
�����
��

%�.&��#���33��&3�"�#�
	��%�
����6!�,��������������� 
.����*�	2����+
�	

&'(����
��0#�"�#� ���

��&����+0P�����";.0�&���;&��"; �����&����+0P�����";     
�0�0&��";�
�� ���
�.

&�0��
� 

 

1.2  ������ ����!���"	 �#$�% 
- -�_�
)'�����. +���&����+0P�����";.0�&���;&��"; �����&����+0P�����";�0�0&��";  

"�*���� 2 �0�0 ��� 3 �0�0 &-�#��

�+!%
��
��
�����
�������
��������
������ 1 &�� 3 &��
��.1� ��� 3 &�������.1� 

- �

�+!�
����	
���+3����
��
�����
"�#&�0.32*���%+�
���16�;��������
��������
   
������ 

- +0&��
�%;&�0���+&�3. +���&����+0P�����";.0�&���;&��"; �����&����+0P�����";�0�0&��";
&-�#��

�+!%
����%�
�"�#&%�
���3����16�;"�#�
5��������� ��0&+!"�#��&�
����
������-
.,�
� 

- 52�6
�
����	
���+3����
�����
"�#&�0.32*���%+�
��1'��!;��#��
���������
���� 
����
������ 

- +0&��
�%;&�0���+&�3&-�#��

�+!����%�
�"�#&%�
���3���1'��!;��#��
�"�#������� ��0&+!"�#
��&�
����
������-
.,�
� 
 

1.3  �'��"����()���'� 
- -�*�"�#���
�	

�������&'(�-�*�"�#)��� '�
5	
��
���.3+
�3���
�
� ����0#�'��� 

�� 
���
� $ 
- -0	
�!
�
�&%��#�+�

3����
�����
��%+�
��
��������
������	

�+� 1 � ������16�;

%����1'��!;��#��
�"�#�
�
������% &�0.�
�&%��#�+�

32*��.  
 - �

%���������"�#-0	
�!
	��

%�.�% ��
�=
-��� (permittivity) 3���
�
5����
��"�#
���.-�*�"�#"�#�� ���
�-0	
�!
  

- �

%�.�% ���.�����
���������&� �����
���.����"�#��#

&������."�*�&� � 
- �

%�.�% �=
--�*�.0�������"�#-0	
�!
&'(�-�*�.0����=
-"�#+�''�
5	
��*

3��%���

�+
���*���%� 
.0���� 
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1.4  ���������"	 �#$�% 
- �� 
����	

���"
��!0�5
���;�

%����
����	
���+3����
�����
&-�#�	

���,��
�

"

�
�3���1'��!;��#��
�"�#����

�
�� �
���� �
��������
������ 
- ��  MATLABTM &-�#�&3���)'�������&����+0P�����";.0�&���;&��"; �����&����+0P�     

����";�0�0&��"; "�*� 2 �0�0 ��� 3 �0�0 �

%���+0&��
�%;'O/%
��
�����
���
��������
������
3�
.��
� $ 

- -0	
�!
�����
��������
������ 2 '��&=" ��� �����
��������
������ 1 &��3�
.   
220 V, 22 kV ��� 69 kV ��������
��������
������ 3 &��3�
. 69 kV, 115 kV, 230 kV ���   
500 kV 

- .

&�0��
�%
����%�
�"�#&%�
����

%�����16�; &-�#�'�����������
�"�#&�0.32*��. 	
�
��0&+!�
��������
������-
.,�
��
���
����%�
��
��o
��
�� IRPA (international radiation 
protection association) 

 

1.5  � �,%-�!����	.�/	$�0.' �� 
- �. ���	

���3���1'��!;��#��
�����
��������
������"�#�
�
���� �. ����������	�
�

�

�������
 22 kV ��� 115 kV 3���
�����
=��0=
� ������� 230 kV 3���
�����
st
�,�0� 
- �. )'�����	

���,�"�#&�0.	
��
�-�_�
��&����+0P�����";.0�&���;&��"; �����&����

+0P�����";�0�0&��"; &-�#��� ���
��

�+!%
��
��
�����
����0&+!�
��������
������ 
- ��+�&-0#��+
�'��.=���% �����16�;���%����1���"�#�
5��������� ��0&+!"�#���
��������
  

������-
.,�
� 
 - �. �03�0"P0u	
��
�52�6
,����"�3����
�����
	
��
��� �
�)"�5�-";��������0&+!
��� �
��������
������ 
 

1.6  "	 $�. 2���/
�#�%	�#3�4! 
+0"�
�0-�P;��*'�����. +� 8 �" ��� 3 =
�,�+� ).�"�#�""�# 1 &'(��"�

 ���
+�2� 

�+
��

��/3��'O/%
 +���1'�����;���&'�
%�
�3���
�+0	��+0"�
�0-�P; �+�"�*�3��&3�3���
�
��+��"��#� $ '�����. +�&��*�%
.������'��* 

�""�# 2 ���
+�2��
��

�+	'�0"�5�;+��!��������
�+0	��"�#&��#�+3 �� &-�#��% "�
��2� 
��+"
� �����&����+0P��
�.

&�0��
�+0	��"�#&��#�+3 �� ).�,�	
��
��

�+	���� � 	��� &'(�
��+"
��

%����
�'���1��; ���-�_�
&3 
����
�+0	��+0"�
�0-�P;��* 
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�""�# 3 �

&���"M6v���
� $ "�#&��#�+3 ������
�+0	��+0"�
�0-�P; ).�&��*�%
'������' 
. +� 5 %�+3 �%��� $ �. ��� ��
�����
 �
�����

�������
 )"�5�-";������ ��&����+0P�����";      
.0�&���;&��"; �����&����+0P�����";�0�0&��"; 

�""�# 4 ��&��*�%
+�
. +��
��

�+!��
�����
3���
����. +���&����+0P�����";.0�&���;
&��";��� 2 �0�0 ���3�*������
� $ ���
�'���1��;�� ��&����+0P�����";.0�&���;&��"; &-�#�
�

�+!%
��
��
�����
"�#���	
���� $ ��0&+!�
��������
������ 3!���16�;�� �1'��!;��#��
� 

�""�# 5 ��&��*�%
+�
. +��
��

�+!��
�����
3���
����. +���&����+0P�����";�0�0&��";
��� 2 �0�0 ���3�*������
� $ ���
�'���1��;�� ��&����+0P�����";�0�0&��"; &-�#��

�+!%
��

��
�����
"�#���	
���� $ ��0&+!�
��������
������ 3!���16�;�� �1'��!;��#��
���"

���
&.��+����""�# 4  

�""�# 6 �P0�
��2�)'�����	

���,���
�����
 ,��
�	

���3�������
�������  
2 �0�0 ).����
+�2�-
�
�0&���;"�#'���1��;�� ���
�	

���,� �+��2��
��P0�
�)����� 
�3��
)'�����	

���,� '��������&'����&"���,�&>����
��
�����
	
��
�	

���,���� 2 �0�0   
���)'������

&�N	��' 

�""�# 7 ���
+�2��
�	

�����
�����
3���
����).���&����+0P�����";�0�0&��";���      
3 �0�0).��
��

%�.-
�
�0&���; ���&��#���33��&3��
�)����� 
�3�������
��������
 1 &�� 
��� 3 &����� 3 �0�0 &-�#��
��

�+!%
��
��
�����
3�������
���� =
��� �����
��������
 
1 &�� �����
��������
 3 &����.1� ��������
��������
 3 &�������.1� 

�""�# 8 &'(��"��1'���3 �&������ -� ���
�+0	��"�#	�.

&�0��
���� 
=
�,�+�'�����. +�&��*�%
 3 ��+� �. ��� =
�,�+� �. �
�-0��	�;���
��

�+!%
 

��
��
�����
=
��� �����
����"�#�� �

%���'���1��;&��#���3��
3��&3� =
�,�+� 3. ���
+�2�
�
��+��+�,��
�"�#�. ����
�&,��-��3���
�+0	��+0"�
�0-�P;��3!�.

&�0��
�52�6
 ���
=
�,�+� �. &'(��
��

%�.&��#���3��
3��&3� ).�����+���
��
�'���1��;&��#���33��&3� . +�
�
��

%����
��
�.�.�'���������
��+� ����"

�
��� �������
��+� &-�#��% &%N�=
-�
�
"

�
�3��)'�����=
����
�+0	����*  



����� 2    
��	�
��
���������������	�
��������������    

 
2.1  �����    

��������	
��
�����

���������� ��� ����	�

������������
���	������ �!�"#��$�%�� 
��
���
��&&	��	�
��� ���
	'
��&���(�� ) �)�!�"*+,�����)�	�"�	��*��,&��#�)	��	�
$�
�����
-$�#����*+,��#&��&��.�����!�����#��!� �����#&��&��.�����!�$��#����#��!� ��#�/�#���"�
���*�
�����,�01
� $�
�����%
�������2�#�/�����
��"
!�"�,�
$2�#������	2�������!�3�����)�������
�������
!�"#��"���,�
 #4�"�*
,!��&�%
���!�
�������� ��#&��&��.�!�"#�������*+,
�������� 5����$2�#���
��
�,�#	��������
 6 ����)������������
����$��#�/��,��� -$�*+,7���,��'�!�"#�/��
��
	�	�
���
�������������)����!�"#��"���,�
!�
$,����!��3�	������#!�-�-��� ����$,��� 7���,��'���� 
IEEE IEE ��� ScienceDirect #�/��,� 5����	2����	�&�,�
�������$�
�������*+,#�/����!�

	2�
��&����������� ���4�8��#�,���&
���������!����4�.���� 
 

2.2  ��	�
��
���������������	�
��������������    
����2�#	�����!�3�����)�������
�������!�"#��"���,�
 ���#��"�
�����#����
����������

�����
���	������ �&��#�)*��,	��	�
���
����$�����%
�0���&�� 	�����	���-$����#�/�����
�$,
$�
����
!�" 2.1 <%"
	�������$�2�$�&���#���&#���
5�
��!�"��5',�$,$2�#������������	'�
��!�"*
������ 
�$,$�
�������� 
 
����
!�" 2.1 5�
�������!�"#��"���,�
 

�.3. �)�5',!2������ ���$2�#���
������� 

1997 
 
 
 

 

Krajewski 
 
 
 
 

�.�&���%
�&&�2���
!�
�)��3�	������	���� 
���!����� !�"*+,	2�
��&��#����
�	������ �!�"#��$�%��
&��#�)	��	�
��� ���
	'
!�"#��$�%��&��#�)*��,	��
	�
$,����#&��&��.�	��+�������& (boundary element 
method : BEM)  



 

7 

����
!�" 2.1 5�
�������!�"#��"���,�
 (���) 
�.3. �)�5',!2������ ���$2�#���
������� 

2000 
 
 
 
 
 
 
 
 
 
 
 
 
 

2000 
 
 
 
 
 

2002 
 
 

 
 

2004 
 

Farzaneh and Volat 
 
 
 
 
 
 
 
 
 
 
 
 
 
Ohchi and Furukawa 

 
 
 

 
 
Elhirbawy, Nguyen, 
Jennings, and Keerthipala 
 
 
 
Desideri, Guarnieri, and 
Enrico Poli 
 

�.�&���%
����2���
5���
	������ �!�"#��$�%�� 
&�� #�)�'��, ��
���  (post insulator) *���)�!�" ��
��2���g
��������'�&��'��,��
������� 	�
5�!2�*
,
#��$��������������
	������ �!�"������
�����
*�	h�������  <%"
5',!2����������$,�&�
�'��,��
���
���#�/� 3 ���#h! ������#�����
��2���g
!�"��
�����'��,��
���*�&��#�)���
 6 *����3%�(������

�$,!2����4����)�5����#���" �����
��
���
	������ �!�"#��$�%�� #��"������#���"�����
��
���
����
����
+�����2���g
!�"�������� +��$��
��	$�
!�"*+,!2��'��,�� ��������)��
��2�*�����3&��#�)
��& 6 �'��,��!�"�'���&����*
,����#�/�
�$��2�
���#�����'�&�5����
�'��,��j��� 

 
3%�(����	������ �!�"��5����!&���	��
��

���(�� -$�*+,��#&��&��.�����!�����#��!� !2����
����4��������	������ �!�"#��$�%��&��#�)3��(�
��
���(�� <%"
���2��%
�%
���	h�4���!�"������
���
h��*�	��
 

 
�2���)
����	������ ����	������ #
�g�!�"
��������& 6 	��	�
��� ���
	'
 3 #�	 -$�*+,
��#&��&��.�����!�$��#����#��!� �&& 2 ����*����

�5�#j�� 

 
�2���)
����	������ �!�"����k��& 6 	��	�
!�"��
-��
	�,�
#	��&&������� 3 #�	 -$�*+,��#&��& 
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����
!�" 2.1 5�
�������!�"#��"���,�
 (���) 
�.3. �)�5',!2������ ���$2�#���
������� 

 
 
 

2006 
 
 
 
 
 

2006 
 
 
 
 

2007 
 
 
 
 
 
 
 
 

2546 (4.3.) 
 
 

 
 
 
Zhang, Han, and He 
 
 
 
 
 
Zhao and Cui 
 
 
  
 
Leandros and Athanasios  
 
 
 
 
 
 
 
 
��+�� !�4��#���1, 4�!��(� 
�tu���
�� ��� 3�����8�� 
-4.�#�+��� 

��.�����!�����#��!� ��&��#&��&��.�����2���
�����           
(charge simulation method : CSM) 
 
3%�(������#����
�#+�
���#����
���	������ �!�" 
��������&&��#�)�'��,��!�"!2������	$�5	� ����%

�����#����
�&��#�)��$#	�	��	�
��� ���
	'
 <%"

!2������#����
�h��*�,��&&��� � 3 #�	���$ 330 
kV $,����#&��&��.�	��+�������& 
 
�2���
5����	������ �	2�
��&��&&	��	�
��� �  
�&&��
$��	' 
����	��
  (high voltage direct 
current : HVDC) $,����#&��&��.�����!�����#��!� 
�&& 2 ���� 
 
3%�(���!.�4�5����!&��
��&&	��$�� ��& 
����	��-���!�"������������#�,�	������ ���

���#��$��-��� �����
$��#&��$���� ) &��#�)
+��
���
#�g� 6 (air-gap) -$�!2����!$	�&h��*�
��&&!�"��������#�g�-!�$!�"������
��� #4�"�#����& 
#!��&5����!$	�&���
����	������ �	'
	�$!�"
���*
, #��$��-��� ������#&��$������&���
�2���)$,����#&��&��.�����!�����#��!� 
 
�����#����
�5����!&���	������ �!�"#��$��� 
	��	�
��� �����	��
 ±300 kV ���	��	�
��� �
����		��&�
���'� 500 kV -$��2��%
����������

��
���
5����!&������#
��"���2�!�"#��$������(��
	��5�	��&��������$*
1�*��,	��	�
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��#
g��$,���������	�&�,����!�3�����)�������
�������!�"#��"���,�
 ���#������k

�������!�"#�,��������!�"#��$���5����!&��
	������ ���
���
���*+,
��-!�3�4!�������*��,
&��#�)!�"��	��	�
��� ���
	'
4�$5��� ������)�������
�������!�"�$,	���5����� 	�����+���
*
,5',!�"��$2�#������3%�(�
���4�8��#��"����&
���������� 4���
h�4�������
��,�
�$,��� ���)�
��������5',*$�$,3%�(�	�"
*$����,�&,�
 �����
���	��������#�/�
��$
�'������.����$2�#���
��
3%�(��$,����
+�$#�� $�
���� *�	�����$������%
�$,!2����#���&#���
�����$	��
�������
��� 6 !�"
	2���1 ���������������
�������
#$��+�$ ���
��� 6 5�
��!�"�$,	�����,*�����
!�" 2.1 -$���
�$,������%
-$����$�
��� 

Krajewski (1997) �$,�.�&���%
�&&�2���
!�
�)��3�	������	�������4��.� !�"*+,	2�
��&
��#����
�	������ �!�"#��$�%��&��#�)	��	�
��� ���
	'
!�"#��$�%��&��#�)*��,	��	�
$,����#&��&��.�
	��+�������& (boundary element method: BEM) �����������
3%�(�5����!&��
	������ �
���#	���� ���
	'
��&��	$�	�"
���	�,�
���#h!���
 6 !�"*+,	�,�
�����&,��#����  <%"
	�����
4����)�5����!&!�"#��$�������������
��
��	$��$,������	h�4������ �	��4�!.� (relative 
permittivity) ������	h�4�2���� � (conductivity) -$���	$�!�"�2���4����)��$,��� ��, ��,� ���
<�#���� #�/��,� Farzaneh and Volat (2000) �.�&���%
����2���
5���
	������ �!�"#��$�%��&��#�)
�'��,��
��� (post insulator) *���)�!�"����2���g
��������'�&��'��,��
������� 	�
5�*
,#��$���
�����������
	������ �!�"������
�����*�	h�������  <%"
5',!2����������$,�&�
�'��,��
���
���#�/� 3 ���#h! ������#�����
��2���g
!�"�������'��,��
���*�&��#�)���
 6 *����3%�(���� 
��
�$,!2����4����)�5����#���"�� ���
��
���	������ �!�"#��$�%�� #��"������#���"�����
��
���
����
����
+�����2���g
!�"�������� +��$��
��	$�!�"*+,!2��'��,�� ��������)��
��2�*�����3
&��#�)��& 6 �'��,��!�"�'���&����*
,����#�/�
�$��2� ���#�����'�&�5����
�'��,��j���  ��+�� 
!�4��#���1, 4�!��(� �tu���
�� ��� 3�����8�� -4.�#�+��� (2546)  �.�&���%
�����#����
�5����!&���
	������ �!�"#��$���	��	�
��� ���
	'
����	��
 ±300 kV ���	��	�
��� ���
	'
����		��&
�
���'� 500 kV -$�3%�(��%
����������
��
���
5����!&������#
��"���2�!�"#��$������(��
	��5�	��&��������$*
1�*��,	��	�
��� �	'
!��
	�
+��$  #4�"�#����&#!��&���������
!�"#��$�%��
��
���
	������ ����	��	�
��� ���
	'
!��
	�
+��$ 	2�
��&�����$���������
��
5����!&
!�"#��$�%����4����)����4��

��	�	�!�"#��$������#�,���	��5�	��&��������$*
1�h��*�,���
��#����
�*�#
�"�������
 6 #�/��,� 
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2.3  !�"�    
&!!�" 2 ��� �$,�2�#	�����
��5����	�&�,����)�������
��������,��
��
!�"#��"���,�
��&


�������!�"��$2�#������ ���7���,��'� IEEE IEE ScienceDirect �����"� 6 <%"
!2�*
,!��&�%

���!�
��������!�"#��"���,�
 ��#&��&��.�!�"5',�������"� 6 �$,�2���*+, 5����$2�#���
�� �,�#	����� ���
 
6 ����)������������
����$�����%
�0���&�� ������	�&�,����!�3�����)�������
�������!�"
#��"���,�
 ���#������k
�������!�"���
#�,��������!�"#��$���5����!&��
	������ ���
���
���*+,

��-!�3�4!�������*��,&��#�)!�"��	��	�
��� ���
	'
4�$5��������� 	2�
��&
�����������3�� 
MATLABTM *�����2���)
����	������ �$,����.���#&��&��.�����!�$��#����#��!� �����#&��&
��.�����!�����#��!� #4�"�#����&#!��&5�����2���)!�"�$,��&-������	2�#�g��'�  $,��#
�����
�������
+�������%
4�8���%��#4�"��	�

����!�
����2���
5���
	������ �������!2�
����

-!�3�4!�������*��,&��#�)!�"��	��	�
��� ���
	'
4�$5���h��*�,��������	
����
���� �
���
�������!�"���#��$�%����&���(��$,��	�#
��$�
����� 
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����� 3    
���	����
����
���� 

 
3.1  �����    

��������	
��
���������������� � ���������
�������� �!���  �����"�#��"$%�#�& 	
��'(  
'��)�* +�����"��� ���,%�� ! ��  ��-� �-�./���'( ./- 0� #��"�1� 	
�#��"�
����� ��  $%�2���
 %�3'�'( 	2
�������!�� ���,%�� ! �� �!��� ,�� �- � �� �-���3,� %��$ ���������������
������
�� �!��� �- 4���'�����3',��� 5 2��
��2
�� 3,�	�� $ �"3667� $��$���%�
��3667� )����.�+"/��/� 
��������!8�363 �+,!6�6��+�� �+ 	
���������!8�363 �+�!
!�" �+ ),����
�������9.��$�� ����'( 
'��)�* + 2�/��1��
����������������,%�� ! �� �!��� ��-� �-�./���2�� /-�2�"�#��"���*��	
�*�,��  
 

3.2  ��������� 
3.2.1 �
�������� !"#$
%��������������&���!����� 
 ��������	
���
�������������
��������
�������� ���������������� �����!�

�"�#$��������%��&��
�������'�(�������
�
�)�*��&+"�����%��& E ��������������%��&�"������
,�
� )"�����-��$��������,..(��
���
��/��*��&+"�������& (��� ����������& 0�)����������&��1
��/��*��&+"����%'�,(���!���-2	�-�+�����)��".��������� E ,%�%����"���
����"�������"1���/�
��-��$������& 3�
��	����)���� 4"�)&����� ������,���"5�"�#$&��
�
�) v 	
�$�"�����,���"�
� �1'2 ���
��	��,�  (volt) ),�#��"$�".� 8+��2���� v 	
� E � �1''�!.� 8+$�"���	$,�3,�
,��$"������ (3-1)   

 
1

x

x y

y

v v q dr
q

− = − ⋅∫ E  

 
x

y

dr= − ⋅∫E  
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( )
yx

R R

dr dr= − ⋅ − ⋅∫ ∫E E  (3-1) 

 
 ���$"������ (3-1) �%��2�$�"���3,�$1��#%� �?����+3667�����@,�,�@,2 ���� 
$ �"3667� E 3,�,��$"������ (3-2) 

 
x

x

R

v dr= − ⋅∫E  (3-2) 

  
���
� R ��� � ��
���-� 
 
 ��/���
���.���4"�)&�������/��*��&+"����%'�,(��� 0�)�67���)���)-
�!���..7-�"�
6����!+
�"5�"�#$& v(x,y,z) 3�
����4��#��������
)�,����*��&+"�������& v !���-2	�-�������'���

0�)��4")�8#9��� 7"�:&)��) 

 
v v v

dv dx dy dz
x y z

∂ ∂ ∂
= + +
∂ ∂ ∂

 (3-3) 

 
2�/�� �1'����%�2 ,���,%�� ! ���� @.� 8+����������� �,
 (∇ ) ,��$"������ (3-4) 

 
dv v dr= ∇ ⋅  (3-4) 

 
 ���$"������ (3-20) $�"���$����#��"$�".� 8+��2��������,�� �+����+3667� 	
�
$ �"3667�3,�,�� �- 

 
x

xy x y

y

v v v dr= − = − ⋅∫E  

 
$�"����
�� � �1'�2"�
������.!��,9��3,��'(  
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( ) ( , , ) ( , , )
x

x y z x x x y y y

y

dx dy dz v x y z v x y z− + + = −∫ E E E  

 
    ( , , )

x

y

dv x y z= ∫  

 

    
x

y

v v v
dx dy dz

x y z

 ∂ ∂ ∂
= + + ∂ ∂ ∂ 
∫  (3-5) 

 
���
��'��������).���).�"�����-�:-;���7��&���3
�)���).�".�������������
 (3-5) ��3,� 

 
, ,

x y z

v v v

x y z

∂ ∂ ∂
= − = − = −

∂ ∂ ∂
E E E  (3-6) 

 
(��� 
 

v= −∇E  (3-7) 
 

3.2.2 ����"'(
�!)��*+#����"+�'+�) 
 ���$"������ (3-7) ���2I ���$ �"3667�$�"����
�� ��1�� �1'
������,�� �+
��
6J��+*� $��
��+ v 3,� 	
�����K
�����$+� �1'� @.� 8+ #/� 

 

0

ρ
ε

∇⋅ =E  (3-8) 

 
���
� ρ  ��� ����(��,������� �+-���-��%���������)������� ����� (volume charge density) 
 0ε  ��� �2�7)���������4���� (permittivity of free space) 
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 ������*��&3�� (poisson_s equation) ���������&���3&��� E ���������)�!��	�
���7��& v ��
�"���1 

 
( )v∇⋅ = ∇ ⋅ −∇E  

 

          
2 2 2

2 2 2

v v v

x y z

 ∂ ∂ ∂
= − + + ∂ ∂ ∂ 

 

 
           2

v= −∇  (3-9) 
 

 ����������
 (3-9) ���2I ���$"���,���
��� #/� $"������"����,%�� ! ����,
 
$��#��-� �./���2�3,�� @.� 8+�� ,��$��4����������� 
�'
��4��  (laplacian : 2∇ ) 	
����$"���

����� $�"�����,�1'��"�K
�����$+� �1'� @.� 8+�2"�3,��'(  
 

 2
v

ρ
ε

∇ = −
0

 (3-10) 

 
	
��������$"��� (3-10)  �-��� ������*��&3�� 
 
 $"���
�'
�4 (laplace_s equation) ��!��?�, � � '�!c1"!���3"�"�'���@  �- #/� 

0ρ =  �"��"1� ������*��&3�����
���'(  

 
2 0v∇ =   (3-11) 

 
4���$"���,���
���$�"��������3,���� ����������3 
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 �"1��������� ��� ������*��&3��	
�����������3���1� %�3'�*�� ���#%� �?
����+3667�	
�$ �"3667�� ��!��?$��$��	��$1�c�����$c���
���
� (boundary condition)  
%�����.�).�-:������&�-�����&����&,�����.�).�-:������&�-�-����& 3�
�����
�����%����!�.���
 4 
,�� 5 %���'��". 

 

3.3  ����%����+������� 
��� %�� $��$��3667�	��$1��, � �I��"���"�#��"��������+3667����%��2���!,$ �"3667� E  

	
��"/��"����	$3667�32
e�� ��� %� ��"�$ �"	"��2
I� B ��!,
�- ������ %� �-  ? �@,�, � 
$ �"3667�	
�$ �"	"��2
I�����-�9���� �$"� ,��	$,�� �1'��� 3.1 

 

 

 
�1'��� 3.1 $ �"3667�	
�$ �"	"��2
I���!��?������ %� 2 �$�  

  ���"�#��"��������+3667�	
����	$32
e��  
 
3.3.1 ,�"��"���"#������%������ 1 
��*+# 3 
�� 

 $%�2���� �� �!������%����#%� �?#��$ �"3667���������������� %� ��"����
$��$��3667� 1 �6$	
� 3 �6$ ),�����3667� 1 �6$��#%� ���������3667����"�.!��,
 �, 220 V,  
22 kV 	
� 69 kV $�� ����3667� 3 �6$��#%� ���������3667����"�.!��,��-�	�� 69 kV, 115 kV,  
230 kV 	
� 500 kV 4���	��
�����"����
�����,	
�)#��$���� �� 3,�	�� �%�	2 ����� %� ����2���
��2������� %� �'( ��  ,�� �- 
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 - ����3667� 1 �6$
 �, 220 V  

 

 
 

�1'��� 3.2 )#��$��������$��$�� 1 �6$
 �, 220 V 
 

 - ����3667� 1 �6$
 �, 22 kV  

 

8 m

22 kV

10
.25
 m14

 m

 
 

�1'��� 3.3 )#��$��������$��$�� 1 �6$
 �, 22 kV 
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 - ����3667� 1 �6$
 �, 69 kV 

 

 
 

�1'��� 3.4 )#��$��������$��$�� 1 �6$
 �, 69 kV 
 

 - ����3667� 3 �6$
 �, 69 kV 

 

1
3
.2
 m

1
2
 m

1
.2
 m

1
6
 m

 
 

�1'��� 3.5 )#��$��������$��$�� 3 �6$
 �, 69 kV 
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 - ����3667� 3 �6$
 �, 115 kV 

 

 
 

�1'��� 3.6 )#��$��������$��$�� 3 �6$
 �, 115 kV 
 

 - ����3667� 3 �6$
 �, 230 kV 

 

7.5 m 7.5 m

20 m

230 kV

 
 

�1'��� 3.7 )#��$��������$��$�� 3 �6$
 �, 230 kV 
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 - ����3667� 3 �6$
 �, 500 kV 

 

 
 

�1'��� 3.8 )#��$��������$��$�� 3 �6$
 �, 500 kV 
 

 3.3.2 $+����"
$����
������������-��.�"#������%� 
 #��#��"�
�"$ �"3667�	
�$ �"	"��2
I�����%�	2 ������ � ������ %� �-��
�- ��1����
����2��������� %� 
 �,	��,� 	
����	$� ��� %� 9� �- ��� %�
������$��$�������%�
��
3667�	��$1� ����/�3,�����'( 	2
���%�� !,
��$ �"3667� 	
�$ �"	"��2
I�3,�'���c�2 ��� �.���
� /��������� %�� $��$��c��� ����$�������%�
��3667� '�����3',���e
#1?
��	��,�  V 	
�
���	$ I �"/���*�$��$������� ���$���%�
��3667� �I��"����	$32
� ��� %�  �- �I#/���"�
$ �"	"��2
I�),������� %�$��$������ ���$���%�
��3667�"�� � 2��3"��.!�"	��,�  �I���%��2���!,
���	$� $��$��"�#��"�� �'( e
�2���!,�%�
��3667�$1&�$��� /������#��"��� ��  R � $��$�� #/� 
I2R 9� �- ���$���%�
��3667�'�!"�?"�� � �'( �������3�
 � �������$������,�������	��,� $1� 
�"/����� %�$��$��"�	��,� $1� �I������2���!,#��"�#���,$ �"3667�),������� %�"�#��$1�
�-  
#��"�#���,$ �"3667�$1�$@,��!,
�- ���e!���� %�3667��I�!��"�#��$1�
�- ,��� � $c���	�,
��"���
�
����� �*�  #��"*/- $1� "�k@l 
����"�� �'( ��  #��"�#���,$ �"3667����e!���� %��'
/��
��� 
����� ������%��2���!,���,!$*��+����$�� 	��#�)� � (partial discharge corona) 3,�����
�-  4���
������" @��+��1���
���!��?���"�$��$��3667�	��$1�.�,e�� 2�/�����*��@'��?+$/��$�� �*�  
)����.�+"/��/��I����%��2�3,������ �����������*��� ��
�$��$��3667�	��$1�3,��*� ��  �� ����
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��������1���
�$��$��	��$1�$�"���	���3,��'(  3 ��?� #/� ��?�$ �"3667��������3667�  
1 �6$ ��?�$ �"3667� 3 �6$3"�$",@
 	
���?�$ �"3667� 3 �6$$",@
 4���#��$ �"3667����"�
e
��������" @��+$�"�����!,
�- 3,����#��$ �"3667����"�#��$1�
�- � /������#��"��������+3667����
��!,
�- ��2����./- ,! ���$��$�� �%�	2 ��
��" @��+�����1���
�$��$�� �"/����������./- ,! 4���$�"���
�%��2���!,#��"3"�$",@

��$��$��3,� 	
�#��"3"�$",@

��	��,� c��� $��$��	��
��$�   
�I$�"�������2���!,�� �������$��$��	��$1����"�e
���" @��+3,�� ���$@,   

 �����������#��$ �"3667������!,
�- ��� � $��$��3667�	��$1���-���?�����3667� 
1 �6$	
� 3 �6$ ���2I ���#��$ �"3667������!,
�- "�'�!"�?$1�"��.�������%��2���!,�� �������
����@����#
/�� �
����
�$��$��3,� ),��9.��" @��+ ,�� �-  ���2�./- ���'
�,c��2�/�����2��� ���$@,
��2����$��$��	��$1����" @��+ ����'( $!��$%�#�&  ),�� ��� �-���%���������#��#��"�
�"$ �"3667�
��-�2", 3 ��?� 3,�	�� 

 - #��"�
�"$ �"3667��"/��.!���?� 1 �6$ 
 - #��"�
�"$ �"3667��"/��.!���?� 3 �6$3"�$",@
 
 - #��"�
�"$ �"3667��"/��.!���?� 3 �6$$",@
 
 
 - #��"�
�"$ �"3667��"/��.!���?� 1 �6$ ���$��$�����$��e
����� 

  ����������" @��+ 
 ����1'��� 3.9 $�"���	� �%�	2 ����� %�$��$��3,�,��� 1 	
� 1' ���$"���  
	"�4+��

+ (Maxwell_s equation) $�"���2�#������+3667� (electric potential: ϕ ) ����@, P(x,y) ? 
�%�	2 ���, � (Gao, and Yu, 1998) 3,�,��$"������ (3-12) 

 

 

 
�1'��� 3.9 #��"�
�"$ �"3667�
������3667� 1 �6$  
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�$�"���2�#��$ �"3667�����@, P(x,y) ? �%�	2 ���, � ,��$"������ (3-13) 
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ln

ybx

ybx
n p −+

++
=  �'( #�� mutual potential-coefficient 

 
 - #��"�
�"$ �"3667�
��36 3 �6$3"�$",@
 ���$��$�����$��e
����� 

  ����������" @��+ 
 � /�������6$2 ���
��$��$�� 3 �6$3"�$",@
 ���'�����$"/� �'( $������,+ 

,�� �-  ���2
/�$��$���.��� 2 �6$���� �- �����$��e
���������������" @��+ ,���1'��� 3.10 ���
$"���	"�4+��

+$�"���2�#������+3667�����@, P(x,y) ? �%�	2 ���, � (Gao, and Yu, 1998)        
,��$"������ (3-14) 

 

 
 

�1'��� 3.10 #��"�
�"$ �"3667�
������3667� 3 �6$3"�$",@
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4
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b
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 4���������2�#�� 

x∂
∂ϕ   	
�  

y∂
∂ϕ  $�"���2�#��$ �"3667�����@, P(x,y) ? �%�	2 �� 

�, � 3,�,��$"������ (3-17) 
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x y

ϕ ϕ∂ ∂
= +

∂ ∂
E  (3-17) 

 
- #��"�
�"$ �"3667�
��36 3 �6$$",@
 ���$��$�����$��e
����� 

  ����������" @��+ 
 �����������#��$ �"3667����"�e
��������" @��+��-� 2 ��?����e�� "� ���2I ���

� /������#��"3"�$",@

��	��,� c��� $��$��	��
��$� �'( $��2�@����%��2���!,�� �������" @��+ 
,�� �-  � ��������e
�����
��$ �"3667���2����$��$��	��$1����" @��+���
��
���������
#��$ �"3667�
������3667� 3 �6$$",@
3,� �����3��I��" e
��������$ �"3667�
������
3667� 3 �6$$",@
�����$��e
��������" @��+3,��.���#��$ �"3667���"�#��$1�3,�� /������#��"
	������
��#������+3667���2����./- ,! ���$��$�� 3 �6$���"�#��"	�������� "�� 	
��%�	2 ��

��" @��+�����1���
�$��$�� �"/����������./- ,! ����%��2���!,#��"3"�$",@

��$��$��3,� 4������
�������" @��+��1�� �%�	2 �� �- �'( ��
� � ������%��2���!,�� �������$��$��3,��*� ��  
 � ����3667� 3 �6$$",@
$�"���	$,�3,�,���1'��� 3.11 4����'( ���#%� �?2�#�� 
$ �"3667�3,�� �%� ���,��������?�#��"�
�"$ �"3667�
��36 3 �6$3"�$",@
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 4���������2�#�� 
x∂

∂ϕ  	
� 
y∂

∂ϕ  $�"���2�#��$ �"3667�����@, P(x,y) ? �%�	2 ��

�, � 3,�,��$"������ (3-20) 
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x y
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= +
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E  (3-20) 

 
3.4  ,�"&���!�0�10� 

�����������e
�����
��$ �"3667����"����" @��+�"/����1���
���!��?$��$��3667�	��$1� 
�������%��2�3,������ �����������2 ���� %���2����" @��+���$��$�� �-  ���$�"���.!���?����
$��2�@2 ���������$��e
�2���!,�� ������2����" @��+���$��$��3667�	��$1�3,����  �- #/� ����*�
�� �@'��?+$/��$����
�$��$��3667�	��$1� �.���� /������2
������%��� 
��)����.�+"/��/� #/� 
����'
��� 	'
��������!��?��� � )����.�+"/��/�������"�$c�.�'( 9 � �2�"�$c�.�
���'( 
��� %� �./���2�$�"������
��"1
����!,���$/��$�����,������"2�/�$�� �$��$�&&�?3,� ),������
2
������2 ���� %�
��$ �"3667� �������*��� )����.�+"/��/���!,
�- ��!��?��
�$��$��3667� 
	��$1�������%��2���!,����2 ���� %�
��$ �"3667��� �����2����)����.�+"/��/����$��
3667�	��$1�  �������2 ���� %�
��$ �"3667���2����)����.�+"/��/����$��3667�	��$1�"�#��$1�
��! ����#��#��"�#���,$ �"3667��!���
�������),���� ������2���!,���	$3667��2 ���� %����
$�"���32
e�� ������
��"�e�� )����.�+"/��/� 	
�$��e
�2���!,�� �������*��!�	��e1��*��� 3,�
� ���$@, ,����2�@ �-���%���������#��$ �"3667������!,
�- � )����.�+"/��/� 	
������e
��������
��!,
�- �������*��� )����.�+"/��/���
�$��$��3667�	��$1� ),�.!���?��������'
��� 	'
�#��
$ �"3667������!,
�- c��� ���� 

$%�2������#%� �?#��$ �"3667���2��������3667�	��$1����)����.�+"/��/�  
���%�2 ,�2�)����.�+"/��/��'�����$"/� �'( 	2
���%�� !,#��$ �"3667��.����@,�,��� (monopole) 
4���$�"�������#��$ �"3667�3,������������ 3.1 (Selim, Apaydm, and Celik, 2003) 
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�������� 3.1 #��$ �"3667�$1�$@,� 	��
�,�� 
��)����.�+"/��/�� ��2����������$�� 
      (Incoming call phase) )����� (Outgoing call phase) 	
�$ � � (Talking phase) 

Phone 
PANASONIC GD90 

 Outgoing call Incoming call Talking phase 
Front side 30.5 V/m 26.1 V/m 23.5 V/m 
Back side 30.5 V/m 25.2 V/m 23.1 V/m 
Left side 34.5 V/m 30.5 V/m 22.3 V/m 
Right side 32.5 V/m 26.2 V/m 20.5 V/m 

ERICSSON GH688 
 Outgoing call Incoming call Talking phase 

Front side 68.0 V/m 47.5 V/m 38.3 V/m 
Back side 68.2 V/m 46.3 V/m 34.5 V/m 
Left side 69.2 V/m 48.5 V/m 36.4 V/m 
Right side 58.1 V/m 40.2 V/m 28.3 V/m 

ALCATEL 
 Outgoing call Incoming call Talking phase 

Front side 40.5 V/m 33.2 V/m 22.5 V/m 
Back side 33.5 V/m 31.2 V/m 21.5 V/m 
Left side 27.5 V/m 23.5 V/m 17.5 V/m 
Right side 25.6 V/m 21.5 V/m 15.6 V/m 

NOKIA 3210 
 Outgoing call Incoming call Taking phase 

Front side 45.5 V/m 37.2 V/m 26.3 V/m 
Back side 48.5 V/m 47.2 V/m 35.1 V/m 
Left side 33.5 V/m 27.2 V/m 18.6 V/m 
Right side 48.2 V/m 47.6 V/m 30.2 V/m 
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������#%� �?2�#��$ �"3667�,���
��� $�"��� %�#��$ �"3667����)����.�+"/��/� 
nokia 3210 �����!,
�- � ��!��? Front side, Back side, Left side 	
� Right side "��*�� ����%�2 ,
$c���
���
� (boundary condition) ��"��������!8�363 �+,!6�6��+�� �+	
���������!8�363 �+
�!
!�" �+3,� 4�����3,��
������3'� ����� 4 	
� 5 ��"
%�,�� 
 

3.5  ����	
���
	������������������� 

 � /������'J&2�����!�����"��$��+),�$�� "��	
�� ��"�	���%�
��#?!���$��+��1��  
�1'$"����*!�� @.� 8+2�/�$"����! �!���
 $%�2���� ��?�����'( $"����*!�� @.� 8+���� (partial 
differential equation: PDE)  ),�$�� "��"��������2�e
�9
�,����!8�'��"�? �.���� /������
#��"4��4�� 
��$"����*!�� @.� 8+ �- ��� �!8����2�e
�9
�,����!8�'��"�?� 'J��@�� "�2
���!8� 
4���"���1��!8�2 ������3,����#��" !�"����������
�������,��� ���'J��@��  #/� ��������!8�363 �+     
,!6�6��+�� �+ (finite different method: FDM)  ),��!8� �-��	�������@
������'J&2����$ ����� 
�'( *��������$���2
���" 4��������$���2
���"�2
�� �-��"�) , (nodes) ����*/��"����� 	���@,����@,��"
"@"
��$���2
���"���� � 	
���"����	'�3"�����#��
�- ��1�����%� � ) ,��"
 �,
��'J&2� �-  � 
���	��������$���2
���"2�/����	����!,�2����������3"�"�2
�����������$%�2���������	�� 

�- ��1����#��"�������
��e1�#%� �?�������������������@,#%�������"�#��"
�����,"�� ���
�.����,  ���2��������������@,#%�������"�#��"
�����,$1� �I�����*�
 �,�����$���2
���"���"�
 �,
�
I�
� �- #/� ����.!�"�%� � �����$���2
���"�2�"��
�-   	
���$��e
�2�$�"����%�
���1'����

���?�,�-��,!"
������,���
���3,���
��#���"���!��
�-  	��� 
?��,����� �%� � ) ,���.!���?�
���.!�""��
�- � �%��2��%� � $"���
����������!8�363 �+,!6�6��+�� �+"��%� � "��
�- ,��� 
	
����%��2������ ���	��$"��������������������
�� ���2�e
�9
����"��
�-  	�������3��I
��"��������!8�,���
����I�'( ��������!8�������������������	
��%�#��"�
���� ��"���"�#��"$�,��
� ����
�� )'�	��"#�".!�����+�./���*�� ���2�e
�9
�
��'J&2� �-  � $%�2���
�- �� 
),�����3'
����������!8�363 �+,!6�6��+�� �+��'�����3',��� 5 
�- ��  4���$�"����8!���

�- �� ���� � 3,�,�����3' �- 

1) ������	����!,�2��������  
 ���	���
���
��1'����'J&2�
����������������2�e
�9
�����'( �����$���2
���"    

���� � ),�$���2
���"	��
�*�����"�����*/��"����� ),������) ,���� � �'( ����*/��" ,��$�"���
	$,�� �1'��� 3.12 
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 ���
�- �� ��� 1)  �"/�����	����!,�2�����������������	
�� $!�����$%�#�&	
��%��'( � 
���)'�	��",���#�".!�����+ #/� #��"$�".� 8+��2����2"���

) ,���.!���?����2"���

) ,
��!��?
����#�����"�1'��� 3.12 ��"���#���%�	2 ��.!��,
��	��
�) ,c��� ���� 4���$�"���
������������"�1'��� 3.13 ),�$�"���$�@'3,��'( �������� 3.2 	
��������� 3.3 ��"
%�,�� 

 

 

�1'��� 3.12 �������-��	���
�(��
)�������.�).�-:������&�-�����&����& 2 �-%- 
 

%������
 3.2 �"�#$��
��	����0�� 
2"���

) ,���
��� 

2"���

) , 
(N0) 

 
(N1) 
 

(N2) 
 

(N3) 
 

(N4) 
 

1 
2 
3 
4 
5 
6 
7 
8 
9 

2 
3 
- 
5 
6 
- 
8 
9 
- 

- 
1 
2 
- 
4 
5 
- 
7 
8 

- 
- 
- 
1 
2 
3 
4 
5 
6 

4 
5 
6 
7 
8 
9 
- 
- 
- 
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�1'��� 3.13 �1'����
��'J&2����'�����,�����-���
�(��
)��'���� 9 0�� 
 

%������
 3.3 �"�#$�7-�"�!�,%���0�� 

2"���

) , .!��,	�  x .!��,	�  y 

1 
2 
3 
4 
5 
6 
7 
8 
9 

0 
1 
2 
0 
1 
2 
0 
1 
2 

2 
2 
2 
1 
1 
1 
0 
0 
0 
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2) 6J��+*� ���'��"�?c��� 	��
�) , 
 ���
�������-���
!+
!�����'���$��/��	���
�(��
)� �"��"1�!����7-���$� 1 ��"1���� 

�����.���
�)0���"1�(�� 5 0�� ��� 0����
7-���$� 1 0���".0��.�-��$�
�����)���� 4 0��  
3�
�!���������$����*5(� 2 �-%-��%
����4")��������$,.. 1 �-%-��/�7�1�C�� 3�
�����)�����)�
�"�%������1 

 
���(��� 7"�:&�"��". 1 ����*��&+"�  f  !� D ������(���
�"��������
 (3-21)  

 

0

( ) ( )
lim
x

df f x x f x

dx x∆ →

+ ∆ −
=

∆
 (3-21) 

 
����������
 (3-21) ��������!8�363 �+,!6�6��+�� �+$�"���'��"�?$"����2"�3,��'(  

 
( ) ( )df f x x f x

dx x

+ ∆ −
≈

∆
 (3-22) 

 
 ������$�"���'��"�?#�����$"������ (3-21) 3'�'( $"������ (3-22) 3,� �'( �.���

����������� @��"���
��+ (taylar series)  �- #/� ���
��
���-�	�����"��� 3 
��� @��"���+�
��+�'( 
�� 3' 4���������,%�� ! ���	
������$"������ (3-22) ,���
��� �%��2�$�"���$����6J��+*� � ���
'��"�?#��3,� 3 �1'	�� #/� � @.� 8+	��3'
���2 �� (forward scheme) � @.� 8+	����� 2
�� 
(backward scheme) 	
�� @.� 8+	������
�� (central scheme) 4���$�"���	$,�3,�,��$"������ 
(3-23), (3-24) 	
� (3-25) ��"
%�,�� 

 
� @.� 8+	��3'
���2 ��: 

 
( ) ( )df f x x f x

dx x

+ ∆ −
≈

∆
 (3-23) 
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�1'��� 3.14 ���'��"�?#��� @.� 8+	������ �  
 

� @.� 8+	����� 2
��: 

 
( ) ( )df f x f x x

dx x

− −∆
≈

∆
 (3-24) 

 
� @.� 8+	������
��: 

 
( ) ( )

2

df f x x f x x

dx x

+ ∆ − −∆
≈

∆
 (3-25) 

 
 ���#��"�1���/������'��"�?	�� 1 "!�! �"/���%����.!���?�'J&2� 2 "!�!��3,�#�� ? 
�%�	2 ��) ,�, � 4�����!,���e
��"�*!��$� 
��#�� ? �%�	2 ��) ,���
��� �-  � ),�$%�2���
'J&2����� 2 "!�! ���"��� �� xy ��"�1'��� 3.15 ���1��%�2 ,�2�����"�	2
�������!$�� 	
�"�#��
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���
� (boundary condition) ��1�� �1'����+3667����$�"�����,�2���1�� �1'� @.� 8+ 4���'J&2�
,���
���$�"���	$,�3,�� �1'$"���
�'
�4  
 

2 0ϕ∇ =   (3-26) 
 

( , 1)i jϕ +

( , -1)i jϕ

( 1, )i jϕ +( -1, )i jϕ ( , )i jϕ

x∆

y∆

y

x

 
 

�1'��� 3.15 )#��$����) ,����$%�2���'J&2� 2 "!�! 
 

),���� ϕ  #/� #������+3667����3"�����#��c��� �������.!���?� 
 
$%�2���'J&2����� 2 "!�!� ����.!��,9�� $�"���2�#������+3667�3,���"$"������ (3-27) 

 

  
2 2

2 2
0

x y

ϕ ϕ∂ ∂
+ =

∂ ∂
 (3-27) 

 
���$1��� @.� 8+	������
�� ���� @.� 8+�� ,�� 2 ��3,� 

 
2

2 2

( 1, ) 2 ( , ) ( -1, )

( )

i j i j i j

x x

ϕ ϕ ϕ ϕ∂ + − +
=

∂ ∆
  (3-28) 

 
2

2 2

( , 1) 2 ( , ) ( , -1)

( )

i j i j i j

y y

ϕ ϕ ϕ ϕ∂ + − +
=

∂ ∆
  (3-29) 
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	� #��$"������  (3-28) ��� (3-29) � $"���
�'
�4���  (3-27) ��3,�$1�����#%� �?��" 
$"������ (3-30) 

 
[ ]1

( , ) ( 1, ) ( -1, ) ( , 1) ( , -1)
4

i j i j i j i j i jϕ ϕ ϕ ϕ ϕ= + + + + +  (3-30) 

 
3) $����$"�����"
������  
  %�$"���
��	��
�) ,���3,�c��� ����"�'�������"��  (assembly) �'( $"���

��"
������ ���
�- �� ��� 1 ����%����	���
���?��1'����
��'J&2�����'( ) ,���� � ��-�2", 
n ) , ������2���!,����$"�����"4���'�����3',���$"���������-�2", n $"���  

4) ��/�� 3
��!�"�� 	
���/�� 3
#��
���
�  
 '���@��+��/�� 3
��!�"�� 	
���/�� 3
#��
���
����������
��� �2�$�,#
���	
��2"��$"

���'J&2� �$�
�� $"�����"
�������./��2�#��e
�9
� ),����	��$"�����"
�������./��2�
���	'�3"�����#�����) ,���� � 

5) #%� �?2�#�����	'����� � c��� ���� 
 ���
�- �� ��-� 5 
�- �� ���2I ��� ���	"��!8�,���
������%�#��"�
�������� 	������������ 

.!���?�"��1'����)#��"  2�/�)#��$�������4��4��  �*�  *!- $�� 
���#�/��������
3667� �'( ��     
����'�!(
���.�).�-:��"������������)��
�".�����-)�!�2�)(�"� ,%����
���������-�")��1��/�����-�")      
��
� ����
�����-�����(&�����������.��)��������,���	�  .�-��$0�)��.��/�7�1���
0���  �����      
�-
�������� �'�!(
��..�"��������/���..��E���
�� ,�����������3".3
��  ������������,..   
��-������..��
7-���$���
�)����-���  3�
���������!(
��-��*5(�������!+
���.�).�-:������&        
�-�����&����& 

 

3.6  "#
����
3 ������!�3+3
���! 
2
�����
����������!8�363 �+�!
! �" �+ � 
�- �� ��#
��������������!8�363 �+                

,!6�6��+�� �+ #/� ��!�"������	����1'����
��'J&2�����'( ./- ���2
�� � $�� ����������� ��!
!�" �+� 
),������������, 	
�	��c��� 
��	��
��!
!�" �+ ? �@,����!
!�" �+���)���� �������
���� 3,�	
�
$",@
 4����!
!�" �+���� �  �- ��
�- ��1����#��"
�����,
��	��
��� �����������1'����
���?�
��
��#������
����!�,�-��,!""�������,  4��������1�� �1'
���?�
��$�"�2
���"	
�$���2
���",��     
3"������I3,� ,�� �- #��e
�9
�),�'��"�?���"��%� � ��� ��3,������#%� �?���"� ���"�#��"	"� �%�  
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"��
�-  4���#��"	"� �%� �-
�- ��1����
 �, 	
��%� � 
���!
!�" �+����*�� ���	��'J&2� �-  4���

�- �� ),�����3'
���!8�363 �+�!
!�" �+'�����3',���
�- �� �2&� � ��-�2", 6 
�- ��  

('��)"��+ �,*��%�3., 2542) ),�"����
�����,,�� �- #/� 

 

 

 
�1'��� 3.16 ���	����1'����
��'J&2�����'( �!
!�" �+ 

 
1) ������	���!
!�" �+�����2�������� (discretization) 	���
���
��1'����
������ 

'J&2�����������2�e

�.8+����'( �!
!�" �+���� � ),�	��
��!
!�" �+��"�./- ��� A
e
 ,��	$,��       

�1'��� 3.16 4����'( �1'	$,����	����!
!�" �+
���1'����'J&2�	�� 2 "!�!  (�� �� xy)  ),��*� 
�!
!�" �+�1'$�"�2
���"$�"�@,��� 4���'�����3',���) , (nodes) �!
!�" �+ (elements) 	
�

���
�
���!
!�" �+�����1�c���   (interelement boundaries)  	
��./���'( 	 ����� ���$����
)'�	��"���#%� �?$%�2������'7� 
��"1

���@� � �!
!�" �+ ���
������������1'����
��'J&2�
���'�����,����!
!�" �+�1'$�"�2
���"��-�2", 3 �!
!�" �+ 4 ) , ,��	$,�,����1'��� 3.17 

 
��"1
��/-���� $%�2���)'�	��"#�".!�����+���������� #/� 2"���


���!
!�" �+ 	
� 
2"���


��) , .���"��-�#��.!��,
��	��
�) , ,��	$,�,����1'��� 3.18 .���"��-�$�@'�'( �����
3,�,���������� 3.4 	
� 3.5 ��"
%�,�� 
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1

3

1

3

1

3  
 

�1'��� 3.17 �1'����
��'J&2����'�����,��� 3 �!
!�" �+ 4 ) , 

 
�������� 3.4 
���?�
��"1

���!
!�" �+ 

2"���
�) , 2"���

 
�!
!�" �+ ) , i ) , j ) , k 

1 
2 
3 

1 
4 
1 

2 
2 
4 

4 
3 
3 

2"���2�@ : ) , i,  j 	
� k #/�2"���


��) ,��� i,  j 	
� k � �!������ �
I" ��!�� 
 
�������� 3.5 
���?�
��"1

���%�	2 ��) , 

2"���

) , .!��,	�  x .!��,	�  y 
1 
2 
3 
4 

0 
2/ 3  
1/ 3  
1/ 3  

0 
0 
1 
1/3 
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2) 6J��+*� ���'��"�?c��� 	��
��!
!�" �+ �
/���1'	��
��6J��+*� ���'��"�? 
c��� �!
! � " �+  (element interpolation function) ��� � � � ��?��! 
! � " �+ �1'$�" �2
�� �"��
'�����,��� 3 ) ,���"����2��� i, j 	
� k 4���� � �!������ �
I" ��!����"
%�,�� ,���1'��� 3.18 
(Bickford, 1994) 4����'( ���'��"�?#��c��� �!
!�" �+	���*!��$�  (linear representation) 

 

 
 

�1'��� 3.18 ���'��"�?c��� 	���*!��$� � �!
!�" �+�1'$�"�2
���" 

 
 �%�	2 ��
��) , (x

n
,y
n
) n = i, j, k �'( �%�	2 ��
��������3"�����#�� u

n
 ),�$""�!


���?����������
��e

�.8+),�'��"�? ? �%�	2 ���, � � �!
!�" �+ u
e
(x,y) �'( 	���*!��$�  

,�� �- 

 
( , )

e
u x y x yα β γ= + +   (3-31) 

 
),���� , ,α β γ  �'( #��#���� 4���$�"���2�3,����) ,��-�$�",�� �- 
 

( , )
e i i i i i

u x y u x yα β γ= = + +  

 
( , )

e j j j j j
u x y u x yα β γ= = + +  

 
( , )

e k k k k k
u x y u x yα β γ= = + +  
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  %�#�� , ,α β γ  ���3,�������	��$"�����-�$�"
�����  	� #���
��
�3'� $"������    
(3-31) ��3,�
���?����������
��e
�9
�),�'��"�? ? �%�	2 ���, � � �!
!�" �+�'(  

 
 

( , )
e i i j j k k

u x y u N u N u N= + +  (3-32) 

 
4��� N

n
, n = i, j, k  #/�  6J��+*� ���'��"�?c��� �!
!�" �+ 

 

2
n n n

n

e

a b x c y
N

A

+ +
=  (3-33) 

 
),���� 

i j k k j
a x y x y= −  

i j k
b y y= −         

i k j
c x x= −  

j k i i k
a x y x y= −  

j k i
b y y= −         

j i k
c x x= −  

k i j j i
a x y x y= −  

k i j
b y y= −             

k j i
c x x= −  

 
	
� A

e
  #/�  ./- ���
��	��
��!
!�" �+ 4��� 2A

e 
2�3,����,�����+"!	  �+
��$�"'��$!�8+,�� �- 

 
1

2 1 ( ) ( ) ( )

1

i i

e j j j k i i j k k i j

k k

x y

A x y x y y x y y x y y

x y

= = − + − + −  (3-34) 

 
 #��"	"� �%�
��e
�9
���
�- ��1����6J��+*� ���'��"�?c��� ���$""�!
�- "� �-         

"�#��"��
��#������e
�9
�	"� ���
��'J&2�"�� ����.����,,��� 
3) $����$"���
���!
!�" �+ (element formulation) �2�$�,#
������$"����*!�� @.� 8+


��'J&2� 4���
�- ��  �-�/�����'( 
�- �� ���$%�#�&���$@,
���!8�363 �+�!
!�" �+ ������*� ��?�
$"���
���!
!�" �+$�"�2
���"���3,���"��'( �������� ,��	$,�� �1'��� 3.18 ����1�� �1'	��,�� �- 

 
11 12 13

21 22 23

31 32 33

i i

j j

k ke e e

K K K u f

K K K u f

K K K u f

     
     =     
          

 (3-35) 
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 4����
�� ),����3,���� [K]e [u]e = [f ]e ),� [u]e #/� �"��!�4+���3"�����#�����) , 	
�
���2��� e 	$,��2���������'( �"��!�4+��,���!
!�" �+ 4���$"���
���!
!�" �+,���
��� �%��'( ����
�1�$����
�- "��2�$�,#
������$"����*!�� @.� 8+
��'J&2� �-  � ���$����$"���
���!
!�" �+ 
4�����1�� �1'	��
��$"������ (3-35) $�"����%�3,�),� 

 - �!8����),���� (direct approach) �!8� �-$�"����*�3,��9.�����'J&2�����
����3,����� � 
������*�  'J&2����� � � �1'��� 1 "!�! ���� �-  4���3"�$�"���
���
����'
��� 	'
��./�� %�3'�*� 
���'J&2��  2 2�/� 3 "!�! ),�����3'3,� 

 - �!8����	'�e�  (variational approach) 2
�����$%�#�&
���!8���� �-#/� �%��'( ������ 
�%����2�2�/�$����6J��+*�  4����"/���%����2�#����%�$@,
��6J��+*�  �- 	
�� ���'( e
�2���!,$"��� 
�*!�� @.� 8+	
���/�� 3

���
����$�,#
������'J&2�����%�
��$ ����1� �����3��I��"�!8����	'�e�  
�'( �!8����,�-��,!"����*��� � *�����  � 
�����.�� ��!8�363 �+�!
!�" �+ 4���$�� �2&����'(  
'J&2����������������,�� )#��$���� 	
����"��@,��� ��� #/� �%��'( ��������6J��+*� 	'�e� ��� 
$�,#
������$"����*!�� @.� 8+
��'J&2� �-  � 4���'J&2�2
�� � * !,� ���'K!���!$�"���
$����$"���� @.� 8+
�- "�3,� 	��3"�$�"���2�6J��+*� 	'�e� ���$�,#
�����  �- 3,� 

 - �!8�������� -%�2 �������#��� (method of weighted residuals) �!8� �-���*��!8����$���� 
$"���363 �+�!
!�" �+���$"����*!�� @.� 8+),���� ),�3"��%��'( ��������6J��+*� 	'�e� ���
$�,#
��� 4���$�"��� %�3'�*�� ���$����$"���363 �+�!
!�" �+$%�2���'J&2�),����� � 3' 	
�
�1���,�2��'( �!8���� !�"���$@,� ���'���@��+�*����'J&2����� � � 'J��@��  

4)  %�$"���
��	��
��!
!�" �+���3,�"�'�������  (assembly) �'( $"�����"
������ 
���
�- �� ��� 1 2��	���
���?��1'����
��'J&2�����'( �!
!�" �+����4���'�����,��� n ) ,   
������2���!,����$"�����"4���'�����,���$"��������%� � ��-�$!-  n $"��� ),�	$,�3,�,�� �- 

 

 

11 12 13 1 1 1

21 22 23 2 2 2

31 32 33 3 3 3

1 2 3 ( ) ( 1) ( 1)

. .

. .

. .

. . . . . . . .

. . . . . . . .

. .

n

n

n

n n n nn n nsys n n sys n sys n

K K K K u f

K K K K u f

K K K K u f

K K K K u f
× × ×

     
     
     
     

=     
     
     
     
          

 (3-36) 
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 2�/��
�� ),����3,�,�� �- [K]sys [u]sys = [f ]sys ���$"������ (3-36) �"��!�4+ [K]sys ��"� 
#@?$"���!
��#��"�'( �"��!�4+$""��� �
���#/� [K]sys = [ ]T

sysK  	
�"�#@?$"���!
��������
�
@�"�� 
��#�����3"���������1 �+��!��?	 ��	��"@"
���"��!�4+ 4�����"�
���?���1���"�� �'( 
	�� (banded matrix) ���#@?$"���!,���
��� �- ������2���!,'��)�* +�����"��� ���.�� �
)'�	��"#�".!�����+ ),��9.��������!��� ���'K!���!����%��'( �����*��%� � ) ,�'( �%� � "��
�./�����������2���!,e
�9
������������� ),�$�"���.�� ��2���I��9.��#�����3"���������1 �+3��� 
2 ���#��"�%��./���*�� ���#%� �?���� �-  

 ��� %�$"�������
��	��
��!
!�" �+"�'������� �
���'( $"�����"
������
�%��'( ����"�2
����� 4���2
�����������
��� �- �'( 2
������������ $�"����%�3,�),�$�,�� �2"��
����1'����
��'J&2����"��!
!�" �+�����%� � "�� � 	
�2
����� �-���1� %�3'�*�� ���.�� �
#�".!�����+)'�	��",��� ),�$�"����%�#��"�
����3,�������������1'����
��'J&2�,���1'��� 
3.18 �
���#/� ������%����$����$"�����"
������4���'�����,��� 3 �!
!�" �+ 4 ) , ),���
	$,������"
���"��!�4+ [K]sys �./���'( �������� 

 �!8���� �-�%�3,�),� �
�� $"���
���!
!�" �+���� � .���"��-��%����2"���


��) ,
���	�� � 	
�	����-�
��	��
��!
!�" �+�2��1����� ),�����1'��� 3.17 [K]e 
���!
!�" �+��� 1 
'����� ,���) ,2"���

 1, 2 	
� 4 $��  [K]e 
���!
!�" �+��� 2 '�����,���) ,2"���

 
2, 3 	
� 4 	
� [K]e 
���!
!�" �+��� 3 4����'( �!
!�" �+$@,����'�����,���) ,2"���

 1, 3 	
� 
4 ),�$�"����
�� 	$,��2��2I 3,�,�� �- 

 

[ ] 1 1 1

1
2 2 2

3 3 3

(1) (2) (4)

(1)

(2)

(4)

e

a b c
K

a b c

a b c

 
 
 =
 
 
 

 (3-37) 

 

[ ] 1 1 1

2
2 2 2

3 3 3

(2) (3) (4)

(2)

(3)

(4)

e

d e f
K

d e f

d e f

 
 
 =
 
 
 

 (3-38) 
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[ ] 1 1 1

3
2 2 2

3 3 3

(1) (3) (4)

(1)

(3)

(4)

e

g h i
K

g h i

g h i

 
 
 =
 
 
 

 (3-39) 

 
 �"/��"�2"���

�%������-����	�� � 	
�	����-��%����$�"'��$!�8!��@����
���"��!�4+


���@��!
!�" �+	
�� ��� �-  %�$�"'��$!�8!����� � �2
�� �- "��$�
�� �"��!�4+������" [K]sys 

�*�  #��$�"'��$!�8!� b3 4�����1�� 	�� � ��� 4 	����-���� 2 
���!
!�" �+������� 1 ��3''���K��1�
� 	�� � ��� 4 	����-���� 2 
���"��!�4+������",��	$,�� $"��� �'( ��  

 

1 1 1 1 1 1

2 2 1 1 2 1

2 2 2 2 2 2

3 3 3 3 3 3 3 3 3

(1) (2) (3) (4)

(1)

[ ] (2)

(3)

(4)

sys

a g b h c i

K a b d e c f

g d e h f i

a g b d e h c f i

 
 + + 
 = + +
 

+ + 
 + + + + + 

 (3-40) 

 
5) '���@��+��/�� 3
��!�"�� 	
���/�� 3

���
� (initial and boundary conditions) ���"�#��"

$�,#
������'J&2�
�� $"�����"
�������./��2�#��e
�9
�  ),����	��$"�����"
������
�./��2����3"�����#�����) , 

6) #%� �?2�#�����	'����� � �������������3' �"/������#��e

�.8+���) ,���� � 	
��
$�"���#%� �?2�#�����	'����� � ���$�".� 8+���e

�.8+ �-���3'3,�  

 
���
�- �� ��-� 6 
�- ��  ���2I 3,���� ��������!8�363 �+�!
!�" �+�'( �!8����"�	��	e �'( 


�- �'( ��  ),�"�$�� ���$%�#�&���$@,#/����$����$"���
���!
!�" �+� 
�- �� ��� 3 �2�$�,#
���
���$"����*!�� @.� 8+
��'J&2�����%�2 , 	
�� 
�- �� ��-� 6 
�- ��  �-�� %�3'.�� �
�- �'( 
)'�	��"#�".!�����+�./��*���� ���#%� �?���3' 
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3.7  �"5' 
�� �-3,� %��$ ������	
�2
��������� � ���������
�������� �!��� �� 3,�	�� �����
�� 

��������� ��)����'��"������ 0��4"7�&������ ���.�).�-:������&�-�����&����& ,�����.�).�-:� 
�����&�-�-����& ����8!������
�- �� ���� � c��� ���#%� �?,������.�).�-:������&�-�����&����& 
,�����.�).�-:������&�-�-����&  ),�3,��
����9.��$�� ����� %�"��*�2�/�$�� ������1��
����������
� �����  �  3' ��- � �- �./� � �'( '��)�* +	
� �'( 	 ����� ��� % �3''���@��+ �*� 	�� 
e1�,%�� ! �� �!��� 



 
����� 4 

��	
���
���������������������
�	������
���������������	��	��� 

 
4.1  ����� 

 ��������	
��
����������������������������������������������� 3 ������!
���"#$����%#� 
!$
�&��!��������������$��#'��%#
� (��������� 4 ��
���*+����������,-����*���.�&��/
0����
!��������������������������������������1���2"��'�0������3����0��0'����3�%��0	� �������
��.4���/
�.*��2�0���0����#
�����20��0'� �$��$
�������
�-���
�0��%���1�#������2�&5�0&��
!��0������3�(����&$��1�0��0'����3�%��0	� %#�*���.�&�*67"��'�!���!&&������������� 
������������������� ������1���2"��'�0������3� 
 

4.2  #��$��%�����
��&'��&	���������������������������#	��(�    
01�"�$�*67"��'�5$������3�%�� 2 ��&����������$�9�� ��������	
��
�������������
	 

0����,�!�����
&��0������� (4-1) 

 

  
2 2

2

2 2
( , )g x y

x y

ϕ ϕ
ϕ

∂ ∂
∇ = + =

∂ ∂
                                                           (4-1) 

 
���0	&���.�$���%��&���#��%#���.�$����$��$���� 2 ����
 

 
2

2 2

( 1, ) 2 ( , ) ( -1, )

( )

i j i j i j

x x

ϕ ϕ ϕ ϕ∂ + − +
=

∂ ∆
                                                            (4-2) 

 
2

2 2

( , 1) 2 ( , ) ( , -1)

( )

i j i j i j

y y

ϕ ϕ ϕ ϕ∂ + − +
=

∂ ∆
                                                            (4-3) 
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�������������(����������$���
�*+��	*0���"#�����$&.�$0 ( x y h∆ = ∆ = ) %���'�0������� (4-2) %#�  
(4-3) ��0������� (4-1) ����
 

 

2 2

( 1, ) 2 ( , ) ( 1, ) ( , 1) 2 ( , ) ( , -1)
( , )

( ) ( )

i j i j i j i j i j i j
g x y

x y

ϕ ϕ ϕ ϕ ϕ ϕ+ − + − + − +
+ =

∆ ∆
                      

 
2( 1, ) 2 ( , ) ( 1, ) ( , 1) 2 ( , ) ( , -1) ( , )i j i j i j i j i j i j h g x yϕ ϕ ϕ ϕ ϕ ϕ+ − + − + + − + =  

 
24 ( , ) ( 1, ) ( 1, ) ( , 1) ( , -1) - ( , )i j i j i j i j i j h g x yϕ ϕ ϕ ϕ ϕ= + + − + + +  

 
        21

( , ) [ ( 1, ) ( 1, ) ( , 1) ( , -1) - ( , )]
4

i j i j i j i j i j h g x yϕ ϕ ϕ ϕ ϕ∴ = + + − + + +                 (4-4) 

 
%���1�#��0��0'����3�%��0	� : �'�0������3������������������20��0'����3�%��0	� 

0����,��������
�
��0������� (4-5) (Christopoulcs, 1995) 

 
2

2

2 2

1
( )( ) ( ) 0

t t
µσ

ν
∂ ∂

∇ − − =
∂ ∂

E E
E                                                                                 (4-5) 

 
M����� E  ��� 0������3� (electric field) 
  t   ��� ��#� (time) 
 µ  ��� 0(��R��R-���
���%�'�"#S� (permeability) 
 ν   ��� ������S������%��'������ (propagation velocity)  
 σ  ��� 0(���1�������3� (conductivity)  
 

������S������%��'������!��0������3�0����,��������
���	*����0$��$�����"�'�� 
0(�����������3� (permittivity : ε) �$�0(��R��R-���
���%�'�"#S��$�0������� (4-6) 

 
1

ν
µε

=                                                                                       (4-6) 
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M����� 0  rµ µ µ=  %#� 0  rε ε ε=  ����� rµ  ��� 0(��R��R-���
���%�'�"#S�0$��$��� 
%#� rε  ��� 0(�����������3�0$��$��� �����������������������2����1�"���"
��0(�������5
�$���*R-�� -7

0 4 10µ π= ×  H/m, 1.00000037rµ = ,   1rε = , -12
0 8.854 10ε = ×  F/m %#� 0σ =  

%���'��������&���&'�� ^ �$�0������� (4-6) #���0������� (4-5) ����
 

 
2

2

2
( ) (0)( ) 0

t t
µε µ

∂ ∂
∇ − − × =

∂ ∂
E E

E  

 
2

2

2
( ) 0

t
µε

∂
∇ − =

∂
E

E                                                          (4-7) 

 
����.20��$&�!����������*+� time-harmonic ����
 

 
j

t
ω

∂
≈

∂
E

E                                                 (4-8) 

 
2

2

2
t

ω
∂

≈ −
∂

E
E                                                                         (4-9) 

 
%���'�0������� (4-9) ��0������� (4-7) ����
0�����������'�0������3�!��M�����

&
����������2��$�0������� (4-11) 

 
2 2 ( , ) 0i jµεω∇ + =E E                                       (4-10) 

 
�������#'����!
��&
��-���
 

 
2

2 2

( 1, ) -2 ( , ) ( -1, ) ( , 1) -2 ( , ) ( , -1)
  - ( ) ( , )

( ) ( )

i j i j i j i j i j i j
i j

h h
µεω+ + + ++ =E E E E E E

E  

 
2 2( 1, ) ( -1, ) ( , 1) ( , -1) -4 ( , )  - ( ) ( , )i j i j i j i j i j h i jµεω+ + + + + =E E E E E E  
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2 2( 1, ) ( -1, ) ( , 1) ( , -1) -(4- ( )) ( , )  0i j i j i j i j h i jµεω+ + + + + =E E E E E  

 
2 2(4 - ( )) ( , )  ( 1, ) ( -1, ) ( , 1) ( , -1)h i j i j i j i j i jµεω = + + + + +E E E E E  

 
�
��0.�����
 

 

2 2

1
( , ) [ ( 1, ) ( -1, ) ( , 1) ( , -1)]

(4- )
i j i j i j i j i j

hµεω
= + + + + +E E E E E            (4-11) 

 
���0������� (4-11) ������"
�"S�(�����*���.�&��/
������������������������������ 

0�����$��#'�����*+�&$�%���'�0������3�!��M�����&
����������2������ 1 �.� %#�0����,
�!����"
��	'���	*M��(����M���0�
�������������������������������� ��
�$��	*��� 4.1 

 

 

 
�	*��� 4.1 M���0�
��!�������������������������������� 

 
����	*��� 4.1 ����
�'� 2 24-b hµεω=  1, 1, 1 %#� 1 ��� �'�0$�*��0����c"�
�&$�%*�!��

0������3� 2 &1�%"�'����$� E(i,j), E(i+1,j), E(i-1,j), E(i,j+1) %#� E(i,j-1) ���*���d(����
0������� (4-11) &��#1��$� ��������
01�"�$���������2�����	'&��!��%#��.�!����������
#$�42�M���0�
��M�����%&�&'���*����	*��� 4.1 R-��0����,%0��M���0�
��%#�0��������/

�������'�0������3� 2 �����2!��%��&'�� ^ �$������#������&��&������� 4.1 �$���
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&������� 4.1 ���*����2�'������������������������������� 2 &1�%"�'�M�������2�'�!��    

-b 1

1

1

(i-1,j) (i+1,j)

(i,j-1)

2 2

1
( , ) [ ( 1, ) ( -1, ) 2 ( , -1)]

(4 )
i j i j i j i j

hµεω
= + + +

+
E E E E

-b 11

1

(i,j)(i-1,j) (i+1,j)

(i,j+1)

2 2

1
( , ) [ ( 1, ) ( -1, ) 2 ( , 1)]

(4 )
i j i j i j i j

hµεω
= + + + +

+
E E E E

-b 1

1

1

(i,j) (i+1,j)

(i,j-1)

(i,j+1)

2 2

1
( , ) [2 ( 1, ) ( , -1) 2 ( , 1)]

(4 )
i j i j i j i j

hµεω
= + + + +

+
E E E E

-b

1

1

1

(i,j)(i-1,j)

(i,j-1)

(i,j+1)

2 2

1
( , ) [2 ( -1, ) ( , -1) 2 ( , 1)]

(4 )
i j i j i j i j

hµεω
= + + +

+
E E E E

1

1

(i,j) (i+1,j)

(i,j-1)

-b/2

2 2

2
( , ) [ ( 1, ) ( , -1)]

(4 )
i j i j i j

hµεω
= + +

+
E E E

1

1

(i,j)

(i,j-1)

-b/2

(i-1,j)

2 2

2
( , ) [ ( -1, ) ( , -1)]

(4 )
i j i j i j

hµεω
= +

+
E E E
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&������� 4.1 ���*����2�'������������������������������� 2 &1�%"�'�M�������2�'�!�� (&'�) 

  

1

1

(i,j) (i+1,j)

(i,j+1)

-b/2

2 2

2
( , ) [ ( 1, ) ( , 1)]

(4 )
i j i j i j

hµεω
= + + +

+
E E E

-b1

1

(i,j)(i-1,j)

(i,j+1)

2 2

2
( , ) [ ( -1, ) ( , 1)]

(4 )
i j i j i j

hµεω
= + +

+
E E E

 

 
4.3  ��	
���
�
�������������
�	������
���������������	��	��� 

���������0����0������3�!������0��0'����3�%��0	��*+�0���������	'���	*0�����/��
��.�$��� R-���*+������������"�e#�9#�%��%�'�&�� �$��$
� ������"
0����,�1���2"��'�
0������3��������!-
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�&������1��������&'�� ^ �$���
 

4.3.1 ��	���#���	�����+,-����'.�/� 
 01�"�$�������$���
��������/
5-�4�������"#��!��� ���������������3� 1 ��0��

*������*�
���������3�!��� 220 V, 22 kV %#� 69 kV �������3� 3 ��0 ��*������*�
��
�������3�!��� 69 kV, 115 kV, 230 kV %#� 500 kV R-����"$�!
�������������%������!��
��
����5-�4���
 ��!���&$���'���9����������3� 1 ��0��'��$
� ������"
���"S�(��������%������
�"
�$����� 

 !$
�&��%�������������%�'���
����!������0��0'�����*+������	*0���"#�����$&.�$0 
M��e'������/����&'��$���"�'��M��&'�� ^ (�������� ������%������%#��.�&'��/����M��  
&'�� ^ ��
�/
M*�%��� MATLABTM ����$m��!-
� M�������1����M������/
(�������� 1 ��0 �$���
 
����!��� 220 V ���1����M���$
�"�� 6,561 M�� ����!��� 22 kV ���1����M���$
�"�� 
11,421 M�� %#� ����!��� 69 kV ���1����M���$
�"�� 13,041 M�� &$���'��������%������ 
!���������3� 1 ��0!��� 220 V, 22 kV %#� 69 kV 0����,%0����
�
���	*��� 4.2, 4.3 %#� 4.4 
&��#1��$� ��������
(����%&'#��	*�$���
%0��(��!��� ������"
�"S�,-�����#�����������
���%������%#�����/����&'���"�'��M����
��'��/$��������!-
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Rectangular grid design for calculation FDM in 69 kV Transmission line system
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4.3.2 ��	0	��������	1���.-��02�	��� 
 !$
�&����
�*+�����1�0����!��%&'#�M�������(���������$
�"����*�����
����$� ����
0�������!������ ���!$
�&����"$�!
���� 4.3.1 ,
��1����%�'�#$�42��	*�'��!��
*67"�����*+�M���'���$
�"�� n M�� ���'��"
��������0�������R-��*������*�
��0����
�'���$
�"�� n 0���� �$��$
��-���
0�������!��������$���
 ��� 

 
Ax b=                        (4.12) 

 
11 12 13 1 1 1

21 22 23 2 2 2

31 32 33 3 3 3

1 2 3 ( ) ( 1) ( 1)

. .

. .

. .

. . . . . . . .

. . . . . . . .

. .

n

n

n

n n n nn n nsys n n sys n sys n

A A A A x b

A A A A x b

A A A A x b

A A A A x b
× × ×

     
     
     
     

=     
     
     
     
          

                  (4-13) 

 
����
  A ��
 ����������������
	�������  
 x  ��
 ������� !!"��#�$�	 ��������� % &'��(��	)�*&��	 + 

 b  ��
 �����	,�$�
��#�������'� % &'��(��	)�*&��	 + 
 
 -��(���.
�#� 4.3.1 ����

�-��%�,�
3�������	���*�
	���� !!"� 1 �!� -��(4����

,�$3�,�
�#)�*�#��#�#�&�&��	��� )*$�#�#��&�&��	�����5���	�
�67	�����&�&��	�#����*�75��
	���5

��&6��#��#
$8�,�$3����� ����
�#�����&�&��	�����(���	��&6����*�75� ��5�(��$67	������
	����#$�
���# ! ���*�!�!
�������-�&.
	���*�����9#�$���9	3(��&������,�
$
���	 !!"��
	��&6��&�9�
���* �
��
3(.:9����'���%������� !!"��#������-'�9
	:93�9.��#$	�(&����%�-��	����#���* �'�(���
,�$3�	����-�$�#5-��(4�����#��&6��#��&�&��	����
#$	 2 ���*������5� ��
 
���< ��� ���	��$�
	���=$� 
�%�$��3�.	��)��<�
����
6�
 �7�	��5	�
	�#����,�
$
���	 !!"����
���� ( rε ) ������� 1 �9� 5 
&��9'�*�� -��������#� (4-11) ������1��-�,-��'�0(�����������3�����
0������%&'#�M�����
�1��-��.2#$�42�������
��$&,.��"�'��
���< ��� ���	��$���=$� �����%�#��'��7	�?
��
���<-���

&��0������� (4-14) %#�0'�������%�#��'��7	�?
�����	��$���=$� -��'����
 *.*�	������#� (4-15)   
R-��������.0����&���	*�'����.4�����1�������.&���	*��� 4.5 
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05ε ε=

1
8
0
 c
m

 
 

�	*��� 4.5 %���1�#����.4��01�"�$������������������������������� 

 

2 2

0

1
( , ) [ ( 1, ) ( -1, ) ( , 1) ( , -1)]

(4 - )
i j i j i j i j i j

hµωε
= + + + + +E E E E E           (4-14) 

 

2 2

0

1
( , ) [ ( 1, ) ( -1, ) ( , 1) ( , -1)]

(4 - 5 )
i j i j i j i j i j

hµωε
= + + + + +E E E E E         (4-15) 

 
 �
�-���#5-���	��& *.��� ,�$3�)��	��.�	�
	����-��#�����%(�7�	�#�)�*�#���

����
�&�
��(���	
���<������=$� �#��#�����&�&��	����
	�,�
$
���	 !!"� �7�	�����%*�	�9���
�����6�����%�����)�*3(�� % �����%�
$��������(���	���5
��&6��#��&�&��	��� *.*�	�#5 

 -���@�
	����������%�
$��������(���	�����%�#��#����,�
$
���	 !!"�
�&�&��	���-���
3(.���*��� *
��94������
	�
	�����%�#���������� (D1n=D2n) ����	*��� 4.6 0����,
�!���0������� (4-16) ��
�$�0������� (4-17) 
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         ∫∫ =×=×
11

0dlEdlD ε                                                                                  (4-16) 

 

1ε

2ε

 

 
�	*��� 4.6 �����%�
$��������(���	�����%�#��#����,�
$
���	 !!"��#��&�&��	��� 

 
1 2 1 2 1 2

0 1 1 2 2 3 4

( ) ( ) ( )
4

2 2 2

ε ε ε ε ε ε
ε ε

+ + +
= + + +E E E E E  

 
1 2

1 2 0 1 1 2 3 2 4

( )
2( ) ( )

2

ε ε
ε ε ε ε

+
+ = + + +E E E E E  

 
1 2

0 1 2 3 4

1 2 1 2

1 1

2( ) 4 2( ) 4

ε ε
ε ε ε ε

= + + +
+ +

E E E E E                                            (4-17) 

 
4.3.3 ��,������	���&��#%���,�����
�������&  

 �'�(�����5�&
�������$��&��	��
� ������&.��9��	��
� �����
���&�#���#�$��.
	 -��#           
2 �����%�#��'�(�*�	��
� �����
� ��
 &���'�3���$��	���)��<�
����
6�
 )*$����#��'�(�*3(.&���'�
3���$��	-���A�������� !!"� �7�	������� !!"��#��"
�3��3(.������������6�'���%(� *.-��
������#� 3.31 3����#� 3 )*$���	�#�&.
	�����'�(���3�.�'���%(�������� !!"� ��
 ���<��$� !!"�
�
	&���'� ��<�#&���'� ��������8	��(���	&���'����
�5�*�� �9����
���*�#�&.
	����'���%  ����

�'���%(����*�	�9��� *.�9.��4�'������5� �3��3�����&
��  b % &'��(��	�6�)�*�#��#���&���9�9'�*��
�6���A�����*#$������� % &'��(��	)�*�
	&���'���5� �
��
�&�#$��'�(���(����:9�?9$&�
 � 

           



 

54 

 ����������� !!"�-��)��<�
����
6�
���1�"���"
M��5$������,���*+��	*0���"#���
e��e
������!���  5×10 cm2  �����0������3��������������������2M��5$������,��M�����!���
10×20  cm2  (nokia3210)  �$ ��	*���  4 . 7 (�)  %#�0����,���%������01 �"�$��� ��� ������ 
���������������������
�$��	*��� 4.7 (!) �9��'�����	�#���5	 6 -�*�
	)��<�
����
6�
 �3��$�	����&
�� 
b % &'��(��	�6�)�* �
��
�&�#$��'�(���(����:9�?9$&�
 ��"�������1����������$�����1�"��
�������!�'�!��(����&$��1�0��0'� 

 

 
          (�)                                            (!)  

 
�	*��� 4.7 �������!�'�!���!&!��M��5$������,��01�"�$� 

         ������������������������������ 
      

4.3.4 
���
�3�
��&4
#0	&��� 5 6��7�	��� 

 "#$�������%������%#��1����*�����0����M��!-
��*+����� (A) �$�
*���.�&��������!�����&
�%#��������!�'�!���!&�"
�$����� (b) %#
� ��0����,�1���2"��'�
0������3� 2 &1�%"�'����M��&'�� ^ ���&
����������'� (x) ��
�$���
 

 -��������#� (4-12) -������6(�������� !!"� 2 &1�%"�'����M��&'�� ^ ��
�$�
0������� (4-18) 

 
-1

x A b=    
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( 1)

1

1 11 12 13 1 1

2 21 22 23 2 2

3 31 32 33 3 3

1 2 3( 1) ( 1)

. .

. .

. .

. . . . . . . .

. . . . . . . .

. .
sys n

n

n

n

n n n n nn nsys n sys n

x A A A A b

x A A A A b

x A A A A b

x A A A A b
×

−

× ×

     
     
     
     

=     
     
     
     
          

 (4-18) 

 
����
  A  ��
  ����������������
	�������  
 x   ��
  ������� !!"��#�$�	 ��������� % &'��(��	)�*&��	 + 

 b   ��
  �����	,�$�
��#�������'� % &'��(��	)�*&��	 + 
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�$�
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5.2  $��%�� �����
��&'��&	���������������������������$	��(� 

2E*+�5�#9G+*78*2
*����I*.�� 2 �	D	&
����4	)56-*) ��������	
����
���	�	��
�� 
	��
:56�?#2�)*��'	1�
345

�0�1#9G+*D8*1 K &+(��?8&
�?#2�)*���% (5-1) 

 
2 2

2 2
0

x y
D D G Q

x y

φ φ
φ

∂ ∂
+ − + =

∂ ∂
                                                                        (5-1) 

 
=6���%  φ  7;� �91)�'5
&6 K ��%D(�1)*���*�78* 

x
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y
D , G  .�� Q  7;� 78*71��%25�#��2	�
	R 

 
:*)2�)*���% (4-5) .��:E*��12*�281���I*.�12?178*2
*����I*��%)��:*������	��/ 

2*�281���I*.�12?12*�*�<������7��1.��:56�?#&+�8 �4;%�+*78*25�#��2	�
	R+
(*4*�*�	�D���D5�.#�   
D8*1 K (

x
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y
D , G  .�� Q ) >C%1���*�������6651
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2

2

2 2

1
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µσ

ν
∂ ∂

∇ − − =
∂ ∂

E E
E                                                                                       

 
2 2 2

2 2 2 2

1
( )( ) ( ) 0

x y t t
µσ

ν
∂ ∂ ∂ ∂

+ − − =
∂ ∂ ∂ ∂

E E E E                            (5-2) 

 
�
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2 2 2
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1
( )( ) 0

x y tν
∂ ∂ ∂

+ − =
∂ ∂ ∂

E E E                                                                          (5-3) 

 

:*) 1
ν

µε
=   .��73/2��5D	0�1������%�#$
 time-harmonic 78* 

2
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2
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ω
∂

≈ −
∂

E
E  .�
78*�1&
 

2�)*���% (5-3) :��6(       
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2 2
2

2 2
0

x y
µεω

∂ ∂
+ + =

∂ ∂
E E

E                                 (5-4) 

 
�#���������2�)*���% (5-1) )5� (5-4) �4;%�+*78*25�#��2	�
	R 

x
D , 

y
D , G  .�� Q  :��6( 

 
1

x y
D D= =  

2
G µεω= −                                                                                    (5-5) 

0Q =  
 

5.3  ��	
���
�
�������������
�	������
����������� ������ 
2;��
;%�1:*)2�)*��'	1�
345

��4;%�&'(&
)*�7E*
�/+*2
*����I*0�1����2*�281

���I*.�12?1 651.261&
2�)*���% (5-4) +*,��-��.�8
D�1�6(�*)�4�*�6(���+D3��%D	6��?8&
�?#
2�)*��'	1�
345

��8��0
*6 2 �	D	 651
5A
)*�+*78*,��-��=6�#���*/6(����������	
����
�� 
�	�	��
��:C1<?)
E*�*&'(&
)*�
�A >C%1#��)���#6(��05A
D�
)*�6E*�
	
1*
D8*1 K 651
�A 

5.3.1 ��	���$���	�����*+,����'-�.� 
 2E*+�5�1*
�	:5�
�A������%&'(LC)@*������+�*�0
*6 ��	%�:*)�������I* 1 ��2:�

#��)���#6(���������I*0
*6 220 V, 22 kV .�� 69 kV �������I* 3 ��2:�#��)���#6(��
�������I*0
*6 69 kV, 115 kV, 230 kV .�� 500 kV >C%1&
+5�0(�)*���).��)�	60�14;A
��%
LC)@*
�A :�0��)D5���8*1�������I* 1 ��2.�� 3 ��2 �4;%�&+(�+F
)*���).��)�	6��%.D)D8*1)5

B*�&
.D8������ =6�2	%1��%.D)D8*1)5
��8*1'56�:
��+�8*1��������	
����
��6	��������
��)5�
��������	
����
���	�	��
����%�+F
�6('56 7;� )*�D�)�	6�?#2*��+��%��6(����������	
����
���	�	��
��
��%��0
*6��F)+�;�&+G8��%.#��#��%�
D*�7�*�D(�1)*�&
)*��	�7�*�+���	��/4;A
��%��%2
&:B*�&

28�
D8*1 K 0�1���� 

 05A
D�
.�)��	%�:*))*�.�814;A
��%0�1����2*�281��)�#$
)�	6�?#2*��+��%��=6�
2��D	�5)@/�)*�)��:*�0�1,��54
�=6�#���*/ / DE*.+
81&6 K �
�	�	��
���#$
.���'	1�2(
 
>C%1,8*
)*��';%��D8�)5
��+�8*1=
6.���	�	��
��D8*1 K  )*���).��)�	6�#$
�?#�	�	��
��D8*1 K �6(
&'(=#�.)�� MATLABTM ��%45b
*0CA
 =6�:���:E*
�
=
6.���	�	��
����%&'(B*�&
�������I* 
1 ��2.�� 3 ��2=6����*�������6651
�A �������I* 1 ��2 ����0
*6 220 V ��:E*
�
=
6�5A1+�6 
1,776 =
6.��:E*
�
�	�	��
����8*)5� 3,388 �	�	��
�� ����0
*6 22 kV ��:E*
�
=
6�5A1+�6 
3,006 =
6 .��:E*
�
�	�	��
����8*)5� 5,788 �	�	��
�� ����0
*6 69 kV ��:E*
�
=
6�5A1+�6 
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3,416 =
6.��:E*
�
�	�	��
����8*)5� 6,588 �	�	��
�� D5���8*1)*���).��)�	60�1�������I* 
1 ��20
*6 220 V, 22 kV .�� 69 kV 2*�*�<.261�6(6(���?#��% 5.1-5.3 D*��E*65�  28�
����
���I* 3 ��2:���	%�:*)����0
*6 69 kV ��:E*
�
=
6�5A1+�6 495 =
6.��:E*
�
�	�	��
��
��8*)5� 924 �	�	��
�� ����0
*6 115 kV ��:E*
�
=
6�5A1+�6 628 =
6 .��:E*
�
�	�	��
��
��8*)5� 1,176 �	�	��
�� ����0
*6 230 kV ��:E*
�
=
6�5A1+�6 847 =
6.��:E*
�
�	�	��
��
��8*)5� 1,592 �	�	��
�� 2E*+�5�D5���8*1)*���).��)�	60�1�������I* 3 ��20
*6 69 kV, 
115 kV, 230 kV .�� 500 kV 2*�*�<.261�6(6(���?#��% 5.4-5.7 D*��E*65� 
�):*)
�AB*�&
.D8��
�?#�51�6(.261B*40�*� �4;%�&+(�+F
<C17�*�������6&
)*���).��)�	6.��)*��';%��D8���+�8*1
=
6�6(��8*1'56�:
�	%10CA
 

5.3.2 �/���01���	2	����3��4��� ������    
 05A
D�

�A�#$
)*���;�)�?#.��0�1�91)�'5
)*�#���*/B*�&
�	�	��
��  =6���;%�

2��D	&+(�5)@/�)*�)��:*�0�1,��-���
�	�	��
���#$
.���'	1�2(
:��6( 
 

( , )
i i j j k k

x y N N N= + +E E E E                                                                        (5-6) 

 
=6���% N

n
   n = i, j, k 7;� �91)�'5
)*�#���*/B*�&
�	�	��
�� .�� En  n = i, j, k 7;� ,��54
�0�1 

78*2
*����I*�'	1��)�D���&
.D8��=
6 (i, j, k) 0�1�	�	��
�� >C%1 
 

2
n n n

n

e

a b x c y
N

+ +
=

∆
                                                                                                (5-7) 

 
=6���% 

i j k k j
a x y x y= − , 

i j k
b y y= − ,          

i k j
c x x= −   

j k i i k
a x y x y= − , 

j k i
b y y= − ,         

j i k
c x x= −               (5-8) 

k i j j i
a x y x y= − , 

k i j
b y y= − ,         

k j i
c x x= −  

 
.�� 

e
∆  7;� 4;A
��%0�1.D8���	�	��
�� >C%1+*�6(:*)6�������	.

D�0�125�#��2	�
	R651
�A 

 
 
 
 
 
 
 
 



 

60 

 

1
1

1
2

1

i i

e j j

k k

x y

x y

x y

∆ =                                                                           (5-9) 

 

 
 

()) )*�.�81)�	6�?#2*��+��%��.��)*��';%��D8���+�8*1�	�	��
��B*�&
=7�12�(*1 

 
Triangular grid design for calculation FEM in 220 V Transmission line system

distance x-axis (m)  
 

(0) B*4)*�0�*�)*�.�81)�	6.��)*��';%��D8��	�	��
���
��	��/��%2E*75G 
 

�?#��% 5.1 =7�12�(*10�1�������I* 1 ��20
*6 220 V 
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()) )*�.�81)�	6�?#2*��+��%��.��)*��';%��D8���+�8*1�	�	��
��B*�&
=7�12�(*1 

 

 
 

(0) B*4)*�0�*�)*�.�81)�	6.��)*��';%��D8��	�	��
���
��	��/��%2E*75G 
 

�?#��% 5.2 =7�12�(*10�1�������I* 1 ��20
*6 22 kV 
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()) )*�.�81)�	6�?#2*��+��%��.��)*��';%��D8���+�8*1�	�	��
��B*�&
=7�12�(*1 

 

 
 

(0) B*4)*�0�*�)*�.�81)�	6.��)*��';%��D8��	�	��
���
��	��/��%2E*75G 
 

�?#��% 5.3 =7�12�(*10�1�������I* 1 ��20
*6 69 kV 
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()) )*�.�81)�	6�?#2*��+��%��.��)*��';%��D8���+�8*1�	�	��
��B*�&
=7�12�(*1 

 

 

 
(0) B*4)*�0�*�)*�.�81)�	6.��)*��';%��D8��	�	��
���
��	��/��%2E*75G 

 
�?#��% 5.4 =7�12�(*10�1�������I* 3 ��20
*6 69 kV 
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()) )*�.�81)�	6�?#2*��+��%��.��)*��';%��D8���+�8*1�	�	��
��B*�&
=7�12�(*1 

 

 

 
(0) B*4)*�0�*�)*�.�81)�	6.��)*��';%��D8��	�	��
���
��	��/��%2E*75G 

 
�?#��% 5.5 =7�12�(*10�1�������I* 3 ��20
*6 115 kV 
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Triangular grid design for calculation FEM in 230 kV Transmission line system

 
 

()) )*�.�81)�	6�?#2*��+��%��.��)*��';%��D8���+�8*1�	�	��
��B*�&
=7�12�(*1 

 

 

 
(0) B*4)*�0�*�)*�.�81)�	6.��)*��';%��D8��	�	��
���
��	��/��%2E*75G 

 

�?#��% 5.6 =7�12�(*10�1�������I* 3 ��20
*6 230 kV 
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()) )*�.�81)�	6�?#2*��+��%��.��)*��';%��D8���+�8*1�	�	��
��B*�&
=7�12�(*1 

 
Triangular grid design for calculation FEM in 500 kV Transmission line system

distance x-axis (m)        
 

(0) B*4)*�0�*�)*�.�81)�	6.��)*��';%��D8��	�	��
���
��	��/��%2E*75G 

 
�?#��% 5.7 =7�12�(*10�1�������I* 3 ��20
*6 500 kV 
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  5.3.3 ��	�	�������	����� ������ 
 05A
D�

�A<;��8*�#$
05A
D�
��%2E*75G��%2360�1�	
����
���	�	��
��  >C%1�#$
)*�2�(*1

2�)*�0�1�	�	��
��&+(2�67�(�1)5�2�)*��'	1�
345

�0�1#9G+*D8*1 K 2E*+�5�#9G+*0�1���� 
 2 �	D	 �*1��������	
����
���	�	��
��:�D(�1:562�)*��'	1�
345

�0�1#9G+*&+(��?8&
�?#.��
�5%��# 651.261&
2�)*���% (5-1) )8�
��%:��0(*2?8)*�2�(*12�)*�0�1�	�	��
��D8��# (Larry, 1984) 

 
2 2

2 2
0

x y
D D G Q

x y

φ φ
φ

∂ ∂
+ − + =

∂ ∂
 

 

0
e

n e
W Rd

∆

− ∆ =∫                                                                       (5-10) 

 
 &
����0�12�)*��'	1�2(
2*�*�<7E*
�/+*78*�6( =6��*L5�)*�#���*/0�1)*�

#���3)D��	
�)*�<8�1
AE*+
5)�L@D)7(*1 (weighting functions) 6512�)*���% (5-10) &
#9::3�5
)*�
#���3)D��	
�)*�<8�1
AE*+
5)�L@D)7(*1<;��#$
�	
���%<?):56&+(�#$
�	
���%
	����%236&
)*�#���3)D�&'()5�
#9G+*D8*1 K .���	
�
�A�512*�*�<:E*.
).�)�8����)�#�6(��) �'8
 �	
�0�1)*�����7	
 (Galerkin) >C%1
����	)>���%�)	60CA
:*)�	
�
�A #)D	.�(�:���7�*�2��*D� :C1)8�&+(�)	6#��=�'
���8*1�*)&
)*�
45b
*=#�.)��7��4	��D����4;%�&'()5�#9G+*0
*6&+G8 2E*+�5�)�/�����#9G+* 2 �	D	)*�2�(*1
2�)*�0�1�	�	��
��6(��)*�<8�1
AE*+
5)�L@D)7(*1��+�5))*�651
�A 7;� )*�.�
78*,��-��
=6�#���*/�1&
2�)*���% (5-1) :���8)8�&+(�)	678*��8*)5�L?
�� +*).D8:���78*��8*)5� R .�
       
651.2616(��2�)*���% (5-11) 

 
2 2

2 2x y
R D D G Q

x y

φ φ
φ

∂ ∂
= + − +

∂ ∂
                                                                   (5-11) 

 
=6���% φ  7;�D5�.#���%��8��*�78* 
 

 >C%1  R ����)�8*�L@D)7(*1  (residual) �#$
78*,	64�*6��%�)	60CA
:*))*�&'(,��-��
=6�#���*/>C%1��8&'8,��-��.�8
D�10�1#9G+* �L@D)7(*1 R ��%�)	60CA
7����78*D%E*��%236 �4;%�,�
�-��=6�#���*/��%�)	60CA
:���78*���%�1D�1�*)��%236 .��&
1*
�	:5�
�A�	
�)*�<8�1
AE*+
5)�L@D)7(*1
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�6(&'(�	
�0�1)*�����7	
 (Preston, Reece, and Sangha, 1988) .�� (Kim, Kwon, and Park, 1999) >C%1
�	
�
�A2*�*�<)���E*�6(=6�)*�7?/�L@D)7(*1 R 6(���91)�'5

AE*+
5) (weighting function: W) .�(�
�	
�	�)��D��6�5A1=6��
0�1�	�	��
�� (

e
∆ ) .��)E*+
6,���%�6(&+(��8*)5�L?
�� 
5%
7;� 

 

0, 1,2,3
e

n e
W Rd n

∆

− ∆ = =∫                                                                                  (5-12) 

 
 2E*+�5��	�	��
���?#2*��+��%�� :36��%��8��*�78*�� 3 :36 >C%1�6(.)8:36D8��5A12*� 651
5A


:C1D(�1)*� 3 2�)*�&
)*�.)(+*:36��%��8��*�78* 
5%
+�*�<C1&
2�)*���% (5-11) :�D(�1��78* n  = 1, 
2, 3  .��=6�#)D	��*:���;�) 

n n
W N=  >C%1����)�8*  �5�=
�-)*�����7	
  (Bubnov-Galerkin) 

651
5A
��;%�.�
 R 6(��2�)*���% (5-11) �1&
2�)*���% (5-12) :��6( 

 
2 2

2 2
0 [ ] ( )

e

T

x y e
N D D G Q d

x y

φ φ
φ

∆

∂ ∂
= − + − + ∆

∂ ∂∫                                                       (5-13) 

 
=6���% [ ]T

N  7;� ��)�D�������	)>�.
�D5A10�1�91)�'5
)*�#���*/B*�&
�	�	��
�� 
 

 �
;%�1:*)�91)�'5
��%D(�1)*�#���*/  ( ( , )x yφ )  ��8��7�*�D8��
;%�10�1�
345

�
��+�8*1.D8���	�	��
��651
5A
2�)*��
345

��5
65���% 2 D*�2�)*���% (5-13) :C12*�*�<.�
�6(6(��
2�)*��
345

��5
65���% 1 651
�A 

 
2

2

[ ]
[ ] [ ]

T
T T N

N N
x x x x x

φ φ φ∂ ∂ ∂ ∂ ∂  = + ∂ ∂ ∂ ∂ ∂ 
 

 
2

2

[ ]
[ ] [ ]

T
T T N

N N
x x x x x

φ φ φ∂ ∂ ∂ ∂ ∂ = − ∂ ∂ ∂ ∂ ∂ 
                                                      (5-14) 
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:*)2�)*���% (5-13) :��6( 

 
2 2

2 2
0 [ ] [ ] [ ] [ ]

e e e e

T T T T

x e y e e e
N D d N D d N G d N Qd

x y

φ φ
φ

∆ ∆ ∆ ∆

∂ ∂
= − ∆ − ∆ + ∆ − ∆

∂ ∂∫ ∫ ∫ ∫

   (5-15) 

 
 28�
���� A &
2�)*���% (5-15) :�2*�*�<.�
�6(6(��2�)*��
345

��5
65�+
C%1

=6��*L5�2�)*���% (5-14) :��6(2�)*�&+�86512�)*���% (5-16) 

 
2

2

[ ]
[ ] [ ]

e e e

T
T T

x e x e x e

N
N D d D N d D d

x x x x x

φ φ φ

∆ ∆ ∆

∂ ∂ ∂ ∂ ∂ − ∆ = − ∆ + ∆ ∂ ∂ ∂ ∂ ∂ ∫ ∫ ∫            (5-16) 

 
 
�):*)
�A�512*�*�<#���*/4:
� [ ]

e

T

x eD N d
x x

φ

∆

∂ ∂ − ∆ ∂ ∂ ∫  =6��*L5�2�)*���% (5-17) �6(651
�A 

 
[ ] [ ] cos

e

T
T

e

T

N d N d
x x x

φ φ
θ

∆

∂ ∂ ∂  ∆ = Γ ∂ ∂ ∂ ∫ ∫                                                       (5-17) 

 
=6���% θ   7;� �3���%)���E*)5�4;A
,	��	�	��
��  
 Γ   7;� 4;A
��%0���0D0�1�	�	��
��  
 
.�
78*2�)*���% (5-17) &
 (5-16) :C1�6(4:
� A �#$
 

 
2

2

[ ]
[ ] [ ] cos

e e

T
T T

x e x x e

N
D N d D N d D d

x x x x

φ φ φ
θ

∆ Γ ∆

∂ ∂ ∂ ∂
− ∆ = − Γ + ∆

∂ ∂ ∂ ∂∫ ∫ ∫              (5-18) 
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&
�E*
�1�6���)5
���� B &
2�)*���% (5-15) :C1�6( 

  
2

2

[ ]
[ ] [ ] sin

e e

T
T T

y e y y e

N
D N d D N d D d

y y y y

φ φ φ
θ

∆ Γ ∆

∂ ∂ ∂ ∂
− ∆ = − Γ + ∆

∂ ∂ ∂ ∂∫ ∫ ∫                (5-19) 

 
.�
78*2�)*���% (5-18) .�� (5-19) &
2�)*���% (5-15) :��6( 

 
[ ] [ ]

0 [ ] ( cos sin ) ( )

[ ] [ ]

e

e e

T T
T

x y x y e

T
T

e e

N N
N D D d D D d

x y x x y y

G N d Q N d

φ φ φ φ
θ θ

φ

Γ ∆

∆ ∆

∂ ∂ ∂ ∂ ∂ ∂
= − + Γ+ + ∆

∂ ∂ ∂ ∂ ∂ ∂

+ ∆ − ∆

∫ ∫

∫ ∫
 (5-20) 

 
:*) ( ) ( )[ ]{ }e e

Nφ = Φ  .�
78*&
2�)*���% (5-20) :��6( 

 

( )

( )

0 [ ] ( cos sin )

[ ] [ ] [ ] [ ]
( ) { }

[ ] [ ] { } [ ]

e

e e

T

x y

T T
e

x y e

T
e T

e e

N D D d
x y

N N N N
D D d

x x y y

G N N d Q N d

φ φ
θ θ

Γ

∆

∆ ∆

∂ ∂
= − + Γ

∂ ∂

 ∂ ∂ ∂ ∂
+ + ∆ Φ 
 ∂ ∂ ∂ ∂ 

 
+ ∆ Φ − ∆ 
 
 

∫

∫

∫ ∫

                         (5-21) 

 
.��2*�*�<�0��
&+(��?8�?#�5%��#�6(�#$
 

 
( ) ( ) ( ) ( )0 { } [ ]{ } { }e e e e

I K f= + Φ −                     (5-22) 

 
=6���% 

 

 ( ){ } [ ] ( cos sin )e T

x y
I N D D d

x y

φ φ
θ θ

Γ

∂ ∂
= − + Γ

∂ ∂∫  
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( ) [ ] [ ] [ ] [ ]
[ ] ( ) [ ] [ ]

e e

T T
T

e

x y e e

N N N N
K D D d G N N d

x x y y∆ ∆

∂ ∂ ∂ ∂
= + ∆ + ∆

∂ ∂ ∂ ∂∫ ∫  

 
 

( ){ } [ ]
e

e T

ef Q N d
∆

= ∆∫  

 
=6���% ( )[ ]e

K  2*�*�<:56�?#&+�8=6�)*�6E*�
	
)*�D8��#
�A 

 

 
0

[ ]
0

x

y

D
D

D

 
=  
 

                                               (5-23) 

 
.����)�D����)��6��
D� (gradient vector : gv) 

 

{ } { }( ) ( )

[ ]

{ } [ ]
[ ]

e e

N

x x
gv B

N

y y

φ

φ
φ

∂ ∂   
   ∂ ∂   = = = Φ ∂ ∂  

 ∂ ∂    

 

 

[ ]

[ ]

[ ]

N

x
B

N

y

∂ 
 ∂
 =
∂ 

 ∂ 

 

 

[ ] [ ] [ ]
T T

T N N
B

x y

 ∂ ∂
=  

∂ ∂ 
                                                                     (5-24) 

 
:*) [ ]B , [ ]TB  .�� [ ]D  2*�*�<�0��
 ( )[ ]e

K  &+�8�6(�#$
 

 
( )[ ] [ ] [ ][ ] [ ] [ ]

e e

e T T

e eK B D B d G N N d
∆ ∆

= ∆ + ∆∫ ∫  
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( ) ( ) ( )[ ] [ ] [ ]e e e

D G
K K K= +                                                                                   (5-25) 

 
 �
;%�1:*)1*
�	:5�
�A ��;�))�	6�?#2*��+��%��&
)*�7E*
�/ 651
5A
78* φ  &
�?#

2*��+��%��:C12*�*�<)E*+
6�6(�#$
 

 
( ) ( )[ ]{ }e e

i j kN N Nφ = Φ                                                                     (5-26) 

 
=6���% 
 1

( )
2

i i i i

e

N a b x c y= + +
∆

 
1

( )
2

j j j j

e

N a b x c y= + +
∆

                                           (5-27) 
1

( )
2

k k k k

e

N a b x c y= + +
∆

 

 
.��:��6(��)�D����)��6��
D�2E*+�5��	�	��
��
�A�#$
 
:*) 

 

{ }( )

[ ]

{ }
[ ]

e

d N

dx
gv

d N

dy

φ

 
 
 =
 
  

 

 
:��6( 

 

{ }( ){ }

ji k

e

ji k

NN N

x x x
gv

NN N

y y y

φ

∂ ∂ ∂
 ∂ ∂ ∂ =

∂∂ ∂ 
 ∂ ∂ ∂ 

                                                       (5-28) 
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.�
78*2�)*���% (5-27) &
2�)*���% (5-28) :��6( 

 

{ }( ) ( )1
{ } [ ]{ }

2

i j k e e

i j ke

b b b
gv B

c c c
φ φ

 
= = ∆  

  

 
1

[ ]
2

i j k

i j ke

b b b
B

c c c

 
∴ =  ∆  

                                                                     (5-29) 

 
:*)2�)*���% (5-25) :�251�)D�+F
�6(�8* 

 
( )[ ] [ ] [ ][ ]

e

e T

D eK B D B d
∆

= ∆∫  

 
�
;%�1:*) [ ]B  .�� [ ]D  �#$
78*71��%:��6( 

 
 ( )[ ] [ ] [ ][ ]

e

e T

D eK B D B d
∆

= ∆∫  

 
( )[ ] [ ] [ ][ ]e T

D e
K B D B∴ = ∆                                                                                  (5-30) 

 
.�
78* [ ]B  .�� [ ]D  :56��?8&
�?#2�)*� ( )[ ]e

D
K  &+�8�6(�#$
 

 

( )
0 1 1

[ ]
0 2 2

i i

x i j ke

D j j e

y i j k e e

k k

b c
D b b b

K b c
D c c c

b c

 
       = ∆        ∆ ∆       

 

 

( ) 1
[ ]

4

x i y i

i j ke

D x j y j

i j k e

x k y k

D b D c
b b b

K D b D c
c c c

D b D c

 
    

=     ∆    

 

 
 
 
 
 



 

74 

 

2 2

( ) 2 2

2 2

1
[ ]

4

x i y i x i j y i j x i k y i k

e

D x i j y i j x j y j x j k y j k

e

x k i y k i x k j y k j x k y k

D b D c D b b D c c D b b D c c

K D b b D c c D b D c D b b D c c

D b b D c c D b b D c c D b D c

 + + +
  

= + + +    ∆  + + + 

 

 
2 2

( ) 2 2

2 2

[ ]
4 4

i i j i k i i j i k

ye x

D i j j j k i j j j k

e e

i k k j k i k k j k

b b b b b c c c c c
DD

K b b b b b c c c c c

b b b b b c c c c c

   
   

∴ = +   ∆ ∆   
   

                          (5-31) 

 
:*)2�)*���% (5-25) <(*)E*+
6&+( G �#$
78*71��% B*�&
.D8���	�	��
��:��6( 

 
( )[ ] [ ] [ ]

e

e T

G eK G N N d
∆

= ∆∫  

 

            
e

i

j i j k e

k

N

G N N N N d

N∆

 
   = ∆  
  
∫  

 
2

2

2e

i i j i k

j i j j k e

i k j k k

N N N N N

G N N N N N d

N N N N N∆

 
 

= ∆ 
 
 

∫                                                      (5-32) 

 
 &'(2?D��'	1D5�#��)�� (factorial formula) &
)*�#���*/)*��	
�	�)��&
2�)*���% 

(5-32) �4�*��
;%�1:*) 1i
N L= , 2j

N L=  .�� 3k
N L=  :��6( 

   

1 2 3

! ! !
2

( 2)!
e

a b c

e e

a b c
L L L d

a b c∆

∆ = ∆
+ + +∫  (5-33) 
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( )

2 1 1

12 12 12

1 2 1
[ ]

12 12 12

1 1 2

12 12 12

e

G eK G

 
 
 
 = ∆
 
 
 
  

 

 

( )

2 1 1

[ ] 1 2 1
12

1 1 2

e e

G

G
K

 
∆  ∴ =  

  

 (5-34) 

 
:*) ( ) ( ) ( )[ ] [ ] [ ]e e e

D G
K K K= +  

 
2 2

2 2

2 2

2 1 1

1 2 1
4 4 12

1 1 2

i i j i k i i j i k

yx e

i j j j k i j j j k

e e

i k k j k i k k j k

b bb bb c c c c c
DD G

bb b b b c c c c c

bb b b b c c c c c

     
∆     = + +     ∆ ∆         

             (5-35) 

 
2E*+�5�)�/���% 0Q ≠  :��6( 

 

 
1

2

3

[ ]
e e e

i

T

e j e e

k

N L

Q N d Q N d Q L d

N L∆ ∆ ∆

   
   ∆ = ∆ = ∆   
      

∫ ∫ ∫  

 

 ( )

1

{ } 1
3

1

e e
Q

f

 
∆  ∴ =  

  

 

 
.D8&
1*
�	:5��	��*
	4

�
�A 0Q =  :*)2�)*���% (5-22) :C1�6( 

 
 ( ) ( ) ( ) ( ){ } { } [ ]{ }e e e e

R I K φ= +                                            (5-36) 
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 .����%78*0���0D0�1.D8���	�	 ��
D�   Γ   �6(#���3)D� �1;%�
�0.��
���5

� 

(Neumann condition) =6�)E*+
6&+(  0
n

φ∂
=

∂
 ��;%� n  7;� ��)�D���D5A1-*))5�0���0D0�1��)�D��� 

 
( ) ( )0 [ ]{ }e e

K φ=                                                                                                           (5-37) 

 
=6���% 
 

2 2

2
( ) 2 2

2 2

2 1 1
1 1

[ ] 1 2 1
4 4 12

1 1 2

i i j i k i i j i k

e e

i j j j k i j j j k

e e

i k k j k i k k j k

b b b b b c c c c c

K b b b b b c c c c c

b b b b b c c c c c

µεω
     

∆     = + −     ∆ ∆         

 

 
5.3.4 ��	2	��������	�� �������-,��26�	��� 

 05A
D�

�A�#$
)*�
E*2�)*�0�1.D8���	�	��
����%�6(�*#��)��)5
�#$
2�)*����
0�1���� =6�:*)05A
D�
&
+5�0(���% 4.3.1 +*)��*.�81�5)@/��?#�8*10�1#9G+*��)�#$
�	�	��
��
�8��>C%1#��)��6(�� n :36D8� :C1)8�&+(�)	6����2�)*����>C%1#��)��6(��2�)*��8��:E*
�

�5A12	A
 n 2�)*� 651
5A
:C1�6(2�)*����0�11*
�	:5�
�AD*�2�)*���% (4-12) 651��%�6(,8*
�*&
 
����% 4 7;� 

 
11 12 13 1 1 1

21 22 23 2 2 2

31 32 33 3 3 3

1 2 3 ( ) ( 1) ( 1)

. .

. .

. .

. . . . . . . .

. . . . . . . .

. .

n

n

n

n n n nn n nsys n n sys n sys n

A A A A x b

A A A A x b

A A A A x b

A A A A x b
× × ×

     
     
     
     

=     
     
     
     
          

 

 
�����   

A  ���  ��	
���
�
��������
���
��  
 x  ���  ��	
�	�����	����������
	���	 � ��	 !���"�#��	� $ 

 b  ���  ��	 
�%	���&����	&
���	 � ��	 !���"�#��	� $ 
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 ������'	&�����()������)�
����� �&��	�&��%	�*��	���'����+��,� 2 .��# ��� �	&	/&��

�	�&	������)0�1 23����+�
������	
%	4����	�����	
��4���1���	&�� 1  6� 5 �	�6�	#�� '	&

�&	
��� (5-35)  28�
��%��,�D8�78*2B*4����*1���I* 7;� ( )[ ]e

G
K  <(*7E*
C1<C178*651)�8*�:��6(

2�)*�&
.D8���	�	��
����%��73/�5)@/��*1�
;A��5D<3��+�8*1�	&	/&��
�	�&	���)0�1'��6( ( )[ ]e
K  

D*�2�)*���% (5-38) .�� (5-39) D*��E*65� 
 
�*)*L: 

 
2 2

2
( ) 2 2 0 0

2 2

2 1 1
1 1

[ ] 1 2 1
4 4 12

1 1 2

i i j i k i i j i k

e e

i j j j k i j j j k

e e

i k k j k i k k j k

b bb bb c c c c c

K bb b b b c c c c c

bb b b b c c c c c

µ ε ω
     

∆     = + −     ∆ ∆         

    (5-38) 

 
�
3@��: 

 
2 2

2
( ) 2 2 0 0

2 2

2 1 1
51 1

[ ] 1 2 1
4 4 12

1 1 2

i i j i k i i j i k

e e

i j j j k i j j j k

e e

i k k j k i k k j k

b bb bb c c c c c

K b b b b b c c c c c

bb b b b c c c c c

µ ε ω
     

∆     = + −     ∆ ∆         

    (5-39) 

 
5.3.5 2	��7�&���+����������&*	���8�9 �: � 

 05A
D�
)*�+*78*,��-��0�178*2
*����I* ��	%�:*))*�)E*+
6�1;%�
�00���0D
&+(.)82*�281���I*)5�=��L54���;�<;� =6�05A
D�
28�

�A:��E*&
�E*
�1�6���)5���������	
� 
���
��6	��������
��  
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�A�6(
E*�2
�.��:E*��1�*17/	DL*2D��0�12
*����I*&
2*�281���I*.�12?1 1 ��2 

.�� 3 ��2 #��)��)5�7E*
C1<C173/2��5D	0�1�5D<3��%.D)D8*1)5
&
���� >C%1.��:E*��1�*1
7/	DL*2D��:�#�*)J��?8&
�?#0�12�)*��
345

��8���5
65�2�1 )*�#���3)D��	
����
���	�	��
��
�4;%�7E*
�/+*78*2
*����I*�6(&'(�	
�)*�<8�1
AE*+
5)�L@D)7(*10�1)*�����7	
 �*�������6D8*1 K 
&
��
�A :�
E*�#2?8)*�45b
*=#�.)�����
���	�	��
���4;%�&'(�#$
=#�.)��:E*��1,�������%:�
�6()�8*�<C1&
����% 6 D8��# 



����� 6 

��	
�	�
����������������
������	
��������	���������
�� 2 ���� 
 

6.1  ����� 
 ��������	
���		��
���������
��������	������� !�"��!	����������#�����$%%&� ' 
���()�#	�#�	 * +��,���--����#	$%%&�(�	�.	 /�	����+��,�-00�� 6 �!	��#�
�!	�#������������ 
�#�	 * ��	��--0��,23,���������	
�(���4�-���!	5��(��������	
�/3
����-��-
�4� 
$%$�0�/�%�%������0� (��5��(��������	
�/3
����-��-
�4�$%$�0��������0� �
��!	���
/��������������-�0��-
��#�����$%%&���-5��(��������6��.� PDETOOL 5��(���0��	)�/�.�
���(--,)30��	��-�����=�����,23	����	 MATLABTM +��,�	��
�������$/3,23�����
����� Intel 
Pentium IV dual cores 3.0 GHz 1GB ���������
�
�)��#�����$%%&���	��--����#	$%%&�  
1 �%�(�� 3 �%�(-- 2 ���� 

��������	
���
��������	������� !�"��!	�����������
��	�#�����$%%&� X!�	+��,� 
	��
��� ����  $/3,23���-��-
�4�  2 
�4�  ��� ���-��-
�4�$%$�0�/�%�%��� ���0�  (�����-��-
�4� 
$%$�0��������0���Y�����=�������Z,���������5��(���)��#�
��[����	�#�����$%%&� 5/�
)�����������5��(���0��	 2 
�4�����)��������3����!	��� ��� ��������������(--���/������/
�.��#�	��	��-- 5/����-��-
�4�$%$�0�/�%�%������0���,23���/�.���� �)����� (�����-��-
�4� 
$%$�0��������0���,23���/�.�����)����� ���������3�	���������$%%&� ���)��-���-��-
�4� 
$%$�0�/�%�%������0�������!	�����3�	�����,����"'����5�/�#�	 * +��,���-- ,��'�0��
���-��-
�4�$%$�0��������0�����3�	��������(�#���������0�0������\�!��,���--(0� �����$/3
�����0���4�-����'��-������5�/)������� ���0����(�#��
�4�(�3
 ���������0�������3�	 
��0���X���--������
� 5/���������0��$/3��������]�����5�/)����������0��#�	 * ���(�#��

�4����
������Y���0���X�0�������/,)Z# )��	���$/3��0���X���--������
���0��������)�/
�	����$��#���-��� (��(�3��--������
������)�
��[�������Y����������/���0��	�� ���)��-
���������/��	5��(��� 2 
�4�/�	��#�
������(�/	��������������
'$/3/�	��� 
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6.2  	�"����#�$������%&��"��	%"	��% 
�������
')��#�����$%%&�+��,�3��--����#	$%%&�(�	�.	������/�������������
'

/3
����-��-
�4�$%$�0�/�%�%������0� ����������+��,�5��	��3�	5��(�����	(
�+.���.�0�� 6.1 

 

 
 

�.�0�� 6.1 (
�+.�����/������	����	5��(�������
'����$%%&� 
/3
����-��-
�4�$%$�0�/�%�%������0� 
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6.2.1  ��	
�	����
���	�&	'����"(�����)(*�+�	��� 

            5��(�����3�	���/��	���-��-
�4�$%$�0�/�%�%������0�����5��	��3�	��	
5��(���0��$�#X�-X3�������� 5/���/����	��)�����	5��(����#
����  ��� �����3�	��0���X�0����
���2��+��,���Y�)������5�/�#�	 * ���������)�/���/��	��--0���3�	��� !�"� �2#� 
	��
��������3�	��� !�"���--$%%&� 3 �%����/ 69 kV 5/���--���
���
3�	 8 m (�� 
�
���.	 12 m ���)�/,)3���2��+��,���0���X���	��--�
� ��� )������5�/�#�	 * ��	��-- 
5/�����)#�	��)
#�	5�/(0�����)#�	�0#���- 0.1 m ����)����
��
#��3���--���
���
3�	 8 m 
��������
�5�/����b���(�
(�
��	��0���X���--�
��0#���- (8×0.1) + 1 = 81 5�/ (���3�
� 
 � ��. 	  12 m � � �� �� � � 
 �5�/� � � �\� � �(�
)�� � � � 	 � �0�� �X� � � --� 
 �  �� � 
(12×0.1) + 1 = 121 5�/ (��03����/��$/3��0���X�)������5�/ (N_node) ���/ 81×121 ���
�����0�� (6-1) 

 

N_node = 

1 2 3 79 80 81

82 83 84 160 161 162

163 164 165 241 242 243

9559 9560 9561 9637 9638 9639

9640 9641 9642 9718 9719 9720

9721 9722 9723 9799 9800 9801

⋅ ⋅ ⋅ ⋅ 
 
 
 
 
 
 
 
 
 
 
 
 
 
  

� � � �

� � � �

� � � � � � �

� � � � � � �

� � � � � � �

� � � � � � �

� � � �

� � � �

� � � �

           (6-1) 

 
            )��	���$/3��0���X�)������5�/ ���	0���3�	��]������� ��� ��0���X�0��(�/	�����/

���#�����0����	5�/�#�	 * ,)3��Y�)�
/)�.# �����,)3	#�����)��-���-#	2���!	
����(�#�����#�����0��0����
�#������������(���#�	��� (����/
��#�������)�/�	����$��#���-��� 

6.2.2   ���(�&,��"	����*� 

             ��������	
�����$%%&���	��--����#	$%%&� 1 �%� (�� 3 �%�+��,�-0��� 
$/3���)�/�#������������0�������Y����)��-������)�/�#�������3���	���-��-
�4�$%$�0�/�%�%������0� 
X!�	$/3��-����
-�
�$
3,�����	0�� 6.1 /�	�����������//�	��� 
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����	0�� 6.1 �#���������������)��-���-��-
�4�$%$�0�/�%�%������0�  
����������� �#� 

�
����� (f) 
�+��X�-X!�$/30�	(�#�)�6�,��.ZZ��� (µ0) 
�+��X�-X!�$/30�	(�#�)�6������04�,�����  (µr) 
�+�����$/30�	$%%&�,��.ZZ���  (ε0) 
�+�����$/30�	$%%&������04�,�����  (εr) 
�+�����$/30�	$%%&������04�,����"�� (εr) 

50 Hz 
4 π ×10-7  H/m 
1.00000037 

8.854×10-12  F/m 
1 
5 

 
6.2.3  ��	�	*������	,�����������)�
������& 

            ���-��-
�4�$%$�0�/�%�%������0�$/3,23���/�.���� �)����� ,��������
')��#�
����$%%&� ' ���()�#	5�/�#�	 * ��������0�� (6-1) ���)6�
#����()�#	���2��+��,���0���X�
/�	��#�
�����
�	��
��Y��.�����)����� /�	��������
���.3,�-00�� 4 5��	��3�	0��
$���	��--����
���"'�����.�0�� 4.1 )����.��������,)�#,��.�0�� 6.2 

 

 
 

�.�0�� 6.2 5��	��3�	��	���-��-$%$�0�/�%�%������0� 
 

(�#�����	���	��
������� ����!	�!	�#��+�������	
����0�����#�(���#�	��� /�	���������3�	
������#�����$%%&�,�(�#��5�/�!	��������3�	$/3 3 ���"'� ��� -���
'0����Y�����  )��� 
-���
'0����Y��#�	�����	���"��(�#����	��#�	�/��
 ��- -���
'�����
����)
#�	
����0��	 2 2��/ X!�	���
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(�/	�����0��	 3 ���"'�+��,�-00�� 4 5/���������������/�	��#�
��(�/	,)�#,������0�� 
(6-2) (6-3) (�� (6-4) ������/�- 

 
���� : 

 

2 2
0

1
( , ) [ ( 1, ) ( -1, ) ( , 1) ( , -1)]

(4 )
i j i j i j i j i j

hε µω
= + + + + +

−
E E E E E            (6-2) 

 
���"��: 

 
 

2 2
0

1
( , ) [ ( 1, ) ( -1, ) ( , 1) ( , -1)]

(4 5 )
i j i j i j i j i j

hε µω
= + + + + +

−
E E E E E         (6-3) 

 
����#���)
#�	���"����-���� : 

 
1 2

1 2 1 2

1 1
( , ) ( , -1) ( , 1) ( -1, ) ( 1, )

2( ) 2( ) 4 4
i j i j i j i j i j

ε ε
ε ε ε ε

= + + + + +
+ +

E E E E E       (6-4) 

 
          ���������-�	-���
'0����.#�����-(�������	��--�������"'�5��	��3�	0��

(���#�	���$�5/�������(�/	5��	��3�	(�������0��,23�4�-���#�����$%%&� ' -���
'��-
(--�#�	 * /�	�����������/�������	0�� 4.1 /�	0��$/3�������
#����,�-00�� 4 

6.2.4  ��	�	*��"��	��/%	�������		#� 

           )��	���$/3�����0��,23�4�-��5�/�#�	 * ��#�	�)�����+��,���-- 5��(���
�#���#
������0��)�3�0���
-�
������(�#��5�/0������
'�����������#��)�3���� ��3�����Y� 
��0���X����/,)Z#��	��--�����/�	(�/	/3
������0�� (4-12) �����3�	��0���X���--�����
�
���	���-��-
�4������)������ ��� )�)������5�/0��(03���	0����.#��- * 5�/0�������	�����'���.# 
(�3
,�#�#���������04�p��	5�/�����	,���0���X�,)Z#��	��--������
�,)3�.��3�	 �3����"'�
��	�qZ)��.�(-#	�����Y�5�/0��	)�/ n 5�/ ���#�,)3���/��--������
�X!�	�����-/3
�
������#��0��	���� n ����� �2#� ,��.�0�� 6.3 5�/0�������'� ��� ���()�#	5�/0�� 83 5/������()�#	
5�/��-�3�	 ��� ���()�#	5�/0�� 2 ���()�#	5�/0�� 82 ���()�#	5�/0�� 84 (�����()�#	5�/
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0�� 164 �����,)3-���
'���()�#	0�������'���Y�-���
'0�������� ��#�	�/��
 /�	������������04�p��	
���()�#	5�/��-�3�	�����#��0#���- 1 1 1 (�� 1 ������/�- ,��'�0��5�/0�������'�����
��������04�p�0#���- 2 2

04 hε µω−  ��������0�� (6-2) ��$/3 

 
2 2

0-(4 ) ( , ) (1) ( 1, ) (1) ( -1, ) (1) ( , 1) (1) ( , -1) 0h i j i j i j i j i jε µω− + + + + + + =E E E E E          (6-5) 

 
1 2 3 4 81

82 83 84 85 162

163 164 165 166 243

244 245 246 247 324

9721 9722 9723 9724 9801

� �

� �

� �

� �

� � � � �

� � � � �

      
 

�.�0�� 6.3 �����3�	��0���X���--������
� 

 

 
 

�.�0�� 6.4 ���"'����
�	��
��	���2��+��,���0���X���	��--������
� 
 



 

84 

           ��������� ��# ���������04�p)�3 �  E( , )i j  E( 1, )i j+ E( -1, )i j E( , 1)i j + (�� 
E( , -1)i j ��������0�� (6-5) ��(0��#�,�#��0���X�,)Z#��	��--������
�,�(�
0�� 83 5/��#�
��������04�p��	 E( , )i j  E( 1, )i j+ E( -1, )i j E( , 1)i j + (�� E( , -1)i j ���.��&���	,�)���0�� 
2 82 84 (�� 164 ��	(�
���� �!	��Y�����
��������	��--������
����6�����	 1 5�/ �3�
��--0��0���������
'�.�(-#	�����Y�5�/0��	)�/ n 5�/ ���3�	0������
��������	��--
������
�0��	)�/ n ����	 �����0�������6���$/3���"'����
�	��
��	���2��0�����#�$�#��Y� .�����	
��--������
�/�	�.�0�� 6.4 

6.2.5  ���(�&"�1�����,�����"�� 

            ��������#
������0��)�3�0���������� �	����$���-����#��0�����(�3��-- 
������
� 5/���)������ ��� /�/(��	��--������
���������0�� (4-12) ,)3��/��3�	��-�#�
�	����$���-��� 5/�	��
������������)�/�#��	����$���-�����	��
�������#	,��.���	
����$%%&�0��	��'� 1 �%�(�� 3 �%� ��-50� ��0�������0��������������#�����$%%&��	0��
5/���-���/ 10×20 cm2 (nokia3210) /�	�.�0�� 4.6(a) ,�-00�� 4 X!�	�������������������/���
���)�/�	����$��#���-�����	��--$%%&����/�#�	 * $/3/�	��� 

 
��--$%%&� 1 �%� 
 - ��--$%%&����/ 220V: 
  v = 220 V  E = 323.748 V/m 

- ��--$%%&����/ 22kV: 
  v = 22 kV  E = 5.756×104 V/m 

- ��--$%%&����/ 69 kV: 
  v = 69 kV  E = 8.8284×104 V/m 

 
��--$%%&� 3 �%� (�%���/��) 

- ��--$%%&����/ 69 kV: 
    �%� A (0°) 
  v = 69 kV  E = 8.8284×104 V/m 

   �%� B (-120°) 
  v = 69 120∠− �  kV E = -4.4142×104 rj7.6462×104 V/m 
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   �%� C (120°) 
  v = 69 120∠ �  kV  E = -4.4142×104 +j7.6462×104 V/m 

 
- ��--$%%&����/ 115 kV: 

    �%� A (0°) 
  v = 115 kV  E = 1.4569×105 V/m 

   �%� B (-120°) 
  v = 115 120∠− �  kV E = -7.2845×104 rj1.2617×105 V/m 

   �%� C (120°) 
  v = 115 120∠ �  kV  E = -7.2845×104 +j1.2617×105 V/m 
 

- ��--$%%&����/ 230 kV: 
    �%� A (0°) 
  v = 230 kV  E = 2.8202×105 V/m 

   �%� B (-120°) 
  v = 230 120∠− �  kV E = -1.4101×105 rj2.4425×105 V/m 

   �%� C (120°) 
  v = 230 120∠ �  kV E = -1.4101×105+j2.4425×105 V/m 

 
- ��--$%%&����/ 500 kV: 

    �%� A (0°) 
  v = 500 kV  E = 6.0134×105 V/m 

   �%� B (-120°) 
  v =  500 120∠− � kV E = -3.0067×105 rj5.2077×105 V/m 

   �%� C (120°) 
  v = 500 120∠ �  kV E = -3.0067×105 +j5.2077×105 V/m 

 
��--$%%&� 3 �%� (�%�$�#��/��) 

           ���)��-��'���--$%%&� 3 �%�$�#��/����0����� !�"��[�����--$%%&����/ 
230 kV �����,)3���)6�+�����"'�����������(��	��	����$%%&��������--$�#���
����/�� X!�	
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���"'��
��$�#��/����	��--$%%&� 3 �%� ������(�� !�"�$/3 2 ��'� ��� ��'����/$�#
��/�� (�%��	0��) ��-��'�����%�$�#��/�� (���/�	0��) X!�	�����������/������)�/�	����$� 
�#���-�����	��--$%%&� 3 �%�$�#��/�� $/3/�	��� 
 
���/$�#��/�� (±10%��	���/�%��3�	��	) 

- ��'��%� A (�%��3�	��	)                
  v  = 230 0∠ �  kV  E = 2.8202×105 V/m 

�%� B (-10%) 
  v   = 207 120∠− �  kV E = -1.269×105 rj2.1981×105 V/m 

�%� C (+10%)   
v   = 253 120∠ �  kV E = -1.5511×105+j2.6865×105 V/m 
 

- ��'��%� B (�%��3�	��	)  
             v  = 230 120∠− �  kV E = -1.4101×105 -j2.4424×105 V/m 

�%� C (-10%) 
  v   = 207 120∠ �  kV E = -1.269×105 +j2.1981×105 V/m 

�%� A (+10%)   
v   = 253 0∠ �  kV  E = 3.1022×105 V/m 
 

- ��'��%� C (�%��3�	��	)  
             v  = 230 120∠ �  kV  E = -1.4101×105 +j2.4424×105 V/m 

�%� A (-10%) 
  v   = 207 0∠ �  kV  E = 2.5382×105 V/m 

�%� B (+10%)   
v   = 253 120∠ − �  kV E = -1.5511×105-j2.6865×105 V/m 

 
����%�$�#��/�� (±30°��	����%��3�	��	) 

- ��'��%� A (�%��3�	��	)                
  v  = 230 0∠ �  kV  E = 2.8202×105 V/m 
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�%� B (-30°) 
  v   = 230 150∠ − �  kV E = 2.4424×105 rj1.4101×105 V/m 

�%� C (+30°)   
v   = 230 150∠ �  kV E = -2.4424×105+j1.4101×105 V/m 
 

- ��'��%� B (�%��3�	��	)  
             v  = 230 120∠− �  kV E = -1.4101×105 -j2.4424×105 V/m 

�%� C (-30°) 
  v   = 230 90∠ �  kV  E = j2.8202×105 V/m 

�%� A (+30°)   
v   = 230 30∠ �  kV  E = 2.4424×105+j1.4101×105 V/m 
 

- ��'��%� C (�%��3�	��	)  
             v  = 230 120∠ �  kV  E = -1.4101×105+j2.4424×105 V/m 

�%� A (-30°) 
  v   = 230 30∠− �  kV E = 2.4424×105-j1.4101×105 V/m 

�%� B (+30°)   
v   = 230 90∠− �  kV E = -j2.8202×105 V/m 

 
50� ��0������� 
 ���()�#	-�X3��(�����()�#	-��
� 
  E = 45.5 V/m 

���()�#	���	X3�� 
  E = 33.5 V/m 

���()�#	���	�
� 
E = 48.2 V/m 

���()�#	�#�	X3��(�����()�#	-��
� 
  E = 48.5 V/m 
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6.2.6  
�*	�������		#�"21��(���"3�� 

             ���������/03���#
������0��)�3�0��(�3������2�	��3������)��#�
��[����	��--
������
�5/���������,23���-��-
�4����0����0���X�
�
�� (matrix inverse) �����	�����0���X���
���"'������� (���#�/��0�����(������	��0���X���--������
�$�#��Y� .����!	������
����
')��#�
��[��/3
�
�4����$/3/�	�����0�� (4.17) ,�-00�� 4  
 

6.3  	�"����#�$������%����"���% 
����� ��
')��#�����$%%&�+��,�3��--����#	$%%&�(�	�.	/3 
����-� �-
�4� 

$%$�0��������0�������/�������������
' ����������+��,�5��	��3�	5��(�����	(
�+.�� 
�.�0�� 6.5 

6.3.1  ��	
�	����
���	�&	'����"(�����)(*�+�	��� 

           5��	��3�	5��(�����3�	���/��	���������������-/3
�5��(���)���(��
5��(����#���#�	 * X!�	0��)�3�0��(���#�	��� ����������0��	����	5��(����������4�-��
���������/$/3/�	���  

           5��(�����3�	���/������3�0��	����������-�#���������Y���0���X�0�������/�#�	 * 
���X!�	��Y���
(0���	5��	��3�	�.��#�	���"�� ��
���,�����#	 50� ��0������� (������0��5�#	
-���
'0����Y�����  5/���0���X�/�	��#�
�����Y������-�3��.�0�������Z,����/���������2#
	(��
��	5��(���)��� 

           �����������3��.#������������-�)��������	�������0� (��)��������	5�/ 
��3��0��	���()�#	�#�����/��	(�#��5�/,��#
���	
�����#�	 * +��,���-- �2#� ���)����()�#	
�#�����/��	(�#��5�/��	5��	��3�	�#�	������"�� ��
���,�����#	 50� ��0������� (��-���
'
���� ��- * 
���� �����,)3	#���#������-��!	
����(�#��2��/0�����#������������(���#�	�����0�����
��/���#�����0����	(�#���������0� (��5�/�#�	 * ,)3��Y�)�
/)�.# �����������		#���#�������)�/ 
�#��	����$���-���X!�	�������/�	��#�
������(�/	$/3/�	�����������/,�5��(����#�� 

           ������������-�)��������	�������0�(��)��������	5�/ ��3��0��	�#�����/��	
(�#��5�/,��#
���	����0��0����Y�����  ����.�0�� 6.6 ���)6�
#���--$%%&� 3 �%����/ 69 kV ��
��-���
'0����Y����� 0��	)�/ 6 -���
' 5/����	0�������Z0����/ ��� +��,����� (�#��-���
'���3�	
0��-)������5�/��	��0���X�,�(�#��-���
'/�	��#�
,)3�.��3�	 �2#� ���� -���
'0�� 2 ��Y� 
��0���X����/ 9×2 �����2��+��,���0���X���Y�)������5�/�#�	 * /�	�����0�� (6-6) 
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�.�0�� 6.5 (
�+.�����/������	����	5��(�������
'����$%%&� 
/3
����-��-
�4�$%$�0��������0� 
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12 13

0 0

31 32

0 0

N_sp2= 61 62

0 0

91 92

0 0

116 117

 
 
 
 
 
 
 
 
 
 
 
 
 
 

                   (6-6) 

 
           X!�	5��(����#
������/���������)���0���X�0��(0�)������5�/��	(�#��-���
'

����
�0��	)�/ 6 -���
'0�������/(���#�	/�	��� ��� ���� -���
'0�� 1 ��Y���0���X����/ 2×51 
���� -���
'0�� 2 ��- 3 ��Y���0���X����/ 9×2 ���� -���
'0�� 4 ��Y���0���X����/ 8×51 (��
���� -���
'0�� 5 ��- 6 ��Y���0���X����/ 31×6  
            )��	���$/3��0���X�)������5�/��	-���
'0��	)�/ 6 -���
' ������������0���X�
/�	��#�
��3�5��(����#��0������
')�)��������	�������0� )���������/�-5�/ (�� �#�����/��	
(�#��5�/ �2#� ���� -���
'0�� 2 X!�	������(�/	/3
���0���X�0��(0�)��������	�������0� 
)���������/�-5�/ (���#�����/��	(�#��5�//�	��� 

 
21 12 31 32

22 12 32 13

23 31 61 62

Nspace_zone2= 24 31 62 32

25 61 91 92

26 61 92 62

27 91 116 117

 
 
 
 
 
 
 
 
 
 
 

                               (6-7) 

 
           5/�0��)���0�� 1 ��	��0���X� Nspace_zone2 (0�)��������	�������0� (�� )���0�� 

2-4 (0�)���������/�-5�/��	(�#���������0� 
           ��������0�� (6-8) )���0�� 1 ��	��0���X� node_s2 (0�)������5�/��	���� 

-���
'0�� 2 (��)���0�� 2 �!	 3 (0����()�#	�#�����/(�� x (�� (�� y ��	(�#��5�/������/�- 
 
 
 



 

91 

 

    

12 0 14

13 1 14

31 0 13

32 1 13

61 0 12
node_s2 = 

62 1 12

91 0 11

92 1 11

116 0 10

117 1 10

 
 
 
 
 
 
 
 
 
 
 
 
 
 
  

                                                                                    (6-8) 

 
           ������������-�)��������	�������0�(��)��������	5�/ ��3��0��	�#�����/��	

(�#��5�/,��#
���	5��	��3�	�#�	������"�� ������'�,23�����'�������� X!�	������0��$/3,�
���"'��/��
��-�������
')�)��������	�������0� )���������/�-5�/ (���#�����/��	(�#��
5�/,��#
���	��
���+��,�����#	 

           ���)��- ������������-�)��������	�������0�(��)��������	5�/ ��3��0��	 
�#�����/��	(�#��5�/,��#
���	��
���+��,�����#	 ����.�0�� 6.6 ���)6�$/3
#���--$%%&� 3 �%�
���/ 69 kV ����-���
'��
���0��	)�/ 3 -���
' X!�	������0��$/3,����"'��/��
��-�������
')�
)��������	�������0� )���������/�-5�/ (���#�����/��	(�#��5�/,��#
���	��
���+��,����
�#	 (���.��#�	��	���"���'�,23�����'�������� 

 

 
 

�.�0�� 6.6 ���(-#	����0����Y�)�
/)�.#������"'��
��(���#�	��	
���� 
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           )��	�������
')�)��������	�������0� )���������/�-5�/ (���#�����/��	(�#
��5�/��	(�#��
����+��,���-- ��������#�$�������3��.�0������
'$/3��
�/+��(�/	���

�	��
��	(�#������ ���0����/0��	����0����	��--0�������'�/3
�������	 triplot ,�5��(��� 
MATLABTM 5/�����������������������()�#	���
�	��
��	(�#��5�/,�-���
'�#�	 * �2#� 
-���
'���� 5/���- ��
���,�����#	 (�� ���"�� X!�	������(�/	+���
���	��--$%%&�  
3 �%����/ 69 kV $/3/�	�.�0�� 6.7 (��������(�/	��������/�[���0����	-���
'0����Y�����  
��
���,�����#	 (�� ���"��$/3/�	�.�0�� 6.8-6.11  

 
Triangular grid design for calculation FEM in 69 kV Transmission line system

distance x-axis (m)  
 

�.�0�� 6.7 ���"'������3�	���/+��,���--$%%&� 3 �%����/ 69 kV 
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�.�0�� 6.8 ���"'������3�	���/,�-���
'0����Y�����  

 

 
 

�.�0�� 6.9 ���"'������3�	���/,�-���
'0����Y���
�������#	��
0�� 1 (�� 3 
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�.�0�� 6.10 ���"'������3�	���/,�-���
'0����Y���
�������#	��
0�� 2 

 
Triangular grid design for Calculation FEM in 69 kV Transmission line system

distance x-axis (m)

d
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ta
n
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-a
x
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m
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�.�0�� 6.11 ���"'������3�	���/,�-���
'0����Y����"�� 
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6.3.2  ���(�&,��"	����*� 

           ��������	
�����$%%&���	��--����#	$%%&� 1 �%� (�� 3 �%� ���)��-���-��-

�4�$%$�0��������0���,23�#������������0�������Y����)��-������)�/�#�������3��2#��/��
��-���-��-
�4�
$%$�0�/�%�%������0� X!�	$/3��-����
-�
�$
3,�����	0�� 6.1  

6.3.3  ��	�	*������	,�����������)�
��������"���% 

           ������������	���-��-
�4�$%$�0��������0�$/3,23���/�.�����)����� ,������]��
�����0��,23���)��-����
')��#�����$%%&�,�(�#���������0� ��������	
����
���������������
�����������	����	������ 2 !��" ��� ��	�#	��
���	��$�����%�& '(����)����������
�*������*��+&
����	�� 1 �-� 5 ���-/�"�� ��	��	�
��� (5-35) ��Y����������$%%&�,��������0�0����.#,�-���
'
����  ��-�����0�� (5-36) ��Y����������$%%&�,��������0�0����.#,�5��	��3�	�.��#�	���"�� X!�	
0��	��	��������������������,)�#/�	�����0�� (6-9) (�� (6-10) ������/�- 
 
���� : 

 
2 2

2
( ) 2 2 0 0

2 2

2 1 1
1 1

[ ] 1 2 1
4 4 12

1 1 2

i i j i k i i j i k

e e
i j j j k i j j j k

e e

i k k j k i k k j k

b b b b b c c c c c

K b b b b b c c c c c

b b b b b c c c c c

µ ε ω
     

∆     = + −     ∆ ∆         

      (6-9) 

 
���"��: 

 
2 2

2
( ) 2 2 0 0

2 2

2 1 1
51 1

[ ] 1 2 1
4 4 12

1 1 2

i i j i k i i j i k

e e

i j j j k i j j j k

e e

i k k j k i k k j k

b b b b b c c c c c

K b b b b b c c c c c

b b b b b c c c c c

µ ε ω
     

∆     = + −     ∆ ∆         

     (6-10) 

 
6.3.4  ��	�	*��"��	��/%	�������		#� 

           )��	���$/3�����0��,23�4�-������ ���0��#�	 * ��#�	�)�����+��,���--  
5��(����#���#
������0��)�3�0���
-�
������(�#���������0�0������
'�����������#��)�3���� 
��3�����Y���0���X����/,)Z#��	��--�����/�	(�/	/3
������0�� (4-12) �����3�	�����X���--
������
���	���-��-
�4������)������ ��� )�)������5�/0��(03���	��	�������0�0�������	�����'�
��.# (�3
,�#�#���������04�p��	�������0������	,���0���X�,)Z#��	��--������
�,)3�.��3�	  
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�3����"'���	�qZ)��.�(-#	�����Y��������0��#�� n 5�/ ���#�,)3���/��--������
�X!�	
�����-/3
�������#��0��	���� n ����� �����0�������6���$/3���"'����
�	��
��	���2��0�����#�$�#
��Y� .�����	��--������
�/�	�.�0�� 6.12 

6.3.5  ���(�&"�1�����,�����"�� 

           ��������#
������0��)�3�0�����������	����$���-����#��0�����(�3��--������
� 
5/���)������ ��� /�/(��	��--������
���������0�� (4-12) ,)3��/��3�	��-�#��	����$�
��-��� 5/�	��
������������)�/�#��	����$���-�����	��
�������#	,��.���	����$%%&�0��	
��'�  1  �%�(�� 3 �%� ��-50� ��0�������0��������������#�����$%%&��	0��5/���-
���/ 10×20 cm2 (nokia3210) /�	�.�0�� 4.6(a) ,�-00�� 4 X!�	�������������������/������)�/
�	����$��#���-�����	��--$%%&����/�#�	 * ���)�
�3�0�� 6.2.5 0��
#�����3�	�3� 

6.3.6  
�*	�������		#�"21��(���"3�� 

             ���������/03���#
������0��)�3�0��(�3������2�	��3������)��#�
��[����	��--
������
�5/���������,23���-��-
�4����0����0���X�
�
�� �����	�����0���X������"'�������
(���#�/��0�����(������	��0���X���--������
�$�#��Y� .����!	����������
')��#�
��[��
/3
�
�4����$/3/�	�����0�� (4-17) ���-00�� 4 ,�0����	�/��
��-���-��-
�4�$%$�0�/�%�%������0� 
 

 
 

�.�0�� 6.12 ���"'����
�	��
��	���2��+��,���0���X���	��--������
� 
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            )��	���0��-�������(��)������0��	����	5��(������-��-
�4�$%$�0� 
/�%�%������0� (�����-��-
�4�$%$�0��������0� �#�$������������������	
��#�����$%%&����
� � � -� � - 
� 4� 0�� 	  2  
� 4�  5 / � 0� � � � � �� � � � 	 
 � � � 	 � � - - � � � �# 	 $ % %& �  1  � % �
���/ 220 V 22 kV (��  69 kV �#
���--$%%& �  3 �%��������-$�/3
���--$%%& �
���/ 69 kV 115 kV 230 kV (�� 500 kV ���������,���������	
���	��--(�#�����/0��	
��'� 1 �%� (�� 3 �%� ��	0��������������()�#	��	���"�� ' �'�,23	��50� ��0�������,����
������� �����,)3�)6����"'�����������#�����$%%&�0���������(��	$��������������������()�#	��	
���"�� 

 

6.4  ����	
�����&*#�	�"����#�$������%&��"��	%"	��% 
)�
�3�������������
���������	����������#�����$%%&���	��--����#	$%%&� 1 �%� 

���/ 220 V 22 kV (�� 69 kV ��--$%%&� 3 �%����/ 69 kV 115 kV 230 kV (�� 500 kV 0��
���/����������
'/3
����-��-
�4�$%$�0�/�%�%������0� 5/���������	
���	��--(�#�����/
0��	��'� 1 �%� (�� 3 �%� ��0��������������()�#	��	���"�� ' �'�,23	��50� ��0�������  
3 ���()�#	/3
���� �����,)3�)6��
��(���#�	��	���"'�����������#�����$%%&�0���������(��	
$� X!�	������(�/	
���������	�#�����$%%&���	��--����#	$%%&� 1 �%� (����--����#	
$%%&� 3 �%����)�
�3��#�$���� 

6.4.1  	�������������� 1 "�� 
          - ��--����#	$%%&� 1 �%����/ 220 V 
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�.�0�� 6.13 ����������#�����$%%&���	��--����#	$%%&� 1 �%����/ 220 V 
       ��������"��,23	��50� ��0������� ' ���()�#	 x = 1 m 

 

 
 

�.�0�� 6.14 ����������#�����$%%&���	��--����#	$%%&� 1 �%����/ 220 V 
       ��������"��,23	��50� ��0������� ' ���()�#	 x = 4 m 
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�.�0�� 6.15 ����������#�����$%%&���	��--����#	$%%&� 1 �%����/ 220 V 
��������"��,23	��50� ��0������� ' ���()�#	 x = 7 m 

 
 - ��--����#	$%%&� 1 �%����/ 22 kV 

                �����	�����������	
�����������#�����$%%&���	��--����#	$%%&� 1 �%� 
���/ 22 kV (�� 69 kV �����"'���3����!	��-��--����#	$%%&� 1 �%����/ 220 V (���#�	0��
�#�����$%%&���	��
���,�����#	 ��-���/����0��0/��-��	��-- /�	�����!	������������"'�
����������#�����$%%&�(�����0�
���#�����$%%&���	��--����#	$%%&����/ 22 kV (��  
69 kV ����	 1 ��'� ��� ���,23	��50� ��0���������	���"�� ' ���()�#	�!�	���	��	��--�0#����� 
�����,)3�����)�0���������+��,�
�0������4����
�����2�-������	�!�� 
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�.�0�� 6.16 ����������#�����$%%&���	��--����#	$%%&� 1 �%����/ 22 kV 
       ��������"��,23	��50� ��0������� ' ���()�#	 x = 4 m 

 
          - ��--����#	$%%&� 1 �%����/ 69 kV 

 

 
 

�.�0�� 6.17 ����������#�����$%%&���	��--����#	$%%&� 1 �%����/ 69 kV 
       ��������"��,23	��50� ��0������� ' ���()�#	 x = 4 m 
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6.4.2  	�������������� 3 "����&4� 

                            ��--����#	$%%&� 3 �%���/�����/ 69 kV ��������"��,23	��50� ��0�������  
' ���()�#	,/ * ���� $/30����������'����"'���	��--$%%&� 3 �%���/�������Y� 3 ��'� ��� 

          ����� VA = 69 0∠ �  kV VB = 69 120∠− �  kV VC = 69 120∠ �  kV  
          ����� VA = 69 120∠ �  kV VB = 69 0∠ �  kV VC = 69 120∠− �  kV  
          ����� VA = 69 120∠− �  kV VB = 69 120∠ �  kV VC = 69 0∠ �  kV  

                          5/����"'�����������#�����$%%&�(�����0�
���#�����$%%&���	��--���
�#	$%%&� 3 �%���/�����/ 69 kV 0��	 3 ��'� ��,)3���"'�0���)�������,�0����'� (�3
#���
�����'����()�#	0�����"��,23	��50� ��0������� ' ���()�#	,/�6��� 5/�$/3(�/	
����4�,���'�0��
���"��,23	��50� ��0������� ' ���()�#	 x = 2 m, 5 m (�� 8 m ������/�- ��3��0��	(�/	���
�����-�0��-�#�����$%%&�-���
' ��"����"��������,23	��50� ��0������� ' ���()�#	/�	��#�
 
X!�	 IRPA ��� �#�����=����	����$%%&��.	��/ 0�����"�����������
��$/3��#�	���/+�� 
$�#���� 5  kV/m 
 

 
 

�.�0�� 6.18 ����������#�����$%%&� (V/m) ��	��--����#	$%%&� 3 �%���/�����/ 69 kV 
         ' ���()�#	 x = 2 m 
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�.�0�� 6.19 ����������#�����$%%&� (V/m) ��	��--����#	$%%&� 3 �%���/�����/ 69 kV 
         ' ���()�#	 x = 5 m 

 

 
 

�.�0�� 6.20 ����������#�����$%%&� (V/m) ��	��--����#	$%%&� 3 �%���/�����/ 69 kV 
                       ' ���()�#	 x = 8 m 
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�.�0�� 6.21 �����-�0��-�#�����$%%&� (V/m) -���
' ��"����"��������,23	��50� ��0������� 

                     ' ���()�#	�#�	 * ��	��--$%%&� 3 �%���/�����/ 69 kV  
         

                            ��--����#	$%%&� 3 �%���/�����/ 115 kV ��������"��,23	��50� ��0�������  
' ���()�#	,/ * ���� $/30����������'����"'���	��--$%%&� 3 �%���/�������Y� 3 ��'� ��� 

          ����� VA = 115 0∠ �  kV VB = 115 120∠ − �  kV VC = 115 120∠ �  kV  
          ����� VA = 115 120∠ �  kV VB = 115 0∠ �  kV VC = 115 120∠ − �  kV  
          ����� VA = 115 120∠ − �  kV VB = 115 120∠ �  kV VC = 115 0∠ �  kV  

                           5/����"'�����������#�����$%%&�(�����0�
���#�����$%%&���	��--���
�#	$%%&� 3 �%����/ 115 kV 0��	 3 ��'� ��,)3���"'�0���)�������,�0����'� (�3
#��������'�
���()�#	0�����"��,23	��50� ��0������� ' ���()�#	,/�6��� 5/�$/3(�/	
����4�,���'�0�����"��
,23	��50� ��0������� ' ���()�#	 x = 3 m, 7 m (�� 11 m ������/�- ��3��0��	(�/	���
�����-�0��-�#�����$%%&�-���
' ��"����"��������,23	��50� ��0������� ' ���()�#	/�	��#�
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�.�0�� 6.22 ����������#�����$%%&� (V/m) ��	��--����#	$%%&� 3 �%���/�����/ 115 kV 
                      ' ���()�#	 x = 3 m  

 

 
 

�.�0�� 6.23 ����������#�����$%%&� (V/m) ��	��--����#	$%%&� 3 �%���/�����/ 115 kV 
                      ' ���()�#	 x = 7 m  
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�.�0�� 6.24 ����������#�����$%%&� (V/m) ��	��--����#	$%%&� 3 �%���/�����/ 115 kV 
                      ' ���()�#	 x = 11 m 

 

 

 
�.�0�� 6.25 �����-�0��-�#�����$%%&� (V/m) -���
' ��"����"��������,23	��50� ��0�������  

       ' ���()�#	�#�	 * ��	��--$%%&� 3 �%���/�����/ 115 kV  
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                        ��--����#	$%%&�  3  �%����/ 230 kV ��������"�� ,23	��50� ��0�������  
' ���()�#	,/ * ���� $/30����������'����"'���	��--$%%&� 3 �%���/�������Y� 3 ��'� ��� 

       ����� VA = 230 0∠ �  kV VB = 230 120∠ − �  kV VC = 230 120∠ �  kV  
       ����� VA = 230 120∠ �  kV VB = 230 0∠ �  kV VC = 230 120∠− �  kV  
       ����� VA = 230 120∠ − �  kV VB = 230 120∠ �  kV VC = 230 0∠ �  kV  

                       5/����"'�����������#�����$%%&�(�����0�
���#�����$%%&���	��--����#	
$%%&� 3 �%����/ 230 kV 0��	 3 ��'� ��,)3���"'�0���)�������,�0����'� (�3
#��������'�
���()�#	0�����"��,23	��50� ��0������� ' ���()�#	,/�6��� 5/�$/3(�/	
����4�,���'�0�����"��
,23	��50� ��0������� ' ���()�#	 x = 3 m, 10 m (�� 17 m ������/�- ��3��0��	(�/	���
�����-�0��-�#�����$%%&�-���
' ��"����"��������,23	��50� ��0������� ' ���()�#	/�	��#�
 

 

 
 

�.�0�� 6.26 ����������#�����$%%&� (V/m) ��	��--����#	$%%&� 3 �%���/�����/ 230 kV  
         ' ���()�#	 x = 3 m 
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�.�0�� 6.27 ����������#�����$%%&� (V/m) ��	��--����#	$%%&� 3 �%���/�����/ 230 kV 
        ' ���()�#	 x = 10 m  

 

 
 

�.�0�� 6.28 ����������#�����$%%&� (V/m) ��	��--����#	$%%&� 3 �%���/�����/ 230 kV  
                      ' ���()�#	 x = 17 m 
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�.�0�� 6.29 �����-�0��-�#�����$%%&� (V/m) -���
' ��"����"��������,23	��50� ��0�������  

        ' ���()�#	�#�	 * ��	��--$%%&� 3 �%���/�����/ 230 kV  
 

                        ��--����# 	$%%&�  3  �%����/ 500 kV ���� ����"�� ,23 	��50� ��0�������  
' ���()�#	,/ * ���� $/30����������'����"'���	��--$%%&� 3 �%���/�������Y� 3 ��'� ��� 
               ����� VA = 500 0∠ �  kV VB = 500 120∠ − �  kV VC = 500 120∠ �  kV  

       ����� VA = 500 120∠ �  kV VB = 500 0∠ �  kV VC = 500 120∠− �  kV  
       ����� VA = 500 120∠ − �  kV VB = 500 120∠ �  kV VC = 500 0∠ �  kV  

                       5/����"'�����������#�����$%%&�(�����0�
���#�����$%%&���	��--����#	
$%%&� 3 �%����/ 500 kV 0��	 3 ��'� ��,)3���"'�0���)�������,�0����'� (�3
#��������'�
���()�#	0�����"��,23	��50� ��0������� ' ���()�#	,/�6��� 5/�$/3(�/	
����4�,���'�0�����"��
,23	��50� ��0������� ' ���()�#	 x = 2 m, 12 m (�� 22 m ������/�- ��3��0��	(�/	���
�����-�0��-�#�����$%%&�-���
' ��"����"��������,23	��50� ��0������� ' ���()�#	/�	��#�
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�.�0�� 6.30 ����������#�����$%%&� (V/m) ��	��--����#	$%%&� 3 �%���/�����/ 500 kV 
                      ' ���()�#	 x = 2 m 

 

 
 

�.�0�� 6.31 ����������#�����$%%&� (V/m) ��	��--����#	$%%&� 3 �%���/�����/ 500 kV 
                      ' ���()�#	 x = 10 m 
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�.�0�� 6.32 ����������#�����$%%&� (V/m) ��	��--����#	$%%&� 3 �%���/�����/ 500 kV 
                      ' ���()�#	 x = 22 m 

 

 
 
 
 

 

 
�.�0�� 6.33 �����-�0��-�#�����$%%&� (V/m) -���
' ��"����"��������,23	��50� ��0�������  

                     ' ���()�#	�#�	 * ��	��--$%%&� 3 �%���/�����/ 500 kV  
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6.4.3  	�������������� 3 "�������&4� 

                            ���)��-��--$%%&� 3 �%�$�#��/��������������'��[������/ 230 kV �0#����� 
5/���(-#	��������	
������Y� 2 ��'� ��� ��'����/$�#��/�� ��- ��'�����%�$�#��/�� X!�	(�#
����'���(����������'������Y� 3 (-- �����,)3�)6�
����0-��	����$%%&�0���������(��	
$� ��������	������
��$�#��/��0�����/������/(������%���	(�	/��+��,�����#	 5/���
���������//�	�#�$���� 

��'����/$�#��/�� (±10%��	���/�%��3�	��	) �����-/3
���������'� 3 (-- ��� 
(--0�� 1  ����� VA = 230 0∠ �  kV VB = 207 120∠− �  kV VC = 253 120∠ �  kV 
(--0�� 2  ����� VA = 253 0∠ �  kV VB = 230 120∠ − �  kV VC = 207 120∠ �  kV 
(--0�� 3  ����� VA = 207 0∠ �  kV VB = 253 120∠ − �  kV VC = 230 120∠ �  kV 
��'�����%�$�#��/�� (±30º ��	����%��3�	��	) �����-/3
���������'� 3 (-- ��� 
(--0�� 1  ����� VA = 230 0∠ �  kV VB = 230 150∠ − �  kV VC = 230 150∠ �  kV 
(--0�� 2  ����� VA = 230 30∠ �  kV VB = 230 120∠ − �  kV VC = 230 90∠ �  kV  
(--0�� 3  ����� VA = 230 30∠− �  kV VB = 230 90∠ − �  kV VC = 230 120∠ �  
         - ��'����/$�#��/�� (±10%��	���/�%��3�	��	) 
 

 
 

�.�0�� 6.34 ����������#�����$%%&� (V/m) ��	��--����#	$%%&� 3 �%�$�#��/�� ����� 
                           VA = 230 0∠ �  kV VB = 207 120∠− �  kV VC = 253 120∠ �  kV ' ���()�#	 x =3 m 
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�.�0�� 6.35 ����������#�����$%%&� (V/m) ��	��--����#	$%%&� 3 �%�$�#��/�� �����  
                 VA = 253 0∠ �  kV VB = 230 120∠ − �  kV VC = 207 120∠ �  kV ' ���()�#	 x =3 m 

 

 
 

�.�0�� 6.36 ����������#�����$%%&� (V/m) ��	��--����#	$%%&� 3 �%�$�#��/�� ����� 
                  VA = 207 0∠ �  kV VB = 253 120∠ − �  kV VC = 230 120∠ �  kV ' ���()�#	 x =3 m 
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�.�0�� 6.37 ����������#�����$%%&� (V/m) ��	��--����#	$%%&� 3 �%�$�#��/�� ����� 
                   VA = 230 0∠ �  kV VB = 207 120∠− �  kV VC = 253 120∠ �  kV ' ���()�#	 x =10 m 

 

 
 

�.�0�� 6.38 ����������#�����$%%&� (V/m) ��	��--����#	$%%&� 3 �%�$�#��/�� ����� 
                   VA = 253 0∠ �  kV VB = 230 120∠ − �  kV VC = 207 120∠ �  kV ' ���()�#	 x =10 m 
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�.�0�� 6.39 ����������#�����$%%&� (V/m) ��	��--����#	$%%&� 3 �%�$�#��/�� �����  
                   VA = 207 0∠ �  kV VB = 253 120∠ − �  kV VC = 230 120∠ �  kV ' ���()�#	 x =10 m 

 

 
 

�.�0�� 6.40 ����������#�����$%%&� (V/m) ��	��--����#	$%%&� 3 �%�$�#��/�� �����  
                   VA = 230 0∠ �  kV VB = 207 120∠− �  kV VC = 253 120∠ �  kV ' ���()�#	 x =17 m 
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�.�0�� 6.41 ����������#�����$%%&� (V/m) ��	��--����#	$%%&� 3 �%�$�#��/�� �����  
                   VA = 253 0∠ �  kV VB = 230 120∠ − �  kV VC = 207 120∠ �  kV ' ���()�#	 x =17 m 

 

 
 

�.�0�� 6.42 ����������#�����$%%&� (V/m) ��	��--����#	$%%&� 3 �%�$�#��/�� �����  
                    VA = 207 0∠ �  kV VB = 253 120∠ − �  kV VC = 230 120∠ �  kV ' ���()�#	 x =17 m 
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�.�0�� 6.43 �����-�0��-�#�����$%%&� (V/m) -���
' ��"����"��������,23	��50� ��0�������  

     ' ���()�#	�#�	 * ��	��--$%%&� 3 �%�$�#��/�� (���/) 230 kV (--0�� 1 
 

 
 

�.�0�� 6.44 �����-�0��-�#�����$%%&� (V/m) -���
' ��"����"��������,23	��50� ��0�������  
     ' ���()�#	�#�	 * ��	��--$%%&� 3 �%�$�#��/�� (���/) 230 kV (--0�� 2 
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�.�0�� 6.45 �����-�0��-�#�����$%%&� (V/m) -���
' ��"����"��������,23	��50� ��0�������  
     ' ���()�#	�#�	 * ��	��--$%%&� 3 �%�$�#��/�� (���/) 230 kV (--0�� 3 

 
         - ��'�����%�$�#��/�� (±30º ��	����%��3�	��	) 
 

 
 

�.�0�� 6.46 ����������#�����$%%&� (V/m) ��	��--����#	$%%&� 3 �%�$�#��/�� �����  
                  VA = 230 0∠ �  kV VB = 230 150∠ − �  kV VC = 230 150∠ �  kV ' ���()�#	 x =3 m 
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�.�0�� 6.47 ����������#�����$%%&� (V/m) ��	��--����#	$%%&� 3 �%�$�#��/�� ����� 
                  VA = 230 30∠ �  kV VB = 230 120∠ − �  kV VC = 230 90∠ �  kV ' ���()�#	 x =3 m 

 

 
 

�.�0�� 6.48 ����������#�����$%%&� (V/m) ��	��--����#	$%%&� 3 �%�$�#��/�� �����  
                    VA = 230 30∠ − �  kV VB = 230 90∠− �  kV VC = 230 120∠ �  kV ' ���()�#	 x =3 m 
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            �#
�����������#�����$%%&���	��--����#	$%%&� 3 �%�$�#��/�� ��������"��
,23	��50� ��0������� ' ���()�#	 x = 10 m (�� 17 m �������"'������������
��3�������- �����
�����'� ' ���()�#	 x = 3 m 0��
#����0�������� 5/������
��(���#�	�����	���/�0#����� �!	
$�#���������,�0����� (�#$/3(�/	�����-�0��-�#�����$%%&�-���
' ��"����"��������,23	��
50� ��0������� ' ���()�#	/�	��#�
$/3/�	�.� 

 

 
 

�.�0�� 6.49 �����-�0��-�#�����$%%&� (V/m) -���
' ��"����"��������,23	��50� ��0�������  
   ' ���()�#	�#�	 * ��	��--$%%&� 3 �%�$�#��/�� (�%�) 230 kV (--0�� 1 
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�.�0�� 6.50 �����-�0��-�#�����$%%&� (V/m) -���
' ��"����"��������,23	��50� ��0�������  
   ' ���()�#	�#�	 * ��	��--$%%&� 3 �%�$�#��/�� (�%�) 230 kV (--0�� 2 

 

 
 

�.�0�� 6.51 �����-�0��-�#�����$%%&� (V/m) -���
' ��"����"��������,23	��50� ��0�������  
  ' ���()�#	�#�	 * ��	��--$%%&� 3 �%�$�#��/�� (�%�) 230 kV (--0�� 3 
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6.5  ����	
�����&*#�	�"����#�$������%����"���% 
,�)�
�3������Y�����������
���������	����������#�����$%%&���	��--����#	

$%%&�/3
����-��-
�4�$%$�0��������0� 5/���0����������	��--����#	$%%&�0��	��-- 1 �%� (�� 
3  � %�  ��3 ��0�� 	 0� � � � � � ��� � ��� � ()�# 	 ��	��� " ��  '  �'� ,23 	 �� 50� � �0� �� � �� �  
3 ���()�#	 �)����,�0����	�/��
��-�������
'�#�����$%%&�/3
����-��-
�4�$%$�0� 
/�%�%������0�0��
#���� �����,)3�)6��
��(���#�	��	���"'�����������#�����$%%&�0��
�������(��	$� X!�	������(�/	
���������	�#�����$%%&���	��--����#	$%%&� 1 �%� (�� 
��--$%%&� 3 �%����)�
�3��#�$���� 

6.5.1  	�������������� 1 "�� 
          - ��--����#	$%%&� 1 �%����/ 220 V 

 

 
 

�.�0�� 6.52 ����������#�����$%%&� (V/m) ��	��--����#	$%%&� 1 �%����/ 220 V 
                            ��������"��,23	��50� ��0������� ' ���()�#	 x = 1 m 
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�.�0�� 6.53 ����������#�����$%%&� (V/m) ��	��--����#	$%%&� 1 �%����/ 220 V 
                            ��������"��,23	��50� ��0������� ' ���()�#	 x = 4 m 

 

                     
 

�.�0�� 6.54 ����������#�����$%%&� (V/m) ��	��--����#	$%%&� 1 �%����/ 220 V 
                            ��������"��,23	��50� ��0������� ' ���()�#	 x = 7 m 
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 - ��--����#	$%%&� 1 �%����/ 22 kV 
                �����	�����������	
�����������#�����$%%&���	��--����#	$%%&� 1 �%� 
���/ 22 kV (�� 69 kV �����"'���3����!	��-��--����#	$%%&� 1 �%����/ 220 V (���#�	0��
�#�����$%%&���	��
���,�����#	 ��-���/����0��0/��-��	��-- /�	�����!	������������"'�
����������#�����$%%&�(�����0�
���#�����$%%&���	��--����#	$%%&����/ 22 kV (��  
69 kV ����	 1 ��'� ��� ���,23	��50� ��0���������	���"�� ' ���()�#	�!�	���	��	��--�0#����� 
�����,)3�����)�0���������+��,�
�0������4����
�����2�-������	�!�� 

 

 
 

�.�0�� 6.55 ����������#�����$%%&� (V/m) ��	��--����#	$%%&� 1 �%����/ 22 kV 
                            ��������"��,23	��50� ��0������� ' ���()�#	 x = 4 m 
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          - ��--����#	$%%&� 1 �%����/ 69 kV 
 

 
 

�.�0�� 6.56 ����������#�����$%%&� (V/m) ��	��--����#	$%%&� 1 �%����/ 69 kV 
                            ��������"��,23	��50� ��0������� ' ���()�#	 x = 4 m 

 
6.5.2  	�������������� 3 "����&4� 

                            ��--����#	$%%&� 3 �%���/�����/ 69 kV ��������"��,23	��50� ��0�������  
' ���()�#	,/ * ���� $/30����������'����"'���	��--$%%&� 3 �%���/�������Y� 3 ��'� ��� 

          ����� VA = 69 0∠ �  kV VB = 69 120∠− �  kV VC = 69 120∠ �  kV  
          ����� VA = 69 120∠ �  kV VB = 69 0∠ �  kV VC = 69 120∠− �  kV  
          ����� VA = 69 120∠− �  kV VB = 69 120∠ �  kV VC = 69 0∠ �  kV  

                          5/����"'�����������#�����$%%&�(�����0�
���#�����$%%&���	��--���
�#	$%%&� 3 �%���/�����/ 69 kV 0��	 3 ��'� ��,)3���"'�0���)�������,�0����'� (�3
#���
�����'����()�#	0�����"��,23	��50� ��0������� ' ���()�#	,/�6��� 5/�$/3(�/	
����4�,���'�0��
���"��,23	��50� ��0������� ' ���()�#	 x = 2 m, 5 m (�� 8 m ������/�- ��3��0��	(�/	���
�����-�0��-�#�����$%%&�-���
' ��"����"��������,23	��50� ��0������� ' ���()�#	/�	��#�
 
X!�	 IRPA ��� �#�����=����	����$%%&��.	��/ 0�����"�����������
��$/3��#�	���/+�� 
$�#���� 5  kV/m 
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�.�0�� 6.57 ����������#�����$%%&� (V/m) ��	��--����#	$%%&� 3 �%���/�����/ 69 kV 
                       ' ���()�#	 x = 2 m 
 

 
 

�.�0�� 6.58 ����������#�����$%%&� (V/m) ��	��--����#	$%%&� 3 �%���/�����/ 69 kV 
                       ' ���()�#	 x = 5 m 
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�.�0�� 6.59 ����������#�����$%%&� (V/m) ��	��--����#	$%%&� 3 �%���/�����/ 69 kV  
                       ' ���()�#	 x = 8 m 

 

 

 
�.�0�� 6.60 �����-�0��-�#�����$%%&� (V/m) -���
' ��"����"��������,23	��50� ��0�������  

                     ' ���()�#	�#�	 * ��	��--$%%&� 3 �%���/�����/ 69 kV          
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                            ��--����#	$%%&� 3 �%���/�����/ 115 kV ��������"��,23	��50� ��0�������  
' ���()�#	,/ * ���� $/30����������'����"'���	��--$%%&� 3 �%���/�������Y� 3 ��'� ��� 

          ����� VA = 115 0∠ �  kV VB = 115 120∠ − �  kV VC = 115 120∠ �  kV  
          ����� VA = 115 120∠ �  kV VB = 115 0∠ �  kV VC = 115 120∠ − �  kV  
          ����� VA = 115 120∠ − �  kV VB = 115 120∠ �  kV VC = 115 0∠ �  kV  

                           5/����"'�����������#�����$%%&�(�����0�
���#�����$%%&���	��--���
�#	$%%&� 3 �%����/ 115 kV 0��	 3 ��'� ��,)3���"'�0���)�������,�0����'� (�3
#��������'�
���()�#	0�����"��,23	��50� ��0������� ' ���()�#	,/�6��� 5/�$/3(�/	
����4�,���'�0�����"��
,23	��50� ��0������� ' ���()�#	 x = 3 m, 7 m (�� 11 m ������/�- ��3��0��	(�/	���
�����-�0��-�#�����$%%&�-���
' ��"����"��������,23	��50� ��0������� ' ���()�#	/�	��#�
  

 

 
 

�.�0�� 6.61 ����������#�����$%%&� (V/m) ��	��--����#	$%%&� 3 �%���/�����/ 115 kV  
                      ' ���()�#	 x = 3 m  
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�.�0�� 6.62 ����������#�����$%%&� (V/m) ��	��--����#	$%%&� 3 �%���/�����/ 115 kV  
' ���()�#	 x = 7 m  

 

 
 

�.�0�� 6.63 ����������#�����$%%&� (V/m) ��	��--����#	$%%&� 3 �%���/�����/ 115 kV 
                      ' ���()�#	 x = 11 m 
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�.�0�� 6.64 �����-�0��-�#�����$%%&� (V/m) -���
' ��"����"��������,23	��50� ��0�������  

                     ' ���()�#	�#�	 * ��	��--$%%&� 3 �%���/�����/ 115 kV  
 
                        ��--����#	$%%&�  3  �%����/ 230 kV ��������"�� ,23	��50� ��0�������  
' ���()�#	,/ * ���� $/30����������'����"'���	��--$%%&� 3 �%���/�������Y� 3 ��'� ��� 

       ����� VA = 230 0∠ �  kV VB = 230 120∠ − �  kV VC = 230 120∠ �  kV  
       ����� VA = 230 120∠ �  kV VB = 230 0∠ �  kV VC = 230 120∠− �  kV  
       ����� VA = 230 120∠ − �  kV VB = 230 120∠ �  kV VC = 230 0∠ �  kV  

                       5/����"'�����������#�����$%%&�(�����0�
���#�����$%%&���	��--����#	
$%%&� 3 �%����/ 230 kV 0��	 3 ��'� ��,)3���"'�0���)�������,�0����'� (�3
#��������'�
���()�#	0�����"��,23	��50� ��0������� ' ���()�#	,/�6��� 5/�$/3(�/	
����4�,���'�0�����"��
,23	��50� ��0������� ' ���()�#	 x = 3 m, 10 m (�� 17 m ������/�- ��3��0��	(�/	���
�����-�0��-�#�����$%%&�-���
' ��"����"��������,23	��50� ��0������� ' ���()�#	/�	��#�
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�.�0�� 6.65 ����������#�����$%%&� (V/m) ��	��--����#	$%%&� 3 �%���/�����/ 230 kV 
                      ' ���()�#	 x = 3 m 

 

 
 

�.�0�� 6.66 ����������#�����$%%&� (V/m) ��	��--����#	$%%&� 3 �%���/�����/ 230 kV 
                      ' ���()�#	 x = 10 m  
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�.�0�� 6.67 ����������#�����$%%&� (V/m) ��	��--����#	$%%&� 3 �%���/�����/ 230 kV 
                      ' ���()�#	 x = 17 m 

 

 

 
�.�0�� 6.68 �����-�0��-�#�����$%%&� (V/m) -���
' ��"����"��������,23	��50� ��0�������  

                     ' ���()�#	�#�	 * ��	��--$%%&� 3 �%���/�����/ 230 kV  
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                        ��--����# 	$%%&�  3  �%����/ 500 kV ���� ����"�� ,23 	��50� ��0�������  
' ���()�#	,/ * ���� $/30����������'����"'���	��--$%%&� 3 �%���/�������Y� 3 ��'� ��� 
               ����� VA = 500 0∠ �  kV VB = 500 120∠ − �  kV VC = 500 120∠ �  kV  

       ����� VA = 500 120∠ �  kV VB = 500 0∠ �  kV VC = 500 120∠− �  kV  
       ����� VA = 500 120∠ − �  kV VB = 500 120∠ �  kV VC = 500 0∠ �  kV  

                       5/����"'�����������#�����$%%&�(�����0�
���#�����$%%&���	��--����#	
$%%&� 3 �%����/ 500 kV 0��	 3 ��'� ��,)3���"'�0���)�������,�0����'� (�3
#��������'�
���()�#	0�����"��,23	��50� ��0������� ' ���()�#	,/�6��� 5/�$/3(�/	
����4�,���'�0�����"��
,23	��50� ��0������� ' ���()�#	 x = 2 m, 12 m (�� 22 m ������/�- ��3��0��	(�/	���
�����-�0��-�#�����$%%&�-���
' ��"����"��������,23	��50� ��0������� ' ���()�#	/�	��#�
 

 

 
 

�.�0�� 6.69 ����������#�����$%%&� (V/m) ��	��--����#	$%%&� 3 �%���/�����/ 500 kV 
                      ' ���()�#	 x = 2 m 
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�.�0�� 6.70 ����������#�����$%%&� (V/m) ��	��--����#	$%%&� 3 �%���/�����/ 500 kV 
                      ' ���()�#	 x = 10 m 
 

 
 

�.�0�� 6.71 ����������#�����$%%&� (V/m) ��	��--����#	$%%&� 3 �%���/�����/ 500 kV 
                      ' ���()�#	 x = 22 m 
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�.�0�� 6.72 �����-�0��-�#�����$%%&� (V/m) -���
' ��"����"��������,23	��50� ��0�������  

                     ' ���()�#	�#�	 * ��	��--$%%&� 3 �%���/�����/ 500 kV  
 

6.5.3  	�������������� 3 "�������&4� 

            ���)��-��--$%%&� 3 �%�$�#��/��������������'��[������/ 230 kV �0#����� 
5/���(-#	��������	
������Y� 2 ��'� ��� ��'����/$�#��/�� ��- ��'�����%�$�#��/�� X!�	(�#
����'���(����������'������Y� 3 (-- �����,)3�)6�
����0-��	����$%%&�0���������(��	
$� ��������	������
��$�#��/��0�����/������/(������%���	(�	/��+��,�����#	 5/���
���������//�	�#�$���� 

��'����/$�#��/�� (±10%��	���/�%��3�	��	) �����-/3
���������'� 3 (-- ��� 
(--0�� 1  ����� VA = 230 0∠ �  kV VB = 207 120∠− �  kV VC = 253 120∠ �  kV 
(--0�� 2  ����� VA = 253 0∠ �  kV VB = 230 120∠ − �  kV VC = 207 120∠ �  kV 
(--0�� 3  ����� VA = 207 0∠ �  kV VB = 253 120∠ − �  kV VC = 230 120∠ �  kV 
��'�����%�$�#��/�� (±30º ��	����%��3�	��	) �����-/3
���������'� 3 (-- ��� 
(--0�� 1  ����� VA = 230 0∠ �  kV VB = 230 150∠ − �  kV VC = 230 150∠ �  kV 
(--0�� 2  ����� VA = 230 30∠ �  kV VB = 230 120∠ − �  kV VC = 230 90∠ �  kV  
(--0�� 3  ����� VA = 230 30∠− �  kV VB = 230 90∠ − �  kV VC = 230 120∠ �  
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           - ��'����/$�#��/�� (±10%��	���/�%��3�	��	) 
 

 
 

�.�0�� 6.73 ����������#�����$%%&� (V/m) ��	��--����#	$%%&� 3 �%�$�#��/�� ����� 
                 VA = 230 0∠ �  kV VB = 207 120∠− �  kV VC = 253 120∠ �  kV ' ���()�#	 x =3 m 

 

 
 

�.�0�� 6.74 ����������#�����$%%&� (V/m) ��	��--����#	$%%&� 3 �%�$�#��/�� �����  
                 VA = 253 0∠ �  kV VB = 230 120∠ − �  kV VC = 207 120∠ �  kV ' ���()�#	 x =3 m 
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�.�0�� 6.75 ����������#�����$%%&� (V/m) ��	��--����#	$%%&� 3 �%�$�#��/�� �����  
                 VA = 207 0∠ �  kV VB = 253 120∠ − �  kV VC = 230 120∠ �  kV ' ���()�#	 x =3 m 

 

 
 

�.�0�� 6.76 ����������#�����$%%&� (V/m) ��	��--����#	$%%&� 3 �%�$�#��/�� �����  
                   VA = 230 0∠ �  kV VB = 207 120∠− �  kV VC = 253 120∠ �  kV ' ���()�#	 x =10 m 
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�.�0�� 6.77 ����������#�����$%%&� (V/m) ��	��--����#	$%%&� 3 �%�$�#��/�� �����  
                   VA = 253 0∠ �  kV VB = 230 120∠ − �  kV VC = 207 120∠ �  kV ' ���()�#	 x =10 m 

 

 
 

�.�0�� 6.78 ����������#�����$%%&� (V/m) ��	��--����#	$%%&� 3 �%�$�#��/�� �����  
                   VA = 207 0∠ �  kV VB = 253 120∠ − �  kV VC = 230 120∠ �  kV ' ���()�#	 x =10 m 
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�.�0�� 6.79 ����������#�����$%%&� (V/m) ��	��--����#	$%%&� 3 �%�$�#��/�� �����  
                   VA = 230 0∠ �  kV VB = 207 120∠− �  kV VC = 253 120∠ �  kV ' ���()�#	 x =17 m 

 

 
 

�.�0�� 6.80 ����������#�����$%%&� (V/m) ��	��--����#	$%%&� 3 �%�$�#��/�� �����  
                   VA = 253 0∠ �  kV VB = 230 120∠ − �  kV VC = 207 120∠ �  kV ' ���()�#	 x =17 m 
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�.�0�� 6.81 ����������#�����$%%&� (V/m) ��	��--����#	$%%&� 3 �%�$�#��/�� �����  
                   VA = 207 0∠ �  kV VB = 253 120∠ − �  kV VC = 230 120∠ �  kV ' ���()�#	 x =17 m 

 
 

 

         

 
�.�0�� 6.82 �����-�0��-�#�����$%%&� (V/m) -���
' ��"����"��������,23	��50� ��0�������  

     ' ���()�#	�#�	 * ��	��--$%%&� 3 �%�$�#��/�� (���/) 230 kV (--0�� 1 
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�.�0�� 6.83 �����-�0��-�#�����$%%&� (V/m) -���
' ��"����"��������,23	��50� ��0�������  
     ' ���()�#	�#�	 * ��	��--$%%&� 3 �%�$�#��/�� (���/) 230 kV (--0�� 2 

 
 

 
 

�.�0�� 6.84 �����-�0��-�#�����$%%&� (V/m) -���
' ��"����"��������,23	��50� ��0�������  
     ' ���()�#	�#�	 * ��	��--$%%&� 3 �%�$�#��/�� (���/) 230 kV (--0�� 3 
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           - ��'�����%�$�#��/�� (±30º ��	����%��3�	��	) 
 

 
 

�.�0�� 6.85 ����������#�����$%%&� (V/m) ��	��--����#	$%%&� 3 �%�$�#��/�� �����  
                 VA = 230 0∠ �  kV VB = 230 150∠ − �  kV VC = 230 150∠ �  kV ' ���()�#	 x =3 m 

 

 
 

�.�0�� 6.86 ����������#�����$%%&� (V/m) ��	��--����#	$%%&� 3 �%�$�#��/�� ����� 
                 VA = 230 30∠ �  kV VB = 230 120∠− �  kV VC = 230 90∠ �  kV ' ���()�#	 x =3 m 
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�.�0�� 6.87 ����������#�����$%%&� (V/m) ��	��--����#	$%%&� 3 �%�$�#��/�� �����  
                    VA = 230 30∠ − �  kV VB = 230 90∠− �  kV VC = 230 120∠ �  kV ' ���()�#	 x =3 m 

 
           �#
�����������#�����$%%&���	��--����#	$%%&� 3 �%�$�#��/�� ��������"��

,23	��50� ��0������� ' ���()�#	 x = 10 m (�� 17 m �������"'������������
��3�������- �����
�����'� ' ���()�#	 x = 3 m 0��
#����0�������� 5/������
��(���#�	�����	���/�0#����� �!	
$�#���������,�0����� (�#$/3(�/	�����-�0��-�#�����$%%&�-���
' ��"����"��������,23	��
50� ��0������� ' ���()�#	/�	��#�
$/3/�	�.� 
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�.�0�� 6.88 �����-�0��-�#�����$%%&� (V/m) -���
' ��"����"��������,23	��50� ��0�������  
  ' ���()�#	�#�	 * ��	��--$%%&� 3 �%�$�#��/�� (�%�) 230 kV (--0�� 1 

 

 
 

�.�0�� 6.89 �����-�0��-�#�����$%%&� (V/m) -���
' ��"����"��������,23	��50� ��0�������  
   ' ���()�#	�#�	 * ��	��--$%%&� 3 �%�$�#��/�� (�%�) 230 kV (--0�� 2 

 
 
 
 
 



 

144 

 
 

 
 

�.�0�� 6.90 �����-�0��-�#�����$%%&� (V/m) -���
' ��"����"��������,23	��50� ��0�������  
   ' ���()�#	�#�	 * ��	��--$%%&� 3 �%�$�#��/�� (�%�) 230 kV (--0�� 3 

 
           �������	������'������-�0��-
��[���#�����$%%&���	���-��-
�4�$%$�0� 

/�%�%������0� (�����-��-$%$�0��������0� ���)6�
#�+�����"'�����������#�����$%%&� (��
���%��3����0�
��������-��-
�4�0��	��	+��,���--����#	$%%&� 1 �%�(�� 3 �%����/�#�	 * ��
���"'�,��3����	��� (������-�)�������0��+����������	 X!�	��/��3�	��Y�$�,�0����	�/��
���
���0~"\� 

 

6.6  ����	
�����"�1��2�
�	5�������)��6�#����*��7*�� 
 ,�(�#����--��	����#	$%%&�(�	�.	�����������'��+�
�����������(��	�
���.	 
��	���()�#	��
���������"'����)�#����	����#	��/��Y� 3 ��/�- ��� 100%  75% (�� 50% 
��	��/�-�
���.	��
�������#	 �����	���
��[���#�����$%%&���	���-��-
�4�$%$�0�/�%�%���
���0�(�����-��-$%$�0����� ���0������"'���/��3�	$�,�0����	�/��
��� �����,)3�����)�

�0������4����
�����2�- �!	���������
��[��������-��-$%$�0��������0�����	��#�	�/��

�0#����� X!�	������(�/	�#�����$%%&�0���������(��	��	(�#����-- ���������!	�!	�+�
��� 
03�	23�	������,23	��50� ��0�������-���
' ��"����"��$/3/�	��� 
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- ��--$%%&� 3 �%���/�����/ 69 kV 

 

 
 

�.�0�� 6.91 ����������#�����$%%&� (V/m) ��	��--$%%&� 3 �%���/�����/ 69 kV  
                           �������	��/�-�
���.	��	��
���0�� 100%  

 

 
 

 �.�0�� 6.92 ����������#�����$%%&� (V/m) ��	��--$%%&� 3 �%���/�����/ 69 kV 
                                  �������	��/�-�
���.	��	��
���0�� 75% 
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�.�0�� 6.93 ����������#�����$%%&� (V/m) ��	��--$%%&� 3 �%���/�����/ 69 kV   
                           �������	��/�-�
���.	��	��
���0�� 50% 

 

 

 
�.�0�� 6.94 �����-�0��-�#�����$%%&� (V/m) 0���������(��	�����/�-�
���.	��	��
��� 

                          ��	��--$%%&� 3 �%���/�����/ 69 kV 
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- ��--$%%&� 3 �%���/�����/ 115 kV 

 

 
 

�.�0�� 6.95 ����������#�����$%%&� (V/m) ��	��--$%%&� 3 �%���/�����/ 115 kV   
                          �������	��/�-�
���.	��	��
���0�� 100% 

 

 
 

�.�0�� 6.96 ����������#�����$%%&� (V/m) ��	��--$%%&� 3 �%���/�����/ 115 kV   
                          �������	��/�-�
���.	��	��
���0�� 75% 
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�.�0�� 6.97 ����������#�����$%%&� (V/m) ��	��--$%%&� 3 �%���/�����/ 115 kV   
                          �������	��/�-�
���.	��	��
���0�� 50% 

 

 
 

�.�0�� 6.98 �����-�0��-�#�����$%%&� (V/m) 0���������(��	�����/�-�
���.	��	��
��� 
                          ��	��--$%%&� 3 �%���/�����/ 115 kV 
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-��--$%%&� 3 �%����/ 230 kV 

 

 
 

�.�0�� 6.99 ����������#�����$%%&� (V/m) ��	��--$%%&� 3 �%���/�����/ 230 kV   
                          �������	��/�-�
���.	��	��
���0�� 100% 

 

 
 

�.�0�� 6.100 ����������#�����$%%&� (V/m) ��	��--$%%&� 3 �%���/�����/ 230 kV  
                           �������	��/�-�
���.	��	��
���0�� 75% 
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�.�0�� 6.101 ����������#�����$%%&� (V/m) ��	��--$%%&� 3 �%���/�����/ 230 kV  

                           �������	��/�-�
���.	��	��
���0�� 50% 

 

 

 
�.�0�� 6.102 �����-�0��-�#�����$%%&� (V/m) 0���������(��	�����/�-�
���.	��	��
��� 

                           ��	��--$%%&� 3 �%���/�� 230 kV  
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- ��--$%%&� 3 �%����/ 500 kV 

 

 
 

�.�0�� 6.103 ����������#�����$%%&� (V/m) ��	��--$%%&� 3 �%���/�����/ 500 kV 
                           �������	��/�-�
���.	��	��
���0�� 100% 

 

 
 

�.�0�� 6.104 ����������#�����$%%&� (V/m) ��	��--$%%&� 3 �%���/�����/ 500 kV   
                           �������	��/�-�
���.	��	��
���0�� 75% 
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�.�0�� 6.105 ����������#�����$%%&� (V/m) ��	��--$%%&� 3 �%���/�����/ 500 kV 
                           �������	��/�-�
���.	��	��
���0�� 50% 

 

 

 
�.�0�� 6.106 �����-�0��-�#�����$%%&� (V/m) 0���������(��	�����/�-�
���.	��	��
��� 

                           ��	��--$%%&� 3 �%���/�� 500 kV 
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�.�0�� 6.107 �����-�0��-�#�����$%%&� (V/m) ,�(�#����-- 

                                                 �����/�-�
���.	��	��
��� 
 

6.7  "�	���"��������	
�����
�� 2 �����+���	
�	����"	9
	'� 
 ������������
���.��3�	��	5��(���0����]���!��0��	��	
�4� ��� ���-��-
�4�$%$�0� 
/�%�%������0� (�����-��-
�4�$%$�0��������0� ��0����������-�0��-
��[���#�����$%%&���-
5��(��������6��.� PDETOOL 5/���������
��#�	��#�		#������������-�0��-
��[���#�
����$%%&�/3
���--����#	$%%&� 3 �%����/ 230 kV ���5��(��� PDETOOL ������
���)�/�#�������������#�	 * ��	��--$/3/�	��� (��������-�0��-
�,�����	��� �������'��[���
���/(�	/����	����#	 �#
�����%���$�#����������'� 0��	��������5��(��� PDETOOL ��
�3������/,��#
���	����
��2�	X3��) 
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����	0�� 6.2 ���)�/�#���������������)��-5��(��� PDETOOL 
��
���,�����#	 230 kV 

����������� �#� 
�#�����$%%&�,���
���0�� 1 (E1) 
�#�����$%%&�,���
���0�� 2 (E2) 
�#�����$%%&�,���
���0�� 3 (E3) 
�
����� (f) 
�� ����
��� (r) 

2.8203×105 V/m 
2.8203×105 V/m 
2.8203×105 V/m 

50 Hz 
0.01 m 

����  
����������� �#� 

�+��X�-X!�$/30�	(�#�)�6�,��.ZZ��� (µ0) 
�+��X�-X!�$/30�	(�#�)�6������04�,�����  (µr) 
�+�����$/30�	$%%&�,��.ZZ���  (ε0) 
�+�����$/30�	$%%&������04�,�����  (εr) 

4 π ×10-7  H/m 
1.00000037 

8.854×10-12  F/m 
1 

���"�� 
����������� �#� 

�+��X�-X!�$/30�	(�#�)�6�,��.ZZ��� (µ0) 
�+��X�-X!�$/30�	(�#�)�6������04�,����"��(µr) 
�+�����$/30�	$%%&�,��.ZZ���  (ε0) 
�+�����$/30�	$%%&������04�,����"�� (εr) 

4 π ×10-7  H/m 
1.00000037 

8.854×10-12  F/m 
5 

50� ��0������� 
����������� �#� 

-���
'��--�X3����	��
������	 (P1) 
-���
'��--��
���	��
������	 (P2) 
-���
'��-/3��X3����	��
������	 (P3) 
-���
'��-/3���
���	��
������	 (P4) 
-���
'��-�#�	X3����	��
������	 (P5) 
-���
'��-�#�	�
���	��
������	 (P6) 

45.5 V/m 
45.5 V/m 
33.5 V/m 
48.2 V/m 
48.5 V/m 
48.5 V/m 
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�.�0�� 6.108 ������(--���//3
� PDETOOL ��	��--����#	$%%&����/ 230 kV  

 

 

 
�.�0�� 6.109 �������������$%%&�0����������-����#	$%%&� 3 �%����/ 230 kV 

    /3
� PDETOOL 
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�.�0�� 6.110 ����������#�����$%%&���	��--����#	$%%&� 3 �%����/ 230 kV 
                                  /3
����-��-
�4�$%$�0�/�%�%������0� 

 
 

 
 

 

 
 

�.�0�� 6.111 ����������#�����$%%&���	��--����#	$%%&� 3 �%����/ 230 kV 
                                  /3
����-��-
�4�$%$�0��������0� 
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)��	������(--���/��	��--����#	$%%&� 230 kV /3
�5��(��� PDETOOL �� 
���������(--$/3/�	�.�0�� 6.108 �������0�����)��#�
��[��0��$/3��� PDETOOL (������#�
�
�[��0��$/3��
�/���%,)�#,�5���(��� MATLABTM 5/��.�0�� 6.109 ��� ���%����������#�
����$%%&���-����#	 (��������(�/	
��[��/�	��#�
/3
����-��-
�4�$%$�0�/�%�%������0� 
��-���-��-
�4�$%$�0��������0�$/3/�	�.�0�� 6.110 (���.�0�� 6.111 ������/�- 

����	����)6�
#�
��[���#�����$%%&���	��--����#	$%%&� 3 �%����/ 230 kV ��	
5��(��� PDETOOL ����
��[��,��3����	�����-���-��-
�4�$%$�0�/�%�%������0� (�����-��-

�4�$%$�0��������0� (�������,)3�)6��!	�
���.��3�	,��������
'������	�!�� �!	0����������-�0��-
�����-��)
#�	5�/�#�5�/��	(�#��
�4� 5/��� �����()�#	����/�����-��	���-��-$%$�0�����
���0���Y�)���,�����3�	��	 (847 5�/) X!�	��������������������/���������$/3/�	���  

 
/���������0�� PDETOOL: 

1. ��3�	��--����#	$%%&� 3 �%����/ 230 kV  
2. ��6-�#�
��[����� PDETOOL (���#����()�#	����/��	(�#��5�/ 
3. ,23������	 griddata ��	5��(��� MATLABTM ,����)������-���5�/�3�	��	��	��-- 

������-��-$%$�0��������0�  5/��� ���3��.�,��������
'����������0�� 2 
/���������0�����-��-
�4�$%$�0�/�%�%������0�: 

4. ��3�	��--����#	$%%&� 3 �%����/ 230 kV 
5. ��6-�#�
��[����� ���-��-
�4�$%$�0�/�%�%������0� (���#����()�#	����/��	(�#��5�/ 
6. ,23������	 griddata ��	5��(��� MATLABTM ,����)������-���5�/�3�	��	��	��-- 

������-��-$%$�0��������0�5/�,23�3��.�,��������
'����������0�� 5 
7. �����-�0��-�����-5�/�#�5�/��)
#�	
��[���#�����$%%&���	���-��-
�4�0��	��	 ��� 

���-��-
�4�$%$�0�/�%�%������0� (�� ���-��-$%$�0��������0� ��-5��(��������6��.� 
PDETOOL 
���
�4�/�������������������/�	��#�
�����������-�0��-
��[���#�����$%%&���	

���-��-
�4�$%$�0�/�%�%������0� (�� ���-��-$%$�0��������0� ��-5��(��������6��.� PDETOOL 
X!�	������(�/	$/3����.�0�� 6.112 5/��.�/�	��#�
�������-�0��-�����-(--5�/�#�5�/0��	)�/ 
+��,�3��--����#	$%%&� 3 �%����/ 230 kV 
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 �����������	����������-���
'0�������-�0��-�����-(--5�/�#�5�/�����Y�2#
	 * 
$/3/�	�.�0�� 6.113-6.115 ������3�	���,)3�)6��!	�
�����/�����������������
'0�����/�!����	
���-��-
�4�$%$�0�/�%�%������0� (�����-��-$%$�0��������0� ��-5��(��� PDETOOL    

 
 

 
 

�.�0�� 6.112 �����-5�/�#�5�/+��,�2#
	5�/ 1-847 
 

 
 

�.�0�� 6.113 �����-5�/�#�5�/+��,�2#
	5�/ 100-300 
 
 



 

159 

 

 
 

�.�0�� 6.114 �����-5�/�#�5�/+��,�2#
	5�/ 200-450 

 

 
 

�.�0�� 6.115 �����-5�/�#�5�/+��,�2#
	5�/ 550-847 
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�������	�����������-�0��-
��[���#�����$%%&���	���-��-
�4�$%$�0�/�%�%������0� 
(�����-��-$%$�0��������0� ��-5��(��������6��.� PDETOOL ���)6�
#���3����%������-��-
�4�
$%$�0�/�%�%������0� (�����-��-$%$�0��������0������"'�,��3����	������(������-0�-�����/�
���/0��2#
	5�//�	����b,��.�0�� 6.112 ,��'�0��
��[���#�����$%%&����5��(��������6��.� 
PDETOOL �������"'���3����%,�0����	�/��
��-���-��-
�4�0��	��	�2#���� (�#��,)3
��[��0��
(���#�	-3�	,�-�	2#
	�����-X!�	��������	���$/3����.�0�� 6.113-6.115 5/����)���
�����/
�������0�� ���/�!����������������)�/�#��� ����
�����	����#	+��,�5��(��������6��.� 
PDETOOL ����������	����������
'/3
����-��-
�4�$%$�0�/�%�%������0� (�� ���-��-$%$�0� 
���� ���0������)�/,)3��
��������"'���Y���/ ,��'�0��5��(��� PDETOOL $�#������
���)�/,)3��
�����Y���/$/3 ���3�	0������&���#��� ����
���0������	0��0���������
' �!	��Y����)��,)3
���/�
��(���#�	��	
��[��0��$/3  

 
����	0�� 6.3 �����-�0��-�#�����$%%&���)
#�	���,23	��(��$�#,23	��50� ��0������� 

��--$%%&� 1 �%� 

�#�����$%%&�-���
' ��"����"�� (V/m) 
���()�#	0�� 1 ���()�#	0�� 2 ���()�#	0�� 3 

��--
$%%&� 

,23	�� $�#,23	�� ,23	�� $�#,23	�� ,23	�� $�#,23	�� 
220V 59.44 57.378 60.345 50.86 59.44 51.47 

22kV 711.2 708.2 713.9 709.3 712.9 708.2 

69kV 990.59 990.16 999.5 994.97 990.6 990.16 

��--$%%&� 3 �%���/�� 
�#�����$%%&�-���
' ��"����"�� (V/m) 

���()�#	0�� 1 ���()�#	0�� 2 ���()�#	0�� 3 
��--
$%%&� 

,23	�� $�#,23	�� ,23	�� $�#,23	�� ,23	�� $�#,23	�� 
69kV 1.623×103 1.509×103 342.83 270.09 1.4813×103 1.509×103 

115kV 3.093×103 3.036×103 337.22 225.16 3.036×103 2.964×103 

230kV 5.969×103 5.877×103 796.597 721.04 5.775×103 5.755×103 

500kV 1.713×104 1.703×104 5.419×103 5.357×103 1.688×104 1.683×104 
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����	0�� 6.3 �����-�0��-�#�����$%%&���)
#�	���,23	��(��$�#,23	��50� ��0������� (�#�) 
��--$%%&� 3 �%�$�#��/�� (���/) 

�#�����$%%&�-���
' ��"����"�� (V/m) 
���()�#	0�� 1 ���()�#	0�� 2 ���()�#	0�� 3 

��--
$%%&� 

,23	�� $�#,23	�� $�#,23	�� $�#,23	�� ,23	�� $�#,23	�� 

230kV#1 5.510 ×103 5.646×103 959.28 952.27 7.039×103 6.973×103 

230kV#2 7.488×103 7.344×103 1.862×103 1.627×103 2.812×103 2.633×103 

230kV#3 5.107×103 4.993×103 2.182×103 2.152×103 6.378×103 6.335×103 

��--$%%&� 3 �%�$�#��/�� (�%�) 
�#�����$%%&�-���
' ��"����"�� (V/m) 

���()�#	0�� 1 ���()�#	0�� 2 ���()�#	0�� 3 
��--
$%%&� 

,23	�� $�#,23	�� ,23	�� $�#,23	�� ,23	�� $�#,23	�� 
230kV#1 1.513×104 1.501×104 9.131×103 9.054×103 3.034×103 2.911×103 

230kV#2 7.361×103 7.054×103 5.493×103 5.045×103 6.353×103 6.154×103 

230kV#3 1.283×104 1.25×104 7.072×103 6.799×103 1.698×103 1.629×103 

 
����	0�� 6.4 
��#�	�#�����$%%&���)
#�	���,23	��(��$�#,23	��50� ��0������� 

��--$%%&� 1 �%� 


��#�	�#�����$%%&� (V/m)  ��--
$%%&� ���()�#	0�� 1 ���()�#	0�� 2 ���()�#	0�� 3 

220V 2.062 9.485 7.970 

22kV 3.000 4.600 4.700 

69kV 0.430 4.530 0.440 

��--$%%&� 3 �%���/�� 

��#�	�#�����$%%&� (V/m) ��--

$%%&� ���()�#	0�� 1 ���()�#	0�� 2 ���()�#	0�� 3 

69kV 0.114×103 72.740 0.028×103 

115kV 0.057×103 112.060 0.072×103 
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����	0�� 6.4 
��#�	�#�����$%%&���)
#�	���,23	��(��$�#,23	��50� ��0������� (�#�) 
��--$%%&� 3 �%���/�� 


��#�	�#�����$%%&� (V/m) ��--
$%%&� ���()�#	0�� 1 ���()�#	0�� 2 ���()�#	0�� 3 

230kV 0.092×103 75.557 0.020×103 

500kV 0.010×104 0.062×103 0.005×104 

��--$%%&� 3 �%�$�#��/�� (���/) 

��#�	�#�����$%%&� (V/m) ��--

$%%&� ���()�#	0�� 1 ���()�#	0�� 2 ���()�#	0�� 3 

230kV#1 0.136×103 7.010 0.066×103 

230kV#2 0.144×103 0.235×103 0.179×103 

230kV#3 0.114×103 0.030×103 0.043×103 

��--$%%&� 3 �%�$�#��/�� (�%�) 

��#�	�#�����$%%&� (V/m) ��--

$%%&� ���()�#	0�� 1 ���()�#	0�� 2 ���()�#	0�� 3 

230kV#1 0.0120×104 0.0770×103 0.1230×103 

230kV#2 0.3070×103 0.4480×103 0.1990×103 

230kV#3 0.033×104 0.2730×103 0.0690×103 

 
����	0�� 6.5 ��/�-�.	��/��	����$%%&�0�����"�����������
��$/3��#�	���/+�� 

����0�� 
�#�����$%%&� (E) 

(kV/m) 
���������-���  
                 - ���/2��
5�	���0��	�� 10 
                  - 2#
	�
������ 30 
��4��'�  
                 - ���/242��
5�	 5 
                 - 2-32��
5�	 10 
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�������=����	�	���� International Radiation Protection Association (IRPA) $/3��-� 
�3����)�/��/�-�#�����$%%&��.	��/0�����"�����������
��$/3��#�	���/+��/�	����	0�� 6.5 ���
�3����)�//�	��#�
��,23��Y���'��,������
���-����)#�	��	���"���������#	0���)����� 5/�
/.����#�����$%%&�0�����/+�����)��-���"��  ,�0������������,23��/�-�.	��/��	����$%%&�0��
���"�����
��$/3��#�	���/+���0#���- 5  kV/m (��4��'�) ����������	�����--0�� !�"������- 
������-���
'����0��5�#	0����
.3��
#��$�����.#���/�
�� �
��!	���,23	��50� ��0��������������,�
-���
'/�	��#�
/3
� ���
���������	�#�����$%%&�0��	)�/��	��--����#	$%%&�1 �%����/ 
220 V22 kV (�� 69 kV ��--$%%&� 3 �%���/�����/ 69 kV 115 kV 230 kV (�� 500 kV 
��--$%%&� 3 �%�$�#��/�����/ 230 kV (����--$%%&� 3 �%���/�����������!	�+�
���03�	
23�	+��,���--���/ 230 kV (�� 500kV �����,)3�)6���/�-�
��(���#�	��	����$%%&�0�����/
�!����-���"����#�	2�/���+��,�(�#����-- 5/��������������,��.�(--��	����	0�� 6.3 (�� 
6.4 ���)6�
#�+��,���--$%%&� 1 �%� �����#�����$%%&��.	��/$�#���� 5  kV/m /3
��)��������,23
	��50� ��0�������,�-�� �
'��--/�	��#�
�!	$�#�#�,)3 ���/�������(�#���"��0�� ,23 	��
50� ��0�������,�-���
'���� ,��'�0����--$%%&� 3 �%���/�� (�� 3 �%�$�#��/�����������'
�#�����$%%&����� 5  kV/m 5/��[�����#�	���	��--$%%&� 3 �%���/��(�� 3 �%�$�#��/�����/ 
230 kV (�� 500 kV 0�����#�����$%%&��.	�!	 2.5×105 V/m (�� 5.5×106 V/m ������/�- X!�	���
�#�,)3���/���������#�	���	�#����"��0��,23	��50� ��0�������,��'�0����3�,��3-���
'��--$%%&� 3 
�%���/�� �������������/)�#����	����#	$%%&�(�	�.	�6��Y����)�������Z���)��)�!�	0��������
�#�,)3���/��������#����"��
.3,2350� ��0�������$/3�2#����  
  

6.7 �	4� 
-00�� 6 ��Y���������	
������ !�"��!	
����0-�#�����$%%&�0�����/�!�� ������,23	�� 

50� ��0���������	���"��+��,�3-���
'����#	$%%&����/�#�	 * /3
����-��-
�4�$%$�0� 
/�%�%������0� (�����-��-$%$�0��������0�(-- 2 ���� �����������	
���	��--����#	$%%&�  
1 �%����/ 220 V 22 kV (�� 69 kV ��--$%%&� 3 �%���/�����/ 69 kV 115 kV 230 kV (�� 
500 kV (����--$%%&� 3 �%�$�#��/�� ��$/3
��[��$�,�0� 0�	�/��
��� (�����#�,��3����	���
0��	��	���-��-
�4� 5/���������
���-�
���.��3�	/3
�5��(��������6��.� PDETOOL 0����
�
���2������$/3 X!�	,)3
��[����/��3�	$�,�0� 0�	�/��
�����-���-��-
�4�0��	��	 �����������	
��������-���--0�����
�������	�#��
�����/+��������,23	��50� ��0���������	���"��+��,�3
-���
'����#	$/3�������=����	 IRPA 



����� 7 

��	
���
�����������
����������	����������������
�������� �� 3 ��"�  
 

7.1  ����� 
 ����� 5 ��	 ����� 6 ��
�����������������������������	������ !������"� ���#�"����" 
��	�	������ !������"# � ����" $������%� &'�(�%)( 2 ����
��������������������������� 2 � $  
�����%������ 7 ,	��
������������#�������������������������� 3 � $  �./�#0����1��%�2�	���
��	,������������������#����#(�%���$3����",� (���� �(4')� 5������ ����	�"��������������� 
3 � $ 4#(�	�������( ,	#�6%�5�����������1,�7� COMSOLTM Multiphysics Version 3.4 0����
��N��O��4#(�	������� 1 ���4��� 220 V 22 kV ��	 69 kV �%��	������� 3 ������3�
4��� 69 kV 115 kV 230 kV ��	 500 kV &'�(5�����������1,�7��%(�������
�5���������0T�
�	������ !������"# � ����"0������N��O�� 
 

7.2   ��	���&��'�	����"
	� ����(�
����
���" 
������������.���� �$#�"4#(5�����������1,�7� COMSOLTM Multiphysics Version 3.4 

0���%��	�������(,	��	�#������� 2 ������	�#���%� U �/# .���� �$#�"���4')��7�5��(����(
4#(�	��4���$� � (  U  ��	�� �. � � �� � $#�" ��� ���(�3����% $ � � (���� �  &'� ( � �� � ��  
������������V��0�$%���������( ������������4#(5��6%.�"�/#W/# ����V�.&��&'���(
������1� ��	����V�.�#���(����� ��
�$�� �./�#0T�0�����������(/�#��44#��4$ &'�(��
�
���.���� �$#�"�����������������0�����#�������) �%(�%)�0��%�4�#��),	������O.�	����	�#��� 
���������.���� �$#�"�����%����4')��7�5��(����(4#(�	��4���$��( U �����%)� 5�������W
���(���.���� �$#�"����%($���(��� 7.1 - 7.2 ��	�����W. ,����V�.��	�#�$���7���� 7.1 

 
$���(��� 7.1 ������������.���� �$#�"5��(����(4#(�	���������� 3 � $  

� $ 4#(./)����6'�2� (m) 
�	������� 1 ��� 

��� x ��� y ��� z 
220 V 10 10 10 
22 kV 15 15 15 
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$���(��� 7.1 ������������.���� �$#�"5��(����(4#(�	���������� 3 � $  ($�#) 
� $ 4#(./)����6'�2� (m) 

�	������� 1 ��� 
��� x ��� y ��� z 

69 kV 15 15 20 
� $ 4#(./)����6'�2� (m) 

�	������� 3 ��� 
��� x ��� y ��� z 

69 kV 15 15 15 
115 kV 20 20 20 
230 kV 20 20 23 
500 kV 25 25 25 

� $ 4#(./)����6'�2� (m) 
��32�" 

��� x ��� y ��� z 
������� 1  0.2 0.2 1.8 
������� 2 0.6 0.2 0.6 

� $ 4#(./)����6'�2� (m) 
5��6%.�"�/#W/# 

��� x ��� y ��� z 
������� 1  0.1 0.2 0.2 

 

 
 

�7���� 7.1 �%�2�	������������.���� �$#�"5��(����(4#(�	���������� 3 � $  
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$���(��� 7.2 ���.���� �$#�"�����($������($%����4#(�	���������� 3 � $  
  �	������� 1 ��� 

$������(�����($%���� (m) 
$%���� 

a b c 
220 V 5 10 4.8 
22 kV  7.5 15 10.5 
69 kV  7.5 15 12 

  �	������� 3 ��� 
$������(�����($%���� (m) 

69 kV 
a b c 

$%������� 1 4 15 12 
$%������� 2  7.5 15 12 
$%������� 3 11 15 12 

$������(�����($%���� (m) 
115 kV 

a b c 
$%������� 1 5.5 20 13 
$%������� 2  10 20 13 
$%������� 3 14.5 20 13 

$������(�����($%���� (m) 
230 kV 

a b c 
$%������� 1 3 20 17 
$%������� 2  10 20 17 
$%������� 3 17 20 17 

$������(�����($%���� (m) 
500 kV 

a b c 
$%������� 1 2.5 25 20 
$%������� 2  12.5 25 20 
$%������� 3 22.5 25 20 
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7.3  	�������������� 1 ��� 
- �	�������(����� 1 ���4��� 220V 
 

 
 

�7���� 7.2 5��(����(4#(�	�������(����� 1 ���4��� 220 V (x = 2 m) 

 

 
 

�7���� 7.3 ���##������ �4#(�	�������(����� 1 ���4��� 220 V (x = 2 m) 
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�7���� 7.4 �#��%��"��������������� 2 � $ 4#(�	�������(����� 1 ���4��� 220 V (x = 2 m) 

 

 

 
�7���� 7.5 �%�2�	��������������� 3 � $ �� ���V��0��	�������(����� 1 ���4��� 220 V  

                    (x = 2 m) 
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�7���� 7.6 �%�2�	��������������� 3 � $ �� ���./)�N �V���#�4#( 

                                        �	�������(����� 1 ���4��� 220 V (x = 2 m) 

 

 
 

�7���� 7.7 5��(����(4#(�	�������(����� 1 ���4��� 220 V (x = 5 m) 
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�7���� 7.8 ���##������ �4#(�	�������(����� 1 ���4��� 220 V (x = 5 m) 

 

 
 

�7���� 7.9 �#��%��"��������������� 2 � $ 4#(�	�������(����� 1 ���4��� 220 V (x = 5 m) 
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�7���� 7.10 �%�2�	��������������� 3 � $ �� ���V��0��	�������(����� 1 ���4��� 220 V 

                     (x = 5 m) 

 

 
 

�7���� 7.11 �%�2�	��������������� 3 � $ �� ���./)�N �V���#�4#( 
                                          �	�������(����� 1 ���4��� 220 V (x = 5 m) 
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�7���� 7.12 5��(����(4#(�	�������(����� 1 ���4��� 220 V (x = 8 m) 

 

     
 

�7���� 7.13 ���##������ �4#(�	�������(����� 1 ���4��� 220 V (x = 8 m) 
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�7���� 7.14 �#��%��"��������������� 2 � $ 4#(�	�������(����� 1 ���4��� 220 V (x = 8 m) 

 

 

 
�7���� 7.15 �%�2�	��������������� 3 � $ �� ���V��0��	�������(����� 1 ���4��� 220 V 

                     (x = 8 m) 
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�7���� 7.16 �%�2�	��������������� 3 � $ �� ���./)�N �V���#�4#( 

                                          �	�������(����� 1 ���4��� 220 V (x = 8 m) 
 

- �	�������(����� 1 ���4��� 22 kV 
   ��/�#(,�����,���#(N������	,����������������� 3 � $ 4#(�	�������(

�����  1  ���4��� 22 kV ��	 69 kV ���%�2�	�������' (�%��	�������(�����  1  ���
4��� 220 V ��������N�����4��($�� 5���$�$��(���������������4#($%����0������( �%�4���./)����
���#�4#(�	�� �%(�%)�,'(4#������#�%�2�	�����	,��������������4#(�	�������(�����
4��� 22 kV ��	 69 kV �.��( 1 ���� �/# ���0T�(��5��6%.�"�/#W/#4#(��32�" � $������(�'�(���(
4#(�	�������%)� �./�#0����/)#�����������#V��0�� ���� .�!"��������	T%����� �(4')����/#�0���
��� 6 ���N����� 
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�7���� 7.17 5��(����(4#(�	�������(����� 1 ���4��� 22 kV (x = 7.5 m) 

 

 
 

�7���� 7.18 ���##������ �4#(�	�������(����� 1 ���4��� 22 kV (x = 7.5 m)  
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�7���� 7.19 �#��%��"��������������� 2 � $ 4#(�	�������(����� 1 ���4��� 22 kV (x = 7.5 m) 

 

 

 
�7���� 7.20 �%�2�	��������������� 3 � $ �� ���V��0��	�������(����� 1 ���4��� 22 kV 

                     (x = 7.5 m) 
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�7���� 7.21 �%�2�	��������������� 3 � $ �� ���./)�N �V���#�4#( 

                                          �	�������(����� 1 ���4��� 22 kV (x = 7.5 m) 

 
- �	�������(����� 1 ���4��� 69 kV 

 

 
 

�7���� 7.22 5��(����(4#(�	�������(����� 1 ���4��� 69 kV (x = 7.5 m) 
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�7���� 7.23 ���##������ �4#(�	�������(����� 1 ���4��� 69 kV (x = 7.5 m) 

 

 

 
�7���� 7.24 �#��%��"��������������� 2 � $ 4#(�	�������(����� 1 ���4��� 69 kV (x = 7.5 m) 
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�7���� 7.25 �%�2�	��������������� 3 � $ �� ���V��0��	�������(����� 1 ���4��� 69 kV 

                     (x = 7.5 m) 

 

 

 
�7���� 7.26 �%�2�	��������������� 3 � $ �� ���./)�N �V���#�4#( 

                                   �	�������(����� 1 ���4��� 69 kV (x = 7.5 m) 
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7.4  	�������������� 3 ������*� 
- �	�������(����� 3 ���4��� 69 kV 
   �	�������(����� 3 ���4��� 69 kV ��/�#��32�"0T�(��5��6%.�"�/#W/# � $������(0� U  

���������. ,�����%�2�	4#(�	������� 3 ������3� ##���
� 3 ���� �/# 
         ��/�# VA = 69 0∠ �  kV VB = 69 120∠−

�  kV VC = 69 120∠
�  kV  

         ��/�# VA = 69 120∠
�  kV VB = 69 0∠ �  kV VC = 69 120∠−

�  kV  
         ��/�# VA = 69 120∠−

�  kV VB = 69 120∠
�  kV VC = 69 0∠ �  kV  

  5���%�2�	�����	,����������������	�#��%��"������������4#(�	�������(
����� 3 ���4��� 69 kV �%)( 3 ���� ,	0���%�2�	���,���#(N�������/#��%� 0�����#(������%� 
����� 6 ���N����� �%(�%)����������#���,���#(N������������� 3 � $ 4#(�	������� 3 ���
4��� 115 kV 230 kV ��	 500 kV ,	������#0��%�2�	������%��	������� 3 ���4��� 69 kV  
&'�(������	�#������������#�%(��) 

 

 
 

�7���� 7.27 5��(����(4#(�	�������(����� 3 ���4��� 69 kV (x = 4.5 m) 
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�7���� 7.28 ���##������ �4#(�	�������(����� 3 ���4��� 69 kV (x = 4.5 m) 

 

 
 

�7���� 7.29 �#��%��"��������������� 2 � $ 4#(�	�������(����� 3 ���4��� 69 kV 
       ��/�# VA = 69 0∠ �  kV VB = 69 120∠−

�  kV VC = 69 120∠
�  kV (x = 4.5 m) 
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�7���� 7.30 �%�2�	��������������� 3 � $ �� ���V��0��	�������(����� 3 ���4��� 69 kV 

                      ��/�# VA = 69 0∠ �  kV VB = 69 120∠−
�  kV VC = 69 120∠

�  kV (x = 4.5 m) 

 

 
 

�7���� 7.31 �%�2�	��������������� 3 � $ �� ���./)�N �V���#�4#(�	������� 3 ��� 69 kV 
                      ��/�# VA = 69 0∠ �  kV VB = 69 120∠−

�  kV VC = 69 120∠
�  kV (x = 4.5 m) 
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�7���� 7.32 5��(����(4#(�	�������(����� 3 ���4��� 69 kV (x = 7.5 m) 

 

 
 

�7���� 7.33 ���##������ �4#(�	�������(����� 3 ���4��� 69 kV (x = 7.5 m) 
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�7���� 7.34 �#��%��"��������������� 2 � $ 4#(�	�������(����� 3 ���4��� 69 kV 

    ��/�# VA = 69 0∠ �  kV VB = 69 120∠−
�  kV VC = 69 120∠

�  kV (x = 7.5 m) 

 

 
 

�7���� 7.35 �%�2�	��������������� 3 � $ �� ���V��0��	�������(����� 3 ���4��� 69 kV 
               ��/�# VA = 69 0∠ �  kV VB = 69 120∠−

�  kV VC = 69 120∠
�  kV (x = 7.5 m) 
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�7���� 7.36 �%�2�	��������������� 3 � $ �� ���./)�N �V���#�4#(�	������� 3 ��� 69 kV 
          ��/�# VA = 69 0∠ �  kV VB = 69 120∠−

�  kV VC = 69 120∠
�  kV (x = 7.5 m) 

 

 
 

�7���� 7.37 5��(����(4#(�	�������(����� 3 ���4��� 69 kV (x = 10.5 m) 
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�7���� 7.38 ���##������ �4#(�	�������(����� 3 ���4��� 69 kV (x = 10.5 m) 

 

 

 
�7���� 7.39 �#��%��"��������������� 2 � $ 4#(�	�������(����� 3 ���4��� 69 kV 

      ��/�# VA = 69 0∠ �  kV VB = 69 120∠−
�  kV VC = 69 120∠

�  kV (x = 10.5 m) 
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�7���� 7.40 �%�2�	��������������� 3 � $ �� ���V��0��	�������(����� 3 ���4��� 69 kV 
               ��/�# VA = 69 0∠ �  kV VB = 69 120∠−

�  kV VC = 69 120∠
�  kV (x = 10.5 m) 

 

 
 

�7���� 7.41 �%�2�	��������������� 3 � $ �� ���./)�N �V���#�4#(�	������� 3 ��� 69 kV 
          ��/�# VA = 69 120∠

�  kV VB = 69 0∠ �  kV VC = 69 120∠−
�  kV (x = 10.5 m) 
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- �	�������(����� 3 ���4��� 115 kV 

 

 
 

�7���� 7.42 5��(����(4#(�	�������(����� 3 ���4��� 115 kV (x = 10 m) 

 

 
 

�7���� 7.43 ���##������ �4#(�	�������(����� 3 ���4��� 115 kV (x = 10 m) 
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�7���� 7.44 �#��%��"��������������� 2 � $ 4#(�	�������(����� 3 ���4��� 115 kV 

        ��/�# VA = 115 0∠ �  kV VB = 115 120∠−
�  kV VC = 115 120∠

�  kV (x = 10 m) 

 

 
 

�7���� 7.45 �%�2�	��������������� 3 � $ �� ���V��0��	�������(����� 3 ���4��� 115kV 
                     ��/�# VA = 115 0∠ �  kV VB = 115 120∠−

�  kV VC = 115 120∠
�  kV (x = 10 m) 
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�7���� 7.46 �%�2�	��������������� 3 � $ �� ���./)�N �V���#�4#(�	������� 3 ��� 115 kV 
                 ��/�# VA = 115 0∠ �  kV VB = 115 120∠−

�  kV VC = 115 120∠
�  kV (x = 10 m) 

 

 
 

�7���� 7.47 5��(����(4#(�	�������(����� 3 ���4��� 230 kV (x = 10 m) 
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�7���� 7.48 ���##������ �4#(�	�������(����� 3 ���4��� 230 kV (x = 10 m) 

 

 

 
�7���� 7.49 �#��%��"��������������� 2 � $ 4#(�	�������(����� 3 ���4��� 230 kV 

         ��/�# VA = 230 0∠ �  kV VB = 230 120∠−
�  kV VC = 230 120∠

�  kV (x = 10 m) 
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�7���� 7.50 �%�2�	��������������� 3 � $ �� ���V��0��	�������(����� 3 ���4��� 230 kV 
                    ��/�# VA = 230 0∠ �  kV VB = 230 120∠−

�  kV VC = 230 120∠
�  kV (x = 10 m) 

 

 
 

�7���� 7.51 �%�2�	��������������� 3 � $ �� ���./)�N �V���#�4#(�	������� 3 ��� 230 kV 
                 ��/�# VA = 230 0∠ �  kV VB = 230 120∠−

�  kV VC = 230 120∠
�  kV (x = 10 m) 
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�7���� 7.52 5��(����(4#(�	�������(����� 3 ���4��� 500 kV (x = 12.5 m) 

 

 
 

�7���� 7.53 ���##������ �4#(�	�������(����� 3 ���4��� 500 kV (x = 12.5 m) 
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�7���� 7.54 �#��%��"��������������� 2 � $ 4#(�	�������(����� 3 ���4��� 500 kV 

            ��/�# VA = 500 0∠ �  kV VB = 500 120∠−
�  kV VC = 500 120∠

�  kV (x = 12.5 m) 

 

 
 

�7���� 7.55 �%�2�	��������������� 3 � $ �� ���V��0��	�������(����� 3 ���4��� 500 kV 
                    ��/�# VA = 500 120∠

�  kV VB = 500 0∠ �  kV VC = 500 120∠−
�  kV (x = 12.5 m) 
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�7���� 7.56 �%�2�	��������������� 3 � $ �� ���./)�N �V���#�4#(�	������� 3 ��� 500 kV 
                 ��/�# VA = 500 0∠ �  kV VB = 500 120∠−

�  kV VC = 500 120∠
�  kV (x = 12.5 m) 

 
7.5 �	*, 

���,���#(N��./�#6'�2�N���	������������������� �4')� ,�����0T�(��5��6%.�"�/#W/# 
4#(��32�"V��0$��� ��������(�����4���$��( U ��� 3 � $ ����5�����������1,�7� COMSOLTM 
Multiphysics Version 3.4  �����W���(0����1��%�2�	�����	,������������������� �4')��#� U 
5��6%.�"�/#W/# � 4�	�����32�"0T�(��5��6%.�"�� ��������(����� �#�,����)�%(��1����
����������(4#(��������� ��/�#$%����0������(������������4����������������� ���W'(
�� ����������������7(�3���	$����3�4#(�	������� 5���O.�	#���(� �(�	������� 3 ������3�
4��� 230 kV ��	 500 kV  ������� ����������������� � 5  kV/m &'�(N����,���#(��� 3 � $ �1��
N��#����#(���/#���� 2 � $ 0������ 6 ���N������3���	��� &'�(#�,��#0���� �#%�$���#���(� �($�#
��32�"���0T�(��5��6%.�"�/#W/#0�4�	����4��0����� ����	������� 3 ������3� 
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8.1  ��	
 

����������	����
����
�  �������������������	��������������� ��������!��"� 
���#�$$%�	
&� ��'(��)��*���������"��$$%� 1 �$� 3 �$��#�-� ��� 3 �$��#"�#�-� �
.&����� 
 ���/!� ��	�'���"����#�$$%�	
&� ��'(�� ��#�-0��*�'��*1����2	���
	�#.�3.�*�������
��� �"�� 2����������"��$$%� 1 �$��45�����'��� 220 V, 22 kV ��� 69 kV �"�������$$%� 
3 �$��45�����'��� 69 kV, 115 kV, 230 kV ��� 500 kV  ��������!�����24�� �#	
&4����0>�
'(��������*1�����
�����
�$��	���$�$������	� �������
�����
�$��	������#�	���� 2 #��� 2��
����������#3/ ����*� ������������ ���4�
���	
��  ��!�	
&����� 24�� �#�����?��/4 
PDETOOL 2�� PDETOOL �45� �"�����.&��#.����F�(&�)��*�24�� �# MATLABTM J(&��45�
24�� �#	
&���������#�1.&�3.� ������������#���#��"���
�"F���*���������	���������� ��# ��&�
	
&�����K*� ��������!��"����#�$$%� �.�  �����F��# ���1����-
����	
&��#��3������

L�� ��# �� ������"����#�$$%�'������"������"��3/ ���� *����������
�������	�� ��������!�
�"����#�$$%�'����������"��$$%� 3 �$��#�-� '��	
&#�-0��*1����2	���
	�#.�3.�*�������
��� �"����� 3 #�������24�� �#�����?��/4 COMSOLTM Multiphysics Version 3.4 J(&�24�� �#�
� ?
���*1�����
�����
�$��	������#�	�*� ��F�!��^��  

���F��� ��������4��	�������� ��#�����������	
&� 
&��'���)��*��		
& 2 3.��45� 
�� >��	
&�����K*� �������������������	����
��� ���3-4�������
.&��45����	�����F��� ��
4���- �� ���
�_���"�����������#�/�*��������� �� �� �
� ���( 0�	L0`
���F��  ���"�� a 	
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& 3 	�����.&�����#�$$%� ��������"��$$%� 2	���
	�#.�3.� ����
�����
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& 4 �45�'������ ��
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*� ��������F��"����#�$$%�'����������"��(���#��3����!� ��������'������
�����
	���
������ 2 #��� ���)��*��		
& 6 2��F��'���
����������!� �������� �� ������"����#�$$%�
'����������"��$$%� 1 �$�'��� 220 V, 22 kV ��� 69 kV �����$$%� 3 �$�'��� 69 kV,  
115 kV, 230 kV ��� 500 kV 	
&� ����  ����������������
�����
�$��	���$�$������	� ���
����
�����
�$��	������#�	�  2�� ��������!�'��������"��'���	��� ��
��������"��$$%�  
1 �$� ��������"��$$%� 3 �$��#�-� �����������"��$$%� 3 �$��#"�#�-� ��	�� ����.&��
����F�"�'��#�-0�� *�'��*1����2	���
	�#.�3.����� �� 3 ����F�"� �
.&�*F��F?����#�� �"��'��
�� 0�� �� ������"����#�$$%�	
&����"�!� ��	��"�#�-0�����  F����� ����	�� ���4�
���	
��
!��^���"����#�$$%�'������
�����
�$��	���$�$������	� �������
�����
�$��	������#�	�       
 ��24�� �#�����?��/4 PDETOOL �
.&��.�������#3/ ������  ��������!���� �"�� J(&����!�
�� #��45�	
&�"�
�*� 2��!���
��	
&���#
���#���������4*�	����
�� ��  ��������� ��*� 
�		
& 7 �45� ��*1�24�� �#�����?��/4 COMSOL Multiphysics Version 3.4 2���������!� ��
������ �� ������"����#�$$%�'����������"��$$%� 1 �$�'��� 220 V, 22 kV ��� 69 kV 
�����$$%� 3 �$��#�-� ��������$$%� 3 �$�'��� 69 kV, 115 kV, 230 kV ��� 500 kV �� 
�������
��)��*���"���	 ���������� ������-���3-4������'������������	����
����
�	- 4�� �� 
2����#��3��-44����?�����"� �� !� ���������"����#�$$%�	���F#�'����������"��$$%�  
1 �$�'��� 220 V, 22 kV ��� 69 kV �����$$%� 3 �$��#�-�'��� 69 kV, 115 kV, 230 kV ��� 
500 kV �����$$%� 3 �$��#"�#�-�'��� 230 kV ���F?��"������$$%� 1 �$�  ��*1����
2	���
	�#.�3.�*�������������� �"���#" "�*F�� ���������� "#�-0��	
&*1����2	���
	�#.�3.�
�
�����.&���� �"����#�$$%��/��-�'�������#"� ���"�#���>��'������ � IRPA (the 
international radiation protection association) 5 kV/m *�'��	
& �����$$%�  3 �$��#�-����  
3 �$��#"�#�-���#
4��#���"����#�$$%��/�� �� 5 kV/m  �(�����45��F�- "�*F�� ����������"�
#�-0��	
&*1����2	���
	�#.�3.�*�'��	
&�'��* �������������$$%� 3 �$���� 
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8.2  ���������
���������������    
 1. 4����4�
&�� ��� ��# ���1��������  ��*1����
�#	�� J�! !�� #��45����
��-����/� � 
� ���
���� (bi-conjugate gradient: BCG) �
�����.&���� �#	�� J�'�������# ����#'����������
�
��45��#	�� J�'���*FK" J(&����
��� �"�����F#���# ��4rKF�	
&#
'���*FK"  2�����#
'���'��
�#	�� J�#�  �"� 1,000×1,000 '(���4 J(&���1"������������*� ��� ��# ���1������'������  
 2.  ��� ��# ���1��������#��3
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